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{18.7.67] [edit/reservation of buffer areas] [page 1] 
{character table] 

fSTOP, CLEAR] 
b k=dd1, i=90, 60, e60 3 edit, outermost block 

<dij, e1=-166,x e1=10 
> 

input buffer in Pass 1-2 

used by line buffer, reversetracks, 
INIT MEDIUM in Pass 1 

<d1, e2=-86 ,x e2=-86 byte input buffer in Pass 2 

Wo
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‘e
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we
 

> INIT MMEDIUM inn Pass 1 
<ai1, e3=10 ,X e3=-166 output buffer in Pass 1-2 
> 
{ marks in e3-79e3 are initialized at start pass 1 as follows: 

39e3 «=A mark 
79e3 C marks, all others are zeroes] 

{ indicator usage: in Pass 1 in Pass 2 
IZA N inend freely used 
LZB L endQK - 
LTA not used - 
LTB - N case free 
LPA A mark of tableword N only input sum 
LPB Be - N copy 

LQA N underlined X external output 
LQB N sum freely used 
LRA not used blind 
LRB X typewriter input N ready 

where L,N or X indicates initialization, Used compound conditions: 
NZC, LPC N2ZC, LPC, NRC 

el: 
b ad 

T character table: 
The i-th entry in the following table describes the type of the cha- 

racter with value i. The entries can be freely changed by appropiate 
parameters. (cf. table change, page 12) Changing the description for 
LC, UC, TF or <10> can, however, interfere with the internal logic. 

description parameter for edit 

normal qqaf 1 <chv>, n 
alarm aq -2, TI <chv>, a 
blind hvf sl, T <chv>, b 
skip aq 512 TI <chv>, s 
end aa 770 T <chv>, e 
case indep. qq 896 I <chv>, ¢ 
replaced qq <chv> T <chv>, r, <chv> 

where <chv> ::= <help number> 
The descriptions for LC, UC, <10>, CLEAR and SUM are initia- 

lized to execute special actions, not available for assignment to 

other characters] 

ads pmf O , zan(r+it+1) 3 constant for sum = true 
[1] ~ ~ 
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[18.7.67] [edit/character table] [page 2] 

e5: 

@ [0] hvf si, 
{1] qat 
[2] qaf 
[3] qaf 
[4] qaf 
[5] qat 
[6] qaf 
[7] qat 
{8] qat 
[9] qaf 
[10] aq 832 3; TEN: goto trailing edge; 
{11] aq 770 — 
[12] hvf s1, 
[13] aq 11 
{14] gat 
[15] aa -2, 
[16] qaf 

ye 1 gat 

$ {19] gat 
[20] aaf 
{21] gat 
[22] qaf 
{23] aaf 
[24] qaft 
[25] qaf 
{26] aq -2, 
[e7] gat 
[28] paf al8, hhf al 3 CLEAR: goto clearcode; 
[29] hvf si, 
[30] hvf s1, 
[31] hvf si, 
[32] qaf 
[33] qaf 
[34] gat 
22) qaft 

3 aat 
@ [37] af 

[38] gat 
([39] qaf 
[ho] aqaf 
C41] qaf 
[42] qq “2, 

[43] gat 
[44] hvf si, 
[45] aq -2, 
[46] aq -2, 
[47] aq -2, 
[48] aqaf 
[49] gat 
[50] qaf 
[51] aaf 
[52] aqaf 
[53] aqaf 
[54] aqaf 
[55] gat 

 



    

[18.7.67] [edit/character table cont.] [page 3] 
[pass 2, stack updating] 

@ [56] aat 
[57] aaf 
[58] paf b , hvf s1 3 LC: case:= 03 blind action; 

[59] af 
[60] hvf a UC: case:= 1283 blind action; 

w
e
 

we
 

[61] pmf s3 ; hvf a2 
[62] hvf si, 
{63] qq 512 
[64] hvf si, 

SUM: goto sumcode; 

[ The following code up to 127e5 is treated as the continuation of the 

table therefore it must not contain any f marked word 

b: aq [case] ; 
a2: grn s3 MA 3 sumcode: save slow action:= slow action; 

gm b26 , hv si 3 slowaction:= check; 

ar pa b t 128 3 return; 

al: hv si » pa bi 3 clearcode: insum:='0; sum:= true; 

© hv alt LPC ; if first pass then:blind action; 

ym ad » em be 3 Imsum2:= 0;°A:=" crue; 

el5: hv alt NQA 3 set:‘summing: if -, external tnen begin 

pa e& Vt e25 NEB ; if'+,ready VY eaution then outz:= outinternal and check 

ei7: pa e8 t e& IPA 3 @ise‘begin out:= outinvernal; only input sum:= A3 

3 end end; blind action; al: hv e35 — 
ee ene 

r Start pass 2, stack updating: 
The string to be searched for is input from the drum and placed from 

e10 onwards. The string is terminated with the byte -512. Byte -511 in 

the input stream means the end of the corre cttons. 

e6: a: qqlcount], pp 0 START PASS 2: neosttstring: i:= 13 

  

  

I 

al: pm (b15) Xt 1 3 BYTE: 
hs e33 NA ;  stack[i]:= Radars char from drum; 

gr pel0 M 3; marks[i]:= 

® pi (pe10) Vt -130 LT ; if Radar > °° “then begin i:= 1 + 13 goto BYTE end} 

pp pl » av al 3 YTeady:= Raddr = -511 3 case free:= false; 

pm r LPB 3; copy:= -, ‘copy; 

bs p IPB 3 if i > 0 then begin 

acn peQ9 V MA 3; «set A marl stackLi+1]); skip line end} 

hvn ali NRB ; it -, ready then goto STRING FOUND; 
a eis 
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[18.7.67] [edit/input, string search] [page 4] 

a2: pp 1 Vv 3 BEGIN SEARCH: p:= 13 skip:line; 
a3: hs (alt) LRA ; PERHAPS BLIND: if blind then execute(action[char]) ; 

3 blind action: ~ ——— 

{ The next two instructions are changed if the input unit is the tape 
reader or the typewriter to: 

e7: lynei8 V 3  Raddr:= lyn; skip line; 
[1e7[hv e153 , x 3 RESET AND START PRESSED: go to trailing edges] 

e7: [-3] pmel8 Xt 1 ; NEXT CHAR: 
[1e7]hv e22 LA ; Raddr:= input; 
[-1] ge ak v NT 3; if parity V slowaction +0 then 

  

[changed to qq 0 if print Or to qq 0, if check] 
[3e7]hs e36 - treat slow; 
alsb2: pm O Vt e5 IRA ; TEST: char:= Raddr + table base; 

[char] [sum] M:= set'marks(cell[char]); blind:= Amark; 
bi: ac [insum]Dt 1 if sum then insum:= insum +-Raddr + 13 

‘e
e 

wo
 

Ww
e 

  

3 

a5: hh ald X NB ; AFTER CENTRAL: if:spec then go to TREAT SPECIAL; 
e8: hs e26[out] LPB ; OUIPUT: if copy then: out (Raddr) 3 

pm (a4) XVD NRC ; if blind V ready then go to PERHAPS BLIND; 
hv ad 3 Raddr:= char; ™ 
ar b NTA ; if -, case free'then R:= char 1:= Raddr + case; 
ga ab ITA 3 Case free:= false; 

  

{ char contains now the next character to be compared. Note that the cha- 
racters in the stack are provided with their case (LC for case indepen- 
dent) and are also increased with e5 (cf. alt) ] 

sr pe9 » PP pi 3 R:= R + set'marks(stack[p]) ; p= pt ts 
hv aid0 IZ 3 if R = 0 then goto TEST MARK; 

  

[ The comparsion has failed. The following code decides whether 
stack[1:p-i] = stack[i:p-2| concat char, where i = 2, 3, ses D-1 ] 

for's:= 2 step'1 until:p do ‘begin 
“for i:='S step T until p do 
“if (if i-="p then’ char else stack[i]) 

pa aT t 9 ¥ stack[i-sti] then goto SHORTEN; 

? 

a9: ps » ps si 3 

3 

a 

ab: pp s+1 , pp pl 3 NEW: CHANCE: 

3 

3 

3 

3 
1 

pm p DX 

1 

8 ca » hv a2 

av: pm e9 t 1 comment the last p-s+1 characters read 
ca pi X match with stack[1:p-s+1]; 

a8: sr [chari]DV 
sr peQ V 

pp (a7) Vt e11 1Z [e11=-e9+1]3 pt= p ~ s + 23 goto NEXT CHAR; 
hh af X LZ ; SHORTEN: end; 
hh a9 X NZ 3 go to BEGIN SEARCH; 

3 TEST MARK: - 
al0: hv e7 NA ; if NA then go'to:NEXT CHAR; 

3 STRING FOUND: comment R = 03



  

[edit/second string, treat special] [19.7.67] 
[end actions] 

alt: can(b) NPB 
e12: arn 58 DV LZ 

{used in pass 1 1823] 
pm 60 DX 

al2: hs fee) 
pm (b15) XVt 1 LPB 
hh (a) Dt 1 
hs e33 NA 
hv ale NT 

{ Clearcode appears as -28, 

[page 5] 

out(if'=; copy V case = 0 then 
'58else 60) 3 
if copy Then ne 
~ begin count:= count + 13 go to nextstring end; 

IN SECOND STRING: —— ~— 
Raddr:= char from drum; 

if Raddr > O then OUTR: 
“begin out(Raddr) ; 

zo to IN SECOND STRING end; 
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-512 marks the end of the string] 

  

  

  
  

ne -28 , hh a 3 if Raddr + -28 then go to nextstring; 
ps al2-1, mt bil 3 alter(blindaction) to proceed to: (OUT R); 

ald: hv e45  , ga ath 3 Raddr:= 28; go to set summing; 
bs (ah) + 64e5 NRA ; TREAT: SPECIAL: Swap; if char > 64e5 V LRA then 
ps 3e7 , hv e43 3 $ begin set return tofNEXT CHAR); 
se (bi) Dvt -1 NT ; treat char end; if R > 0 then begin 

alk: pi oO Vt 573 IZA 3 replaced: insum!= insum - Raddr -'13- 
@ ga be , hv all 3 char:= Raddr3; go to TEST end else 
= pm ({e7) xX NZB ; in:= Raddr'bits T to 3; blind:=IZAtT= false; 

b48: acfinsum2]DVt 1 NT 3 if NZB then skip: begin: insum2:= insu > 
hv e& X LTA ; Tast input char:+ T3"go to NEXT CHAR end; 
hv e7 NT 5; if case free then go to OUTPUT; — 

hv e13 LTB ; if ten then go to trailing edge; 
hv e8 X NRB ; ENDMARK: ‘if -, ready then begin blind:= true; 

al5: pa b38 Xt 10.3 3 go to OUTPUT end; wordend:= 103 
ps r1 » hv (e8) ; out(Radar); i:= 239; skip line; 

eld: pa al6 , ud al5 3 trailing edge: wordend:='10; i:= 2ho3 
[2] hv a8 NQA 3; if ~, external'then begin 
al6: it -1 » 4a (a17) 3 “for i:= i step -1 tmtil 1 do 
[-2] pm TO x 3 —— — ~~ 
al7: bt 2hO +t -1 IZA; outinternal(10); LZA:= false; 

ps r-3 , hv e266 ; 
<d41, 3 for i:= 1 step 1 until filler do 
el5: pp -39 ,ps r 3 ~ next word out; ~~ 
[si] nen p 3 

@ Pp p-l , hv e288 ; 
>al8:ivy a3 » Pa a2o 3 select( alarm’ unit) 3'print:= false; skip line; 
e16; 3 alarmprint: print:= true; 

  

  510: vk ‘960f=41.3 see 3e20], it 
vk 1d37+d9, it -lo ; 
lk “267, it -1 3 
bt -F7 » bh et6 ;} 

a20: bs i[print], hv ck  ; 
3 
3 

~1 3 

fetch last tracks of HELP system$ 

if print then go'to ALARM PRINT; 
if filler #0 then begin only: sense:= true; SENSE; <dii,nenfe15) , hs a23 
~ ends if tape output then go to ADJUST TAPE; ell: can 1 » hv a22> 

{ Termination of the program: ] 

ach: arn cl » hs e2 3 CALL HELP: fetch catalog; 
b5: pi [kind] , ama 3 int= kinds; if count +0 then 

ne 0 »hs e379 3; display( count) ; 
<dii,am b51 =, ck 10 3 R= if filler +0 then bits(10,21, paramword) ° 

tk -28 , ud coh; elsé outtrack; 
® ea (e15) , arn b23. ; prepare help entry to set twr; 
; x am b235 , ud coh 3; M:= first out block; 

> pm b25 , hv c74 3 go to ADJUST SPECIAL;  



  

[19.7.67] [edit/constants, adjust tape, outchar] [page 6] 

. <d41, 
© p6: er i V see e27 

[ib6]aq b6.9+1.19+2574.39 3; buffer base 
[2b6Jag b6.9+1.19+2574.39 3 current base 
[3b6]qq -d53.9-1.21-2574. 39+d53.39 3 form checkword 
[4b6]qq 1024, 39 3 buffer length 

oe 
We

 
W
e
 

B72 QQEI5 6541561 1415617415 023415629415 63543.39, 3 Pilemark 
[1o7]qq 07.9+1.19 3 filemark to buffer 
[2b7]aq 1.19 3 filemark to tape 
[3b7]qq b19 +1 3 status to buffer, to core 

  

[ Adjust tape: cf. page 13 and Help 3 page 13 ] 

a2e: vk dil » ik ec 3 ADJUST TAPE: select parametertrack3 
vk (c5) , vk (ch) 3 fetch search; 
1k ah, vk (ch) «83 ~=fetch selected catalog track; 
pm bes =, tl 23 3 
am(c15) , ck 8 3. storefiword]:= store[iword] ‘A 

e tl 16 , ck 16 3 8m16016m V (block count pos 23); 
er (c15) , hs 8 3 sum track; — 
sk di4  , arn 1b7 3; ~~ write catalog track; 
us » arn 2b7 3 #paramword:= filemark to tape; 
er b52 , us (b35) 3 write'filemark; 
pa big , ps aal-1 3; up:= trues‘only sense:= true; 

a23: pa b55 , hv el6 3; SENSES go to CALL HELP; 
> 

e 

{ Procedure outchar outputs one character to an external unit. The output 
format is defined as follow: 
i, The case for the character SPACE or CARRET is always equal to the 

: case of the previous character. (to undefined case in the beginning of 
| the tape) 

b ii. The procedure does not output superflouos case shifts. 
iii, If the first character (disregarding SPACEs and CAR RETs) is not a 

‘ case shift a LOWER CASE will be output in the front of ‘+. J 
b ald 

@ e17: ne 58 » ca 60 procedure outchar(char); integer ‘char; 
if char = <LC> V char = <UCS then case 1:= char 
else if char + <CR> A char + SP: 
A (first V case'1:+ out: case) then 
pegin if first then: begin first:= false; 

~outease:= case Tend 

ga a » hv si 
ga ad > ne 64 

as pm 58[case1]DXV NZ 
[-1] arm a3 » hv ad 

ca (al), hv rel 
  

bs (ai) +t 60 else 
sc (al) D outcase:= 118 - outcase; 

al: nt 118 , sy 118 sy(outcase) 
[outease] [first] ‘outsum:= outsum + outcase + 13 go to a3 
arm al » ud ab end: else 

a3: sy [char] , ca 61 
b3: hs eth [see 3e37] 

ca 28, ntn(di4) 
al: ac (bi4) DXt 1 
b39: qq [check], hv s1 

a3: begin sy(char); if char = <SUM> then 
treat sum'else ~~ 
outsum:= if char = <CLEAR> then 0 
else outstm + char + 1 

end outchar, check is used at helli6; 
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<dhi,: 
blo: tfault; 

@® >: 
bai: toverlap; 

alarm texts Ne
e 

w
e
   
 



  
  

6 
e 

[19.7.67] 

b alo 

as qq 

_ aq 
[-3] aq 
[-2] aq 
[-1] qq 
e18: aq 
[6a] aq 

512 

r-1, 

[1] ’9: aq 1B [=1.39] 
pa le7 t e13 

[3] ei9shv 4i [see e21] 
[2] 

[4] b11 7qq -1 

[5] b12:qq IZA [= 10.39] 
[6] b13:qaq DXVN[=960.39] 
(7] hv (e7) Dt -7 

e20: arn -2 » sr v9 
sr bo2 ~~ NZ, 
hv ee LZ 

hs e2h ,aqq ei-1 
[si] ac -2 , pm b10 

se beh xX ITB 

bs (a2) +t 39e1 
gs a2 » PS 39e1 

ik si Vv NTB 
gm -2 » @rn eco 
mb bi1 , is (a2) 

e21: ac slo  , hv (e50) 
[later changed to: (79) ] 

e2e:a2: pm 39e1 t 1 

<dhi,pa a3 7 Vt a-t 
e253: ps ree , hv 20e1 

pa 6a Vt i1-6a+2LZ 
e32: qq blo , hs el6 
[+2] 
x pa ad t al 

pa 6a t i-6a+1 
[+1]> 

cln -6 » ck 4 
ca 63° , sr bil 

a3: ga al t 4 
hv (Gay 

e 
e2h: pm (si) , din b13 

ar bid , ck 20 
gt ri » cln «10 

[+1] ga r2 » vkl group] 
pm b9 x 

[+2] vk [track], hr sl 
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[edit/inchar internal] [page 7] 
[select track] 

integer array inbuff[1:7]; 

comment part 1 of 2a - 5a are used in Pass 13 
ENDACTIONS: 

case‘ inbuff[7] of 
“begin 

end Track end‘text: go to end text; 

end text: begin alter (input next word) to proceed 
: (trailing edge); go to end word end; 

onde? 3: go to end word; undef 4:3 — 
undef 5: 3} 

end track: ‘3‘comment R:= 03 

end word: negin TEs reset pointer; goto NEXT CHAR end; 
‘end endactions 3 

ifintrack -'1'= last out in pass 1 
~V:overlap then 

go to OVERTAP ERROR; 
seléct track(intrack) 3 s:= lower buff - 13 
intrack := intrack + 13 

inlength:='inlength - 13 
if wordad > upper buff then 

“begin wo¥dad:='s3:'s:= upper buff - 1 end; 
if Iniength > 0 then read track to (s +"T) else 
“begin intrack:= no: nonsense; overlap:= ae end; 

  

--celi>Wordad + 40]:= celilwordad + 40] =“T7pos3; 
comment mark end of track; go to end words 
comment initially: return; 

NEXT WORD: 
wordad:= wordad + 13 M:= cell({wordad]; R:= 03 
skip line; 

BUFFERMEDIUM' WORD: next word; 
if R +0 then 
~alarmprint(¢fault] ) ; 

comment no buffer case; 

clear MO; 
for'i:= 1 step 1 until Te do 
“Begin Raddr:='MA 63; Mt= M-: 6h3 

inburffils= if Raddr = 63 then 64 else Raddr 
end; go to ENDACTIONS; 

    

procedure selecttrack(trackno); integer trackno; 
begin — 

vk(trackno :'960 + 960)3 
vk(trackno mod 960) 

end;



  

(19.7.67]  [edit/outchar internal] [page 8] 

| @ % 2 ’ (ON e25: ca 61 » hv a outinternal:and check: if char = <SUM 
bi4: acLoutsum]Dt 1 then go to-out and treat sum;- 

ca 28 » pa vik outsum:= if char = <CLEAR> then 0 else 
outsum + char + 13 3 

outinternal: if char = 64 then char := 63; 
count:= count + 13 case count of 
begin 
Begin R:= char pos 393 
oword:= onword + 13 obuff[oword]:= R ends 
comment buff: oword points to b6, b6:=R3 
ObutfLoword]:= oburfloword] + char pos 333 

    

e26: ca 64 » ar bi1 
as hv ro t 2 

b17: 0,001— 
[2] ck 10 
e2fialigr e3-1 Vt 1 
(buff: gr “bd V J 
[4] ck 16 , ac-(al) 
a2: hv si [used to return 
[6] ck -18 , ae (al) 
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obuffl oword]:= obuff[oword] + char pos 273 

    

3 

e35: hv si IQB ; comment used at te47; 
[8] ck -12 , ac (a1) 3 ddufffoword]:= obuffloword)] + char pos 213 

hv s ; 

[10] ck -6 » ac (al) 3 ~~ obuffloword]:= oburflowora] + char POs, 153 
hv si 3. begin — 

& b38: ar 15.3 D 3  obuff[oword]:= char pos 9 + wordend pos 3 + 
= ac (al) , pa a: ; set marks (obufffoword]); count:= 637 

e28: hv si [buff] NA 3 if +, NA then begin - 
hs eb4 TQB ; ~ if buff output then go to next word out; 

[si] pm b23 , arn b23”—osx TQB:= LB; select(outtrack) 3 
sr <2 X IZA 3 NZC:= outtrack = intrack A 
sr b20 IZB ; outtrack inpass3 
arm b9 » ac b23 3 outtrack:= outtrack + 13 

ad; se bel Xx ITB 3 outlength:= outlength - 1; 
[see 4a11] ; 

hv e29 LTB ; if outlength < 0 then goto OVERLAP ERROR}; 
is (al) , sk s-39 3; write track from Toword - 39) ; 
qa (al) +t -80 LQB; if LQB then:oword:= oword - 80; 
hv s1 NZC ; Tf -, NZC then 

e29: aq b4I =, hs e16 3; OVEREAP- ERROR: alarmprint(+toverlap}) ; 
; end end end return 3 

e303 — 

<d4i,arm b50 =, ar 09 next word out: rem:=:rem + 13 
al; er b50 V LT if rem < 0 then begin 

@ e46: pa aT » bh ad us(0,b6;rem + current base) ; 
ar 2b6 , us return end; 

a5: hv si » pm 0d51 NEXT BLOCK: rep:='03 
a6: bs 1 » hv ald if -, first then begin 

arn 3b7 , 11 (b39) SHVSE: 
il » arn b19 if status error(check) then begin 

a7: bt [rep] XVt-150 LT 
al0: pa a6 » av all 

aa bkO 3, hs el6 
sr b52 , is (big) 
bs s512 , ar 4b6 
us [rewr] , hh a5 

rep:= rep + 13 if 3 <rep Then 
  

alarmprint(+fault|) ; 
write(rewrite, paramword: = 
iner'+ (if up then O-else 1024)); 
go to SENSE first:= false; Wo

o 
So

o 
We
 

We
 

we
 

we
 

we
 

we
 

We
 

We
 

We
 

Ww
e 

we
 

we
 

b34 
  

    
 



  

e 
6 

  

‘a 

[19.7.67]  [edit/outchar internal cont. byte input] [page 9] 

ail: ? 

b55: can ~1 » hv si ; if only sense then return; 
am 651 , ar 3b6 3; Tf track = intrack 

e31: bs [warn] , sr 13e1 3 ~ A:‘warning then 
hv e29 LZ ; go to OVERLAP ERROR; 
arn b9 » ud ad: 3 qublengthi= outlength'+‘1; if outlength<0 

p54: hv e29 LIB ; -,tape output then go to OVERLAP ERROR; 
big: bs 513 , ar Lod ; orike (unity perenite ra + 
635: us [unit] , it 512) ; (if up then 1024 else 0)); 

xr (bug) , ac b23. 3 ~# block count:= block count + 1; 
bsn(bl9) , ar 4b6 3; up:='-, up3‘current:base:= buffer base + 
ar 1b6 , er 2b6 3; (if up then 1024 else 0); 
am b52 =, ac bd5i 3 paramword:= paramword + incr;: 
sm b53 , hv al 3 ‘rem:= -block length - 13 go to next word out; 

> 3 comment end buffer case; 
a8; hs a 3 out and treat sum: outinternal(<SUM>) ; 
elu: arm bik =, tk -5 3 treat sum: 

ar bi4 , ud e37 3 ~~ char:= outsum : 39 + outsum 
ar 31 D 3 A 31 + 313 7 
pa bik , ga ad 3 outsums= 03 

r (a) t 2 LQA 3; if -, external then go to outinternal; 
a9: sy [sum] , hr a2 3; sy(char); return; ~ 

e 

[ Byte input: 
Bytes output in pass 1 are packed 4 into a word. Last words on even 

tracks are A marked, on odd tracks A and B marked 
bBalQ 42 
a: qaf > 3 integer array byte[1:4]; 

aq > 3 comment f Is used at END INIT, page 183 

qq , 
qq ; 

e533: al: pm 39e2 Xt 1 byte input: iword:= iword + 13 3 

ga a > ck «10 3 R= set marks (bbuffer[iword]) ; 
ga la » ck 10 3 for is=1, 2, 3, 4 do 
ga 2a , ck 10 3 ~ byte[li}:= part(1) 76 of: (R)3 
ga 3a 3 

b15: pa 3a Dt a ; reset counter 

hv ab NA ; if -, NA then begin byte track: LQB:=LB; 
e34: vk 960 IQB 3; ~ wait for track; work: length:= work length-1} 
b18: btn -1 t 1 3 if work length > 0 then begin 

hs Goh 3 “select track(pass input); 
[si] ac b20 , is (al) 3 pass input:= pass input + 13°: 

lk s=39 NZ 3; ‘read track to(iword - 39) end;: 
qa (ai) +t -80 LOB ; if LQB then iword:= iword - BO-end 

a2: ara , hv si 3 Raddr:= bytel1]; return; 

e 

 



  

  

    
   
   

  

     

        

     

       

  

    

     

  

[19.7.67] [edit/treat slow] [page 10] nw 

[ The following procedure is called to examine errorneous input cha- 
@ racters, checksums or to display the input stream on the typewriter af- 

ter errors. 

The procedure is used in both passes d 
b a2o 

e43: xr » mb ri 3 treat char: swap; if (Raddr A 63 ) = 634 then 
[1] ca 63 , hr s-3 3; ALL HOLES: blind return; 

xr » it ag 3 Lf:= true; text:= ¢char}; skip line; 
e36: pa a t ald 3 treat slow: text:= tparity}; 

ca 639 , hr s-3 3 if Raddr = 127 + 512 then blind return; 
ga al > es al 3 Char:= Raddr; 
vy ah3 $  select(alarm unit); 
pm s-] X 3 if cell{s-1] +:0-then 
hv a2 x LZ 3; parity or char: begin 
er a3 »>ems-1 3 saved instr:= cell[s-1]; cell[s-1]:= 03 

a: aq[text] , hs e38 j; mess:- writetext(text) ; 
bs (b) » sy 60 3 if case +O then writechar(<UC>) ; 
pa ad t -511 3 Tine count:= 23 

b16:a8:vy fby] , aq 3 select( saved vy); 
é als ps zl » br s-3 ; blind return end; 

a2: hv aq LA ; if marks(celi[s-1]) + A then 
a3: Zq 3 print: begin: execute saved instr: 

[ga V NT] ; if TT then 
hv a 3 “go to mess; 

al: sy [char] , vy (b16) ; sy(char) ; select(saved by) ; 
ca 64 , it -1 3 line count:= line count - 13 

a5: bt [line] , pm a3 3 if line count < 1 then 
ab: gm s=1 M 3; “~cell[s-1]:= saved instr; 

pm b9 » hr si 3 marks:= 0; return end; 

af: pm b26 , ud a6 3 check: celils - 1]:= saveslowaction; 
pm (b1) = IKxt 6 3 marks[{s-1]:= 0; insum:= insum - <SUM - 
hv al3 3 if only input sum then begin 

ga bik, nt (obey 3 | outsum:= insum - insum; 
aq (b14) , pa b4¥B 3 + insum2:='0 end; 

al3: tk -5 > ar bi 3 if (insum : 35 ¥ insum) 
; e37: mb 31 D[see 1e14] ; ~ A 31 + 37 = char then 
@ ar e37 , ne (alk) ; 

qq all ,hs e328 ;3 writetext(+tapesum}) ; 
hs »b3 LPA ; if only input sum then treat sum; 
hs e45 M $3 if ready then begin Az= true; set summing end; 

‘Pa bl > hv a 3 insum:= 03; Select(Ssaved by); blind returns” _ 

a9: k 63, 58, 29 
tchar3 

63, 62, 
alO:k 63, 58, 29 
tparity 3 

63, 62. 
ali:k 58, 29 
t+ tapesum 3 
62. 

e     



  

  

  

[19.7.67] [edit/textprint, display, area descriptions] [page 1] 
[bottom of the stack] ~ 

b aid 

e238: pa a , it (s) 3 writetext: itext:= part 1(cell[s]) - 1; 
as pmlitext] t 1 3 next word: itext:= itext + 1; M:= = cellfitext] : 
als arn a2 » cl -6 3. comment R(37:39) = 3 13 

tk -4 > ga ad 3 next char: char:='M A633; Mt=M : 6h; 
ca 15 » bv a 3 if char = 15 then go to next word; 

a2: ca 10 ,» hv si 3 if char = 10 then return;': 
ca 63 > it 1 3 sy(if char = 63 then 64 else char) ; 

a3: sy [char] , hh al 3 go tO next char; 

e439: sy 58 > sy 2& 3 display: writered; write LC; writecr; 
sy 64 » tl -30 3 M:= Raddr X .001; R:= Raddy + : 1000; 
pa al Xt 3 3. wero:= <SPACE>3 °°: 
pt a5 > mn bi7 3; for i:=1 step 1 until 4 do 

al: ck -10 , ga 26 3 begin 
a5: pa ad VtlzerojLZ ; if R'+ O then zero :=<O>3; 

pt ad + 16 3 writechar(if R = 0 then zero else R); 
af: sy 3 R:= entier(M x 10);” 
af: bt [i] t 1 3 M:= Mx 10-R 

min b12 =, hv ab 3 end; 
sy 62 , hr si 3 writeblack; return; 

e 

b a0 

E The following locations overwrite Initialize pass 1. ] 
da ad=1 
<dut, 
b50: aq [Lremaining. 29] 3 
b51: qq 3 paramword 

b52: qq [increment.39] 3 
b53: qq [blocklength.39] 3 

b19: qq > 3 output status 

b20: aq [pass input.39]_ ; 
b21: qq [Loutlength.39] 3 
p22: qq [last output track in pass 1.39] 
p23: gq [Louttrack.39] 3 [block count.39] 
p24: qq [inlength.39] 3; [work end in pass 1] 
b25: aq [first output block. 39] 
B26: aq 3 save slowaction 

a e9=i-1, e10=1e9, e11=-e9+1 

[1b26] aq 
£2b26] aq 
a i=ad 
e 

first word in the stack: 

used only in pass 1 

 



  

  

(19.7.67]  [edit/Init pass 1, table change, backup] [page 12] 

b a30 
a: hs a3 3 table change: index:= next param; 

gl a2 » hs a3 3 type:= next’ param: 
al: ps -1 » PS si 3 for s:= 1 step 1 until no of types do: - 

am say , ne (at) 53 “fr type = part T(types[s]) then go to found; 
bsn sa8- sy bh sal 3 alarmprint(¢param}) ; ———— 
hv a5 LZ 3; found: 
tk 10 IRC ; character tablel[index]:= 

a2: grlindex] t e5 MRC; ~--types{s] x 2410; 
arn all » ca 4Y 3 if type = replaced then begin 
ps ri » hv a3 3 part i[table base + IndexT:=:- 

ai6; pp pl » bh a9 ; next param; :‘caution:= true end} 
pm al? , gm e47 5; p:= p+ 13 go to take param 
gi(a2) ,hv al6 ; 

al7: pa e& t e225 3 

a3: pm pl > pp pl 3 next param: M:= set: marks(paran[pt1]); 
hv a5 LC 3 if marks = end then alarmprint({paran}) ; 
eln -30 LA ; if marks = underiined then M := M shift -303 
eln -7 » ek -3 3 pi= p+ 13 Raddr:= next param:= M3 
ga ath =, pi (ak) 3 

als bs O t 64 3 if Raddr > 64 then 
a5: aq ble , hs el6 ; ~~ alarmprint( param) 

hr s1 3 =©return3 

{ character types: see also page 1 ] 

af: qaf 37 3. normal 

aa 49 5 aa -2 0 3s alarm 
qq i 3 replaced 
aqf 50 » vf si 3  biind 
qq 18 t 512 3 skip 

aq 53 t [70 3 end 
qq 51 t 896 3 case independent 

a4 aS=-it+a7+512 
<a, 
alk: arn(c15) Dt -1 IZA 

ne di4e1 , hv al5 
pm (ch) Dxt -1 M 
ca -] » ac ¢c5 
pa ch +t 959 NB 
aq (c8) +t ~-2 
hs c5 

pa ci5 +t 38a14 
al5: pm (cl5) , hr si 
> 

{ Start Init pass 1: 
The parameters for the program are examined and the following ac- 

tions are executed: 
i<area>,o<area>: the description of the <area> is searched for and 
~ stored for later use 
1 the control is transferred to the table change routine 
< terminates the scanning. The current input medium is re-selected and 

pass 1 is started J 
da al2=-126 
e40: aq (cl) +t 2 
<d35-2, us(-31)t -96 
> vk 960 , vk di1 

lk al2 , vk 960 
<dli,pa c75 +t 39a12 

pa ¢76 20a12 

procedure backup; begin comment JJ; 
~ Iword:= iword - 1; if Iword < di then 

begin track:= track'+-+13 
if track = -1 then begin track:= 959; 
group:= group = 13 end; 
reltr:= reltr - 2; 7 
read track; 

iword:= d14 + 38 end; 
set marks(store[iword]) end backup; 
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PROGRAM START: . 
if aux kind = tape then rewind tape; a4 
free is treated as normal area; 
read parameter tracks 

assign buffer to read internal; 
t 

qaqa (-5) +t al2-a1h 
> [pp iai2 , ] 
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p:= base for parameters; 

 



(19.7.67] [edit/Init pass 1 cont.] [page 13] ~ 
a9: pp jal2 , amp take param: R:= set marks{paran[p]); 

  

s 

@ hv aiO Le ; if marks = end then goto end scan; 
hv a5 NA ; if marks'+ underlined then alarmprint({param}) ; ca 35[1] , hv a © 3) TER <> then go to table change; 
pn pl ,nc 57 [1]; TFRtE DARL SS 
ne 38[0] , hv a5 ~ 3 VW marks(param p+T]) + text 
hs ect xX NC ; V search(p) i O then 
hv a5 NZ ; alarmprint({param) 5 
arn 2c > ps (p) 3 s:= Raddr; if s = <i> then 
bs sh73 , 1s 58 3 input area:= areaWord else 
ar sb29 , tl -7 3 ‘output area:='areaword; Raddr:= type(areaword) ; <ahi,pp pl 3 if buffermedia then begin p:='p + 13 
ne 8-35 , hv al3 3 if-Raddr = tape As = out then 
hs at4 3 bvegin backup; ——— 

f-i] hs ath 3 while NA do backup; 
hv rel NA 3 ~ 
hs all 3 backup; 
hs e¢15 NA 3 if NA then get word; 
vk 960 , vk dil; Save search on parametertrack 
sk ec » vk aii 3 . 

& arm 2c » tl -7 3 end end else p:= p+ 13 
al3:Xpp pl »ne O 3 if -,ouffermedia A 0 < Radar 

hv a5 NT ; ~V Radar = constant 
>ab: pp pl »>ne 4 3 V Raddr = ly As = out 

ne s=59 , ca s-39 ; ‘WV Raddr = sy A's = in V program bit 
[-i] hv a5 LT ; then alarmprint({param}) ; 

tk 12 » ud re] 3 ignore text: p:= p+ 13 
am pel, tl -6 3 if-bits'O'to 3 of(paran[p-1]) = -1 
ca =] > hvn ef 3 then go to ignore text; 
bs sk73 , pm p 3; ifs } out then go to take param; 
hh a9 NB ; if marks(paramlp]) # number then begin 
pp pl » Cln-10 5; ““p:=p+ 13 zerotracks:= paraml p] end; 

alOs: vk da21 V LC $3 go to take param; ~— 
ga b36 , hh a9 3 

  

1k di4 , vk 960 3; end scan: fetch catalog track; 
arndi4+du5, gr 1b26 $3 R:= save work as output:= work as output; 
tl -32 3 

o tin 36 » St b33 3 worklength:= blocks(R);- 
tL 1 » ne O 3 if worklength > 511 then 
pt 633 t= (511 3 worklength:= 511; 
tl +21 , gr beh $3 ~~ outtrack:= work end:= 
tin 16 yar pak; blocks(R) + first block(R); 
gr veh , gr b23_ ; 

3 

pi oO > am -2 $s if current input + <ly> then 
hh all NC 3; ~~ begin ~~ 
pm -2 » hsn c3 3 select track(cell[-2]) ; 

<di1,gmm b37 =, 1k al2 ; read track to(text buffer) ; 
x gm b37T) =, ik ath; 
> pa e42 + eb 3; input:= input internal 
ali: vk 3 » Mb all 3 end; 

ca | > pi 3 twrInput:= current input = twr; 
vy dh3-1t -ah3 3 select also(alarm unit); 

b31: sy 64 LRB ; if twr input then writecr(2); “© 
gk bI6é: , ud b31 3 Saveby:= by3 
gm e3-1 t 1 Ms; 

@ it (F-T) , bs 78e3 $3 initialize marks in output buffer; - 
hv yr-#2 3 

er 3963 V MA 3 comment see next page; 
e 3 go to START PASS 1;   
 



  

[19.7.67] [edit/input drivers, line buffering] [page 14] 
[test for. ] 

b allo : 
@ e41: hs «27° 3 input internal: Raddr:= READ INTERNAL; 

[si] gr 79e3 MC ; 
hv aD 3 

[ss] ca 63 , sr b11 3 if Raddr = 63 then Raddr:= 64; 
hr si 3 Yeturn; 

e48: 
b32: lyn ei8 V 3 input external: Raddr:= lyn; skip line;- 

arn 10e5 , hv a28 3; reset and stop pressed: ‘Raddr:= ten; go to TEST END; 
mb ri » pm el8 ; if (Raddr A 63) = 63 then —— 

[1] ca 63 » hv ehB 3; “go _to input external; 
hr s1 X 3 return; 

{ Line buffering: 
If the input is taken from the typewriter, generated bytes are buffered 
and output in a burst after every CAR RET, This makes possible the era- 
sing of a line until it is terminated. The action for the line termina- 
tion is started if p< 0 or if the buffer is full. (it can store 80 

  

bytes) ] 

@ at ogr el-l , gs a2 3 STORE BYTE: ‘car:= car + 13 bufferlcar]:= Raddr; 
bs (a) + 78 et 3 blind CR: if:car > upper bound then 
sy 64 > bv x3 3 writecr else 
ne 64 3 if Raddr"#<CR A 
bs pi , av si 3 ““p > O then return 3 

{3] it te?) » pt a’ 3 last states= state; 
it (823) , pt ab 3 dast case 2:='‘case' 23: 
pp el-1 ,ps r 3 for i:= 1 step 1 until car do 

[si] pp pl , am p 3 direct out(buffer[T]); 
it p- > bs (a) 3 
hv (a17) t 2 3 comment store end OK and inénd; 
gi a5 Vv 3 last in:= ins; skip line; 

? 

al: aq bk , hs e38 5 ERASELINE: writetext(tannul}) ;s 
a2; ps ail » Pp Oo 3 START PASS 1: p:= 03 

pa a ‘tel «1 3 car:= 03 
a3: paa7 tO [last state]; state:= last state; comment initially 0; 
ak: pa a23-t [last case 2]; case 2:= last case:23 

@ a5t pi 256 +t 255 3 int= last in; comment initially end OK ,-, in2nq; 
~~ 3 return; 

[ Test terminator: 
After every underline ( ) regardless to its type, the next character 
will be compared to a period (.). Should the test fail, LQA will be 
set to indicate that the next character mst be taken from e18-2, ] 

a6: hv si » hs (e42)  $ UNDERLINE: 
ps all: , ga e182 3; store char:= input 
pm 14 [ ID M 3; if storechar #'<:> V-case #0 then 
ca 59 [7], bs (b) 3 ~ begin LQA:= true; go_to TESTTYPE end; 
hv al3 Xx IQA 3; 

  
 



  

(19.7.67]  [edit/string termination, central input] [page 15] 

@ pm a34  , arn e18-1 ; STRING TERMINATED: 
aq (b1) Xt 75 IZA insum:= insum + 59 + 14:+:23; in2nd:= false; 
sy 59 LZ if slowaction = print then writetext(S<c3) 3 

State:= state =-'13 
if state > -1 then endOK:= state'='0 else 

“begin state:= 23 in@nd:= true end; 
if endOK then count:= count + 137 

aT: bt [state]t -1 
arn(a7)  DXV IZB 
pan ay Vt 2 IZA 

a8: aql[count]vt 1 LZB 
pa aa> X LZA if inOnd then case 2:= 0; 
pa al5 +t -e10+1018 byte count:= max allowed; 
hv alT NZB if -, endOK V -, twr'input then begin 
hv al7 NRB ~ontbyte(512) 3° go to NEXT CHAR end; : 
pm af x 
pe -i » bs 239 
sy 64 » sy 64 
pm e18-1 , hv al6 

TRIPLE TERMINATICN: writecr; p:= -73_ 

display (count) ; 
writecr(2) ; 
out M (512); go to NEXT CHAR; Ww

e 
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CASE SHIFT: 
shifts:= shifts:+:1;-if- shifts > 3 

a9: pi oO Xt -9 LQA 
alO: bt{shifts]Xt -150 LRB 

hvn a2kkh =X LRB A twr input then go to NUMERIC; 
@ d alj=i-1 NEXT CHAR: 

7 hs (a13) LPC if blind then execute(action[{ char + table base]); 
ele: [-3] hs eb8 NQA Char:= Raddr:= if -, LOA: then input 

pm e18-27, ud a9 else storechar; LQA:= false; 
a3: gaf ald V NT if parity V slowaction “£0 0 then 

{ f is used at:1ek7] 
al2: hs e36 +t all IPA 

ne 64 [CR] ~~ LRB 

~ begin only input sum:= false; 

treat slow end; 

if Raddr = <A twr input: then 

  

ca 14 Jv TPC ““p:= negative; blind:= ‘false; 
pp aelail, hv a3 if Raddr ='<'>'then: begin 
hh a6 IZB “TendOK:='false3 go to UNDERLINE end; 
ac (b1) Dt 1 LQB if sum then insum:= Insum + Raddr + 13 
ne LRB if Raddt =<aa> A: twr input then 

~ begin writecr; go to PERHAPS ERASE end; 
TEST TYPE: M:= set PC(character table[char]); 

if Raddr = <LC> V Raddr = <UC> then 

13 
ai3: pm [char] Vt e5 IPC 

sy 64 » Av a27 
ne 58 » ca 60 

  

hv alo “go to CASE: SHIFT; 
pa al0 ,ca 2 shifts?= O03 if Raddr = <CLEAR> 
mt «1 D LZA ‘A inénd:then'Raddr:= ~-Raddr3; 

& hv a22 xX NPB if spec then begin swap; go-to TREAT SPECIAL end; 
al4us hv a2g LZA 3 after spec: if’ inend:then go to CHECK CASE 2; ~_ 

hh plait LPC if blind then go to if p <0 then blind CR 
“else NEXT CHAR; endOK:= false; false; 

next Out: byte count:= byte count - 13 
if byte count = 0 then alarmprint({fulL}) ; 
outbyte(Raddr + case + character table base); 
go to NEXTCHAR; 

out Mz set return to (NEXTCHAR); swap; 

pi 0 Xt -257 
al5: nen[bytes]Xvt -1 

:ps all XV 
ar b » ud al9 
hv a20 NZc 
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[19.7.67]  [edit/outbyte, treat special] [page 16] 
{numeric input] 

  

  

@ aly: py r0 be 2 WRB ; OUTBYTE: if twr input then: go to to STORE BYTE; 
v (a) - 1 3 directout? pos:= pos + 13 case p pos of begin 

[2] ab: er 3-1 1 1 Lovoralt 13 begin oword:= oword +-73 — 
hv si 3 ObuttlLoword]:= Raddr end; 

[4] ck -10 , hh r2 3; obufffoword]:= obuffloword] + Raddr pos 193 
alg: ar e5 DV 3 — 

[used at 2a15] 3 
[6] ck -20 , ac (a18) 3; obuffloword]:= obuffloword] + Raddr pos 293; 

hv si ; begin _— 
[8] ck 10 , ac (al8) ; obuffloword]:= set marks(obuff[owora]) 
b30: arm <=1 Dvt 1 LA 3 + Raddr pos 393; pos:= 0; if LA then 

{used tracks] 3 begin used tracks:= used tracks + 1; 
a33: pa al7 , hv si ; 

b33: gm 2b26 , callength] if used tracks := worklength then 
a20: aq bus , hs el6 ~alarmprint(¢full}) ; 

arm b9 » Sc be outtrack:= outtrack ~ 13 
hs eek select track(outtrack) 3 | 
aq b23 , pm (al8) 

@ is b218} , sks -39 writetrack from (oword +: 39); 
~ aq (ai8) + -80 LB if Bmark(obuff[oword]) then 

  

“oword:= oword - 80; 
end end end; return; 

TREAT SPECTAL: 
if:char > 64 V -, NPA then 
“begin set retum to( NEXT CHAR) ; 

pm 2b26 , hv 033 

a22: bs (al3) + 6l4e5 NPA 
ps al2 , hv ek3 

  

ca 512 » Hhp jail _ treat char end;'if skip then go to if p<0 

ne 896 XV LT ‘then blind: GR°else NEXT CHAR; 
ga ald , hv al3 if’ Yeplaced then begin’ char:= Raddr; 
hv a2 X goto TEST TYPE end; if -,case free then 
sr b Xv NZA go to TESTEND; if -,inend then begin end&K:=false; 

Raddr:= Raddr - case; go_to to next out end; 
aco: pm b XV CHECK CASE 2: 

hv al5 IZB if-case + case 2 then 

  

a23: calcase2] , hv al6 
ga acd ,ud e12 
arn 60[UC]D 
ps al6-1, hv al7 

begin 

case 2:= case; outbyte(if case = 0 
then 58:else 60) 
ends go To outbyte; No
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a32: qq bu7 , hs el6 SYNTAX: alermprint(ftermination}) 5 ‘e
e 

  

aah: ca 60 » hv tail. 5 NUMERIC: if char = <UC> then go to NEXTCHAR; 
syn 29 » sy 17 [<] 3 case:= numb:= digit:= 0; writered; writechar(17); | 

aed: pa b » mL d12 3 DIGIT: numb:= 10 X numb:+ digit; 
[1a25] lyn a26 , ca 60 3 INCH: ‘R:= digit:= lyn; if Raddr = <UC> then 

pan b + 128 3 ‘begin R:= O3:‘case:= 128 end; 
ca 58 » pan b 3 if R= <L@'then'R:= case:= 03 
hv 1a25 IZ ; if R= 0 then go to INCH; 

    
 



  
  

[19.7.67] 

ca 16[0] , pan a26 
is (b) » bs $511 

a26: bs [digit]t 9 
clin -10 Vv 

ck 10 , hh ad5 
ga ald 4 pa ald 
sy 62 » hv ald 

aeT: hv al NZB 
a28: pm 513 DXV LZB 

ca 832 , hv a2 
hv alk xX NZB 
pp +1° » ns al7T 

[si] bt 159 +t -1 
hvn(at7) t 2 

ledit/numeric input cont, wrapup Pass 1] 
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[page 17] 

if R = 16 then digit:= 0} 
if case = 0 

A digit <9 then go _to DIGIT} 
shiftst= Of “~~ 
chari= numb} 
writeblack; 
go to TEST TYPE; 

PERHAPS ERASE: 
if -, end&K then go to: ERASE LINE; 

TEST END: if -> endOK then: 
go'to'if Raddr = ten’ then SYNTAX 

elise after spec; 
p= negative; ‘outbyte(513) ; 
for i:= 159 step -1 until 1 do 

“direct outlOy$ — 
  

[ The tracks containing the bytes were output from the end of the working 
area backward, The order of the tracks will be reversed, thus during 
pass 2 the tracks will become free for output as the bytes are processed, ] 

  

  

  

  

arm be3. Si, gr =be20 3 pass input:= outtrack; 
gr bee 3 last track:= outtrack; 
pp (b30) , pp pl 3 p= work length:= used’ tracks + 13 

a30: gp b18 , bs p510 3 test middle: if p < 2 then 
vk 960 , hh a31 3; go to reversed; 
pp pee ,hs e2h 3 p:= p- 23 select track(outtrack) 3 
qq b23 , lk el 3 read track(buf 1); 
se beh , hs eek ; workend:= workend - 13 select track(workend) 3 
aq beh , 1k kOet 3 ~~ read frock pus 2)3 
sk el »hs e2+ 5; writetrack(buf 1); select track(outtrack) 3 
ac b23  , sk kOe! 5; outtrack:= outtrack + 1; write track(buf 2); 

adi: hh a30 =, vk c63 3 go to test middle; 
ik e] » lk 4Oe1 3; reversed: fetch INIT MEDIUM; 
ar af » ne oO 3 if count i OA -, twr input then 
hs e39 NRB 3; ~ display(count) ; 

e 3 end Pass 13 

[ Select and initialise input and output media for Pass 2: ] 
b a30 
da=el + 82 - c2 3 define bufferpart 

am b2e8 , ga bS5 3 Rs= output areas kind:=-Raddr; rs 
tl -2 » Pa b16 3 $ ~~ saved by:= 03 if Raddr : 4 = work then 
cal.5+d32.7,it bi6 ; R:= work as Output; ~ 
am be8 , tl -7 3 
hv al NT ; if kind = sy then begin 
tk 17 » ga b16 3 “saved by:= part OCR); 
pa 8 t el7 3 external := true; out:= outchar; 
pa a5 » hvnal2 3 go to INIT TNPUT- end; 

al:<-dli+t, s; if -,buffermedia then begin 
tl -25 , tin 16 3 outlength:= blocks(R); 
er bel, tin 16 3 outtrack:= firt output block:= 
er be5 , gr b23_ 3 first block(R) 3; 

al2: aq e2 > vk 960 ; go to INIT INPUT end; 
x qq e2 » ga a2 3 INTT MEDIuM(R); — 

tl 7 , hs el ; outlength:= length in-init; 
pm e] ’ be 3 go to case kind + 1 of 

a2: hhr [kind], arm -2 3; (DRO, ~~ 
[1] bh ab , pt all 3 DISC, 
[2] hv a3 » ym 4b6 $ CARR, 
[3] hv a9 » Pm al3 3 ~~ TAPE);



  

[19.7.67] [edit/ initialize Pass 2 cont.] [page 18] 

8 hv all NZ TAPE: if R + 0 then go to label error; 
arn b28-, cm «(27 if unitpart( input area) = unitpart(output area) 
pa v34 Vt 32 “A kind(input area) = tape then 
aq bai , hs e16 alarmprint({overlap|); rewrite:= 32; 
pa ehh, germ 23 tape output:= true; block count:= 0; 
grn b54 og hv. all0 go to COMMON; 

ad: arm b28 , sr b27 DISC: dise:= true; if input:area = output area 
pa e531 t 1 LZ then waring:= true; go_to COMMON ; 

al: hv alO , gr b25 DRUM: ocuttrack:= first output block:= 
er bed , pa el5 track in init; filler:= 0; 
hvn al2 go to INIT INPUT; 

a9: am 2 DV CARR? M:= 102k R:= 2 pos 93 skip line; 
alO: pm 3a » am ia COMMON: M:= block length in init; R:= incr in init; 

er b52 , gm b53 block Length := M; increment:= R3 
srn b53 » sr b9 rem:= -block length - 13 
gr b50 , ar 2a paramword:= current block in init + incr in init 
ar la » ar al6 + rem + 2568; 
er b51 =, arn b6 
gr e27  , arn al5 buffer output:= true3 

ob gr e28  , arn 4a check:= check in Init; 
ga b39  , tk’-10 unit:= unit:in:init:+ 

all: ar 16 Dt ~-16 (if aise then 16 else 0); 
ga b35  , it (b35) rewrite:= rewrite + unit; 
aq (b34) , cln -10 filler:= block length - 393 

ale: vk e2 » ac el5 
> am b27T , hs hoe INIT INPUT: ‘if INIT MEDIUM(input area) +0 
<dit,hv ail NZ, then go to Iebel error; 

3 

3 

3 

5 

3 

3 

3 

3 

3 

3 

3 

3 

> 

> 

3 

3 

3 

’ 

3 

> 

; 

3 

3 

5 

3 

3 

3 

> ym #2 IQC ; if current input = external then 
hh aS xX NC 3 ~ go to EXTERNAL INPUT; 

3 

3 

3 

3 

3 

3 

3 

3 

3 

3 

3 

> 

3 

3 

’ 

3 

3 

3 

3 

3 

3 

3 

3 

3 

3 

  

pm 4Oe1 , gm veh inlength:= length in init; 
pp 4@e1 , hv e20 init inchar intemal: end track; 

e50: hv x0 vt el9 NQB if current input 3 + drum then begin 
<abi,vk 960 wait for track; 

pa 18e1 +t ite get state; comment for comparsion 
arm 18e1 , il with output block; 

input:= BUFFERMEDIUM WORD end else 

    

pa lef +t e23 

>[-1]pt e21 Vt e19 
a ehg= i-e50-1 

& Ti] gp e22 , hv e20 
al7: vy (b16) , m r 

pp 79e2 , hs e34 
gp e373 , hs e3h 

b36: a7: bt [zero] t -1 
pa ‘ab vt  2ho 

a5: pi 8 [EQA], hv e6 
a6: bt elo +t -1 

  

begin wordad:= upperbuff; end: track ends 
END INIT: select(saved: by); LB:= false; 

byte track; LB:= true; 

iword:= e2'+'79; byte track; 
for i:= 1] step: 1 until:zerotracks do 
“for j:= T step T until 20 do output(0) 
go to to START PASS 2; 

  

ps ¥Y-2  , hvn(e8) 
a8: hv a7 > vy 1 EXTERNAL INPUT: select(twr input) ; 

ac (b16) D saved by:= saved by + current input; 
pp’ eld 3; ca aiqy:: if current input = reader A NRB:A- 

b37: lyn D NRB "=, internal input in Pass 1 then lyn; 
gp 1e7 7 MA place external input instructions} 
pm b32 =, em e7 go to END INIT; 
hv al7   
 



  

[19.7.67]  [edit/constants] [page 19] | 

<dl1, 
ai3? aq -1.2+1.23-1.27 
alk: aq bu5 , hs e16 
al5: hv e30 buffer output 

al6: qq 2568.39 1543 + 1024 + 1 

mask kind A unit | 

| 

label error: alarmprint({abel]) ; 

Ww
e 

Ww
e 

Ye
s 

Y
o
 

bet: aq -1.2+d17.19 input areaword: reader 
be8: qq -2,2+32.19 output areaword: punch to

e 
‘w

o 

a b29=b27-57, b46=1b26-b28 ; 

b42: tparam; 
b43: tfull; 
b47: Etermination; 
blk: k 29 

Tannul ; 
63, 62, 
<dit,: 

& bus: tlabel; 
> 

alarm texts | 

w
o
 

W
e
 

‘e
o 

‘e
o 

Ww
e 

‘e
e 

end init pass 2 oD
 

we
 

< i-c27+10, ilength 
> 

<i-ch8 =, ilength! 
> 

  
 



  
  

[19.7.67] [edit/end of tape] [page 20] 

  

  

| 
8 d i=i+39, d=k-dl 3 d= no of tracks | 

D k=dl2, i=0, a10 3 | 
d a1=d19-960 3 al= group no for image 
d a=d, <d35, a=2 > 3 a = no of blocks 

<d39, 3 if aux only then | 
ad i=d2 3 
7 hs 1 3. dvegin | 

hv a5 3 

<a36, ; 
tres; 3 (if aux reserved then | 
daf a.39 $3 res; no of blocks, 

x<d39 , 3 else | 
tset; 3 set, aux kind, no of blocks, 

gaf 435.39 3 typein) | 
qaf a.39 3 

[STOP, SUM] ibase, edit 
s 

TSTOP, CLEAR] 
><a39, 

aq (39, 

qa OT, 
qq 52, 
qaqt 
tedit; 
daf d.9+eh0.19+eh4, 29 
gat, 

6 

  

edit, spec < 

Ww
e 

We
 

We
 

Ww
e 

We
 

w
e
 

Wo
 

We
 

a5: hs 1 

hv af 
timove ; 

qaqa 50, 
qgf d.23+d1.39+al.29-a 
tedit; 

gar, 

move, b load place, edit < 

«33 3 

to
n 

We
 

w
i
 

Ww
e 

We
e 

We
 

W
e
 

a6: hs 1 
hv aT 

tsetsum; 

tedits 
gar, 

d d2=1 
av: hsf 2 
x 

ad i=ah8 
~ «qq 435.24+11.7+d36.5+d. 

aq, 
tedit; 
Ga d.9+e40.19+eh 29 

au8=4 

qaf 

6 

setsum, edit< 

end else 
—   

T
O
 

wo
 

wo
 

we
 

We
 

we
 

wo
n 

We
e 

W
e
 

W
e
 

3+41.39, 3 load to primitive catalog; 

f
m
 - 

l
a
 Vv 

aj =d+da 

No
w 

Ww
e 

W
e
 

w
o
 

W
o
 

w
e
 

we
 

w
o
 

end of outermost block ‘e
o 

STOP, SUM]e iedit 
s 6 

m=
To
Ol
o   
 



  

a [22.5.67. (1) exit/page 1] 
— [STOP, CLEAR] 

b k=d1, 1840413, a10 3 begin exit 
a=80d13 3 define base of image track 0 

hv al , Vk @16 3 O ENTRY FROM PROGRAMCALL: goto bypass; 
a2h: sk a! , it 1 3 1 READ IMAGE: theese instructions are 

vk di6 , it 4o 5 2 executed in cell 0-63 write image track 0; Ik O07 | it -1 3 3 read image track 1-24; 
bt 23 bh ra2 3; 4 read image track 0; 
vk d16 , 1k oO 3 5 restore group and wait for drum; 

ai: vk @19 , vk d16 3 bypass: read image track 0; 
{this instruction will usually restore group. In step execution 
group will be restored in the instruction on image track 0.] 

lk a . vy 512 $3 inhibit by; 
vk 25416 ; ps 9 3 init cells:= 9; | pm e , arn 8a ; 
cm eth NC 3; top init:= 9; 
pp 9 / bh aS 3) if core(8] 4 vy 1 t 511 V 

@ pm ah , arn 9a 3 core[9] $+ aq , hv/hh (rx) then | = em 9412 ~ LA 3 oto init; 
Pp 9 » hh a3 3 “— : 
ps 6 . Pp 7 3 init cells:= 6; top init:= 7; 

adh: gt 9412 , ps s-1 3 std(10-19):= core[9] (10-19); oe 
pm pdi2 t -1 IRC ; init: for i:= top init - 1 step -1 until 
em pa t -4 MRC 3 top init - init cells do 
bs s . hh a3 3 core[i]:= std{i]; 

pm 9a xX IRB 3; s:= 03 RB:= marks(core[9]); 
ga 9012 , arn 1413 3 std(0-9):=core[9](0-9)s if no params then 
hvn a5 Ie ; begin Raddr:= 0; goto set core 9 end; 
pa 9412, ca 56 3 std(0-9):= 0; if param 1 = h then 
arn 2415 ,is 1 3 begin Radr:= param 2; RC:= 11 end else 
pi s2 , tk 30 3 begin Radr:= param 13; RC:= 10 ends 
hv 58 Le 3; if not number then 
hv ¢58 NB 3; goto param alarm; 

a5: ik 1000 , ar 9di12 3 set core 9: read image track 25 and registers; 
3 Raddr:= Raddr + std(0-9); core[9]:= if RB then | @ ar 7da12 LRB ; qf Radr, hh (rx) else 

~ er 9a MRC 3; aq Radr, hv (rx); ~~ 
vk (c5) ; vk (ch); select(exit track); 
ps (7) . arn 1 3 restore s; 
ga 6a . arn 2 3 prepare restore group; 
vy (2) t 512 3 restore by 1-9; 
gt 6a , arn 11 3 prepare restore track; 
pm 8 IRC 3 restore ROO-393; RA:= 03 RB:= cverflow; 
tl > pm 6 3 restore M and marks; restore p; 

? 

39 
pp (12) , hv 059 goto set 0; [page 6 of help] 

mask for checking cell 9 of image: 
exit length 

al: qq =1.39+1.19=1 053 

as 

w
o
 

w
e
 

  
 



e [22.5.67. (1) exit/page 2] 

i=391, d=k~d1 3 
<a35, iexit kind 3 if aux kind > drum then alarm message; 
8 3 
> ” 3 
b k=d42, i=O, a10 3 load to image 
a1=d19=960 3 
a=d 3 a= ne of blocks 
i=d2 3 
<d39 3 if aux only then 
al: hs 1 3 begin 

hv a5 3 move, b loadplace, exit < 
tmove; 3 - 
qq 50 3 
qaf d.23+d1.39+-a1 .290al. 33 3 
texit; ; 

gat : 3 

° a5: hs 1 ; setsum, exit < 
hv a6 3 i 

tsetsun; 3 
texit; 3 

gat ; | 

a6: hsf 2 ; 

x 3 end else 
i=ah8 © 3 

aq 11.7+436.5+d.23+d1.39 3 
aq 3 
texit; ; 

aud=1 3 
qqf 3 load to primitive catalog; 

> 5 
di=d1+d 3 
€ 3 end load to image 
e 3 end exit 

@ [STOP, SUM] a iexit 
8 

‘   
 



  
  

  

(STOP, CLEAR] 
[15.6,67] [move/begin program, init output] 

bd k=d1, i=40d13, a50, b50, 

ad e11=0, e18=0 
<ah1 ,<d53-399,<-d53+h01, 
d e18=1 > 
<d41,e11=-e18+1 > 
a e10=c74400 

[40a13] [input areaword] 
bi7: pp 413-1, hs e19 
bh: tk 10 » gt b12 
<a, 
b38: hv [13] , aq > 
[s3] [output areaword] 
b37: hs e19 

b5: tk 50 > ga bid 
<a, 
b39: aa » hv [to] > 
[s3] 
<d35-2,us(-31) t -96 > 
a3: pp pl » pm pl 

hv all5 LC 
al6: mln b8 xv LB 
ad7: aq bab , hs cel 

sc bi ITA 
hv alo LTA 
gr bi » ern a6 

<abi,nv a3 > 
a5: arm b37 , vk 960 

vk c63 =, 1k ah 
aq e110 , vk 960 
pa 3a14 , hs aly 

<dit,hv ale NZ 
hv »b39 

> 

e20: arn ic » er bi 
<-dhi+t, 

er bik , vk 63 
xX gr bik , hv a32 
d a31 = c82-ca8b+a1h 
e215 
<e18,arm 2a31 , ar 1a31 

ar bus , er pel 
pp (4a31) , it p 
pt bei , it p 
pt bee , hv ade 

><ell, 
arn al7— , ar »bi10 
er b26 , arn b25 
ger bey , ar 2a3} 
ar bl5S , gr v28 
it (4a31) , pt b29 
it (4a31) , pt b30 
hv a32 

><a, 
e22: arn 2a31 =, ari a31 

ga be8 , hv a32 

e23: arn 4a31 , gt b18 
ck -10 , gt bI7 
gr b31 

ym di3 , ame 
vk 960 , vk dil 
sk _c vk dill oe

 
we
 

We
 

We
 

Ho
 

Ws
 

[page 1] 

eho 

eli= other disc availabe 

core buffer base fo
e 

Ww
e 

Ww
e 

We
 

te
e 

p= param bases 
take input param; ‘o

e 
‘w

e 

[init input action] ws
 

take output param; 
ee
 

w
e
 

‘e
o {init output action] 

if aux kind = tape then rewind: tape; 
if kind (paran[p+1])"# end then 
“begin 

{f kind(param[p+1]) + numb v 
kind (parem[{pt2]) + ena v 
4o x parem[p+1] > inlength then 
alarmprint({iength}) else 

--dnlength:= 40 x param[prT] 
end; 

Tetch( INIT MEDIUM) ; 

if INIT MEDIUM (out areaword) +0 then 
alarmprint({label )3 ~~ 
go to init outputlkind(out areaword) }; No

e 
Wo
o 

We
 

wa
 

W
e
 

w
e
 

We
e 

We
 

wo
 

we
 

W
e
 

we
 

We
 

e
e
 

w
e
 

init drum output: we
 

outbase:= track; go to INIT INPUT; 

we
 

we
 

init disc: output: : 

if e18 then begin 
oOutbase:= cur block + 13 
check:= check block} 
unit:= check block;- 
go-to ' INIT INPUT end 
else begin — 
block length:= 4533 

incr:= 1 pos 213 paramword:= 
iner + cur block + 15503 

unit:= check:= 

‘check block; 
ro to INIT INPur Ne

e 
We
e 

Ww
e 

We
 

‘e
s 

W
e
 

te
e 

We
e 

W
o
 

W
e
 

We
 

We
 

W
e
 

w
e
 

end 
ee anes init carr output: 

to
o 

We
 

init tape output: 

Save search on parametertrack; 

e18= disc with 400 words blocks available 

reel and block:= cur block + 13 go to INIT INPUT; 

check:= check blocks; unit:= read block;



  

  

(15.6.67] [move/init input] [page 2] 

  

a32:<dhi, vk c63 > 3 INIT INPUT: 
dk ak , vk 960 ; fetch(INIT-MEDIUM); 
qq e10 , pa 3a14 ; medium:= false; 
am b’7 =, hs 2414 3 --INTT MEDIUMCInput areaword) ; 

<dhi,hv alo NZ ; if R +0 then alarmprint({label}) ; 
pm b37 X 3 Raddr:= Kind(out areaword); 
tl -7 » hv b38° 3 © go to init input{kind(input areaword) J; 

> 

e2h: pm ic » gm v0 3 init drum input: inbase:= track; 
<ali,ne 0 » hv 033 3 if Raddy = drumA ::>- 
> arn bl » sx b0 3 dinbase < outbase then 

hv a33 LT ; begin ree 
pm b7 » gm v6 ; reverse:= true; 
grn b7 > pm by 3 backward:= T3"forward:= 0; 
din b8 » ac v0 3 R:= inlength : 40; inbase:= inbase + R; 
ac bl > Pm bi ; outbase:= other end:= outbase + R; 
em bik MB ;  --end3 

<a4i,hv a33 3. go to MOVE ON; 

e25: pm 20831 X 3 init disc input: inbase:= cur block + 13 
ar be5 , gr b23 3 us 
xr » ce 1 3 if Raddr = disc A 
xr » Sr beh 3 “inbase < outbase A 
ar b45S  , pm v4 3 outbase < 
hv adh NT ; ‘-‘inbase + inle : block length 
din b10 , tk 18 3 then alarmprint(toverlap]) ; 
ar b23. , sr beh; 
hv alti NE 3;  -: pee eas 

>adh: 3 if e18 then begin 
<e18,pp (4a31) , it p 3 cCheck:= check Diock; 

pt bid , it p-16 3 wunit:= check block - 163 
pt b20 , arnb23 3;  transfer(check+16,inbase) ; 
il p-16 , hv a33 $ go to MOVE ON end; 

><a, — 
e26: pa c66 + ceH2 3 init carr input: 

pa c67 +t c-3 3 prepare get word; 
pa c68 tt) at Bootes 
pa e735 +t ext 3 go to MOVE ON; 
hv a33 3 

e27: ne 3 » Ov a35 3 init tape input: 
am bif— , ck 10 3 if Raddr = tape A nes 
ne(4a31) 5 hv 035 3 output unit = input unit th 

ali: aq ba43 , hs coh ; alarmprint(f¢overlap|); 7 
a35: arn 4a2" , gt b16 3  check:= check block; 

ck -10 » Bt bI5 3 unit:= read block; 
am b4B  , ud bI6) =; ~~ ~transfer(param); 

> 

a3: 

 



    

  

{[15.6.67] [move/move on, take param] [page 3] 

am b5: , sr bl: 3; MOVE ON: it outlength < inlength A -, tape output then 
b31: hv alo LT 3; alarmprint({length}) ; — | 

sm DET , pp r- 3 next action: inputs: :- 
0 hv alo LZ 3; if inlength = 0 then alarmprint({length}) ; 

er bi > er b5 3  iInlength:soutlength:= -inlength; 
pi O » hv eld 3 #£1ZAs= false; go to SWITCH STATE 

{take input param, take output param: ] 

e19: gs a36 , hs ¢52: take param: :' 
hv a37 , ne 50[bd] s; number: go'to' ERROR; single: if R:= <b> 4 then skipline; 
hv a37 , hv a38” end list: go - go to ERROR; text: go to store word; 
pp pl, am pl pi= p+ 17 Ris paramf pti]; 
hv a37 LC if ena(RS + numb then 
hv a37 NB ; ERROR: alarmprint(¢parami})3:°°° +: 

a38: hv a37 LT store word: if kind(R) <0 then go_to to ERROR; 
ga bl6 , tl -2 kind:= part 1(R); 
ca 1,5+d32.7 t 512 
amdit+dhs5, hh ri 

if R = work area A take output then 
“—R:= work as output; 

  

  

  

  

3 

3 

3 

3 

3 

3 

3 

3 

3 

3 
tl 2 >» ev (a36) ; 

<dh1,t1 -7 3 cellls]:= R; 
o ga a39 , tl -25 3 M:= blocks(R); 

a36: ps [s] » tin -23 3; ~~ cell{s+2]:= set marks(medium table 
a39: amlkind] t e30 ; [kind(R) ]}); 

er (s2) D 3. store input or output action; 
ud s1 , ud si 3 Ms=M mit 
min b8 [40] NC ; (if NAA NB then 4o else 
min b9 [400] Lc ; if LA A LB then 400 else ve 
min b10[453] LA ; if LA A NB then disc block length else 
t1 9 [512] IB ; if NA A LB then 512 else not possible); 
em si > hv s3 3 ~— 

xa36:ps [s] , tl +7 3 cell[st1]:= M; 
ne 0 » hv a37 3 ~~ return; 
tl -25 , tin -23 ; 
em s] » hv se 3 

> 

[constants: ] 

<a, 
b8: aq 40.39 3 track length 

& b9: aq 400.39 3 block length, tape 
b10: qq d53.39 > 7 -  , disc 
b2e5: qq ss 1221 3 block increment, disc 
bh5: qq1550.39 3 input buffer length 

b4i: tfault; ; 
bhe: Tlabel; 3 
pea: toverlap 3 3 

ake: qq ble , hs coh 3; 
xb4O: . 
> + 

bik: tparam; 
big: Tlength; 

Ne
e 

w
o
 

cah ahO: qq bug, hs 

w
e
 

 



ly   
  

[13.6.67] [move/drum input-output] [page 4] 

[drum input description] 

bO: qq [input base.39] 
[p-1]ik (b2) +t 4o 
e0: aq bt » hv et3 
{pi] hvf a0 

input instruction 
input length, endaction: SWITCH STATE; 
next action: OUTPUT [fmark] w

e
 

‘w
a 

Ww
e 

[drum output description] 

b1: aq [output base.39] 
[p-1]sk (b2) +t 4o 
el: qq b5 » hv eth 
[pl] 

output instruction 

outlength, endaction: EXIT 
next action: INPUT [no f mark] W

o
 

Ww
e 

wo
 

[drum I-O driver: ] 
DRUM: a a 

for i:= ] step 1 until 10 do 5 begin 
~Iword:= buf base - 40; ~~ 

aO: pa al t 9 
<d4i,pa b2 t e10-ho 
xbe: paliword]Dt 610-0 

  

No
e 

Ww
e 

Ww
e 

Ww
e 

> 

a2: arn b6 > Sc pe base:='base - backward; 
pm p-2 , hs ¢3 else begin select track(base) ; 
arn b7 > ac p-2 basé:= base + forward; iword:= inword + LO; 
arn(p) > ud pel execute read or write end; 
ar 8 » er (p) R:= length:= length: +:‘F0; 

al: bt [i] Vt -1 Lf? if:length > 0 then go to wrapup drum; 
<ahi,tk 30 » hv alt end; 
Xx hv p 

> hv a2 ‘ 

e13:b12: pm pl , pp e0 ) [an] SWITCH STATE: p:= if © Bmark(celi[p]) 
b13: pp ei [out] LB ‘then output descr else input deser}; 

  

Ne
e 

‘o
w 

We
 

ee
 

We
 

W
e
 

We
 

te
e 

te
e 

We
 

We
 

bo
 

vk oO” » hv pl go_to action[p]; 
<a, 

  

  

  

al:b2: aq [iword] + 4o 3 wrapup drum: iword:= iword:+:4O; «9°: 
[1b2]se be » ps (b2)) 3 wrepup: for j:= iword - R step 1 until 
[-2] can s-400e10 , hvp 3 ‘buf top do puf[j]:= 0; 

gm s M 3 go to end action[p]; 
ps si y BV reB > po Terres 

b6: aq 3 integer backward, 
bv: aq 1.39 3 forwards; 
<-d41+1,b8:> 
bil: qq 1.39 3 track length no buffermedium case 
bi4: qqlfirst out block.39]; also block count 

el4: srn r > hs c2 3 EXIT: get catalog track; 
arm bl > pm bit 53 R= output base; M:= set marks (other end); 
aq xX IB ; if LB then swaps: s: 

? 
b46: pi [kind] , hv c74 Im := out | kind; go_to ADJUST SPECIAL;



  

[14.6.67] [move/disc-tape- 

[tape input description] 
<d41,qa €10.9+400.19+1550.39 
b48: aq 400.194+1550.39 
b15: qq bb » il ; 
b16: qq b6 » i 3 
e2: hv eld , il O 3 
{p1] qaf o » hvf a5 3 

[tape output description] 

  

input-output] [page 5] 

input length, check 
increment = 0, transfer B < -T 
endaction: SWITCH STATE; transfer F < -B 
next action: OUTPUT 

[p-4] gq ©10.9+400.19+3100. 39 
qaf 400.19+3100.39 

bI7: qq b5 ; il 
b18: qq b6 > ps 
e3}: hv a23 , us 0 
(pil aq +1 > arn b7 

ac bik , hv ad 

We
e 

Ne
e 

W
e
 

W
e
 

wo
o 

> 
[disc input description] 
<e18,qq €10.9+400. 19+1550.39 

out length, check 
increment = 0, transfer T < -B 
endaction: TERMINATE TAPE; transfer B < -F 

bloek count:= block count + 13 

b23: aq 400.9 [+input base.21] + 1550.39 
b19: aq bi » il 
b20: qa b25 Al 
e4; hv e13 , il O 
[p1] qqf o , hvf a5 

‘e
e 

Ww
e 

Ww
e 

we
 

[dise output description] 
aq €10.9+400. 19+3100,.39 

b24: qq 400.9 [+output base, 
bel: aq b5 , ii 3 
bee: qq b25 ; us 3 
e5: hv ag ,us 0 F 
{p1] 
> 

[disc-tape-I-0 driver] 
<dhi, 
ads: aq ~-1 Vv 3 
ele: ps si » B e115 3 

pm pl x 3 
ne 0 » hv 2&8 3 

el6: pa a6 » hv aft 3 
a6: bt 0 t -150 ; 
a26: qq bhi, hs coh; 

am p-3  , ud pel ; 
us $832 IB ; 

aj: arm b35 , ud p-2 3 
il » arn b34 
hv afb LT ; 

e15: nen 0 > hv (r) 3 
am(p-1) , ac p-3 ; 

a8: amp-l ,ud p 3 
am ped, ud pel 5 
us s IB 3; 

am(p-2) , ar bo ; 
er (p-2) , pa pl 3 
hv el3 Iv ; 
pa b2 t 400 e10_—s'=+ 

3 
tk 30 , hv 1b 

input length, check 
increment, transfer B < -D 
endaction: SWITCH STATE; transfer F <- B 
next action: OUTPUT 

21] + 3100.39 
outlength, check 
increment, transfer D < -B 
endaction: TERMINATEDISC; transfer B < -F 

SENSE: only sense:= true; 
  

DISC: TAPE: Pe 
if: first out then begin first out:= f 8e3 
go to TEST; rep:= 03°go to SENSE;:. ~~ 

> rep:= rep + 13; 1f 37< rep then 
alarmprint(¢fault|) ;— 
transfer(param) ; 

TEST: card 
if-sense status (check) <0 then 
“go to ERRORs:':: 
if only sense then return3 

INIT TRANSFER: param:= param + incr; 
transfer to or from core (param 1); 
transfer (param) ; 

  

ore ee 

if length <0 then go to’ SWITCH STATUS ; 
Iword:= buf base + WOO} go to wrapup; 
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[other input driver] 
<diii, 

e e6: hv el3 3 endaction: SWITCH STATE; 
s [pi] paf b2 tel0 -1 3 next action: output; 

pa ad Vt =399 3 iword:= buf: base +-13° Vs 

al0: gr bk: 3 for'i:= 1 step 1 until 400 do 
a9: bt -399 t 1 3 ~ begin | 

hv ei2” 3 Tword:= iword + 13 
hs c71 3 

hv ath NZ 3 buftiword] := get words { 
qq IRC 3; comment including marks; 
em (b2) +t 1 MRC ; if R £0 then alarmprint({fault|); | 
am bi » ar bil 3 Inlength:= Inlength:+:13°° 
hv aid LT 3 if’ 0'< inlength then begin iword:= iword + 1; 
hv (b2) Dt 1 3°‘ go'to wrapup end end; | 

3 go to SWITCH STATE; —~ 

[other output driver] 

d e7= i+] : 
Tp1] pa b2 + e10 -1 3 next action: INPUT; 

@ pa alt: t -399 3 iword:= buf: base +'13° ' ' 
= ali: bt -399 t 1 3 for'i:= 1 step 1 until hoo ¢ do 

hv e13 3 “begin 

pm (b2) +t 1 #424XIRC; outword(buf[ iword]) ; 
hs ai2 3 outlength:= outlength + 13. 
am b5 , ar bil 3 if:O'<‘inlength then 
gr b5 3 “go to END OTHERS — 
hv all LT ; ‘end; 
hv a27 3 go to SWITCH STATE; 

ale: gem aid MRC 3; outword: loc:= R3 
am bill , ar até 3; bufad:= bufad + 13 us(loc, bufad + 3100)3 

all: us > er al6 3 
sr b26 3 if blocklength - 1 < bufad then return; 
hv si LT ; TYep:= 03 3 

pa a3 3 next block: ‘ 

aid: bt O t ~-120 3 rep:= rep + 13 if 3 < rep then 
atl: aq Bur , hs coh 3 alarmprint(tault|); 3 
peg: arm b28 Og us 7: 3 write block(unit, paremword) ; 

@ b30: arn b35. , il 3B3 3 if-sense(check) <0 then 
il » arm bau =) go to next block; 
hv al3 Lt 3 
arm b27 , ac b28 3; ~ #paramword:= paramword + incr; 
amal7 , bh alt 3; bufad:= -13 return; 

al5: aq ; 
al6: aq a15.9+1.19+3099.39 3 
al7: aq al5.9+1 » 19+3099 39 5 

b26: qq a15.9+1.19+3611.39 3 block length + core[ai7] 
bey: qq 1.9 3 increment 

p28: qq 1.19+3100.39 3 paramword 
> 

@   
 



  

[15.6.67] [move/wrapup devices] [page 7] 

[endactions for buffermedia] 

<a, 
4 pau: qa 3 status word 

b353 qq b34.9+1.19 3 get status word 
b36: AGED 5415011415 0 174150235415 20415. 3543.39, 
[1036] qq b36.94+1.19 
[2036] qq 1.19 wo

o 
W
e
 

a23: vk 960 , hs e12 
arn 1b36 , us 

TERMINATE TAPE: SENSE; 

transfer filemark to buffer; 

  

  

o 

? 

pm 2b36 X 3 param:= write filemark; 
er p-3 , ud p-l 3 transfer(param); 
us Ss » ns ele 3 #£SENSES 
vk dill » ud p-1 ; rewinds 
us s64 , ik c¢ 3 fetch search from parametertrack; 
vk dail, vk (c5) 3 fetch catalog track; 
vk (ch) , Ik ath; 
vk (ch) , hs a20 3; backup; i 

[-1] hs a20 poof | 
hv r-1 NA ; while NA do 5 backup: 3 

é hs a20o 3 ~=— backup3' i 
~ hs c15 NA 3 if NA then get word; 

pm bit =, tl 23 3 ~ i 
am(cl5) , ck 8 3. storefiword]:= store[iword]'A 
tl 16 , ck 16 3 8m16016m V (block count pos 23); 
er (c15) , hs 8 3 sum track; write: track; | 
sk dik , hv b46 $3 inz= out kinds go to ADJUST SPECIAL; 

a20: arn(cl5) Dt -1 IZA ; procedure backup; begin comment JJ; °°: 
ne dik-i , hv a21 3 iword:= iword - 1; if iword’< ai4 then i 
pm (ch) DXt-1 M 3 begin track:= track: “13 
ca =] » ac ec} 3 If track = -1 then begin track:= 9593 

pa ch t 959 NB ; group:= group = 13 end; 
qa (c8) +t =2 3 reltr:= reltr - 23 ~~ 
hs e@5 ; read tracks 

pa ci5 t+ 38a14 ; iword:= di + 38 end; | 
a2i: pm (ci5) , hr si 3 set marks(store[iword]) end backup; 

I 

a27: am al6 , sr al? 3 TERMINATE OTHER: 1 
@ psn a27-1 V NZ 3 while bufad + -1 do outword(0) ; 

arn b28- =, hh a22 63 ~—=«go to EXIT; 
hv aia X IRC ; 

> 

<e18, | 
ae8: hs e12 TERMINATE DISC: SENSE; 

i 
ale: arn be =, ck «410 

tl -28 , ar bil 
ger bl >; hv et4 

go to EXIT; 
  

Ww
e 

‘o
o 

e
e
 

e
o
 

  
 



  
  

  
e 

[16.6.67] [move/medium actions, end of the tape] [page 8] 

<dht1, 
e303 
{Table format: 

aq init input.9+init output.19+input driver.29+output driver. 39 
+ block length code. 41 

[0] aq e2h.9+e20.19+e0.29+e1.39 3 DRUM 
Lil aq e25.9+e21.19+e4,29+e5.39, 3; DISC 
[2] qqfe26 .9+e22,19+e6.29+e7.39 3 CARR 
{3] qqfe27 .9+e23.19+e2.29+e3,39, 3 TAPE 

> 

d i=i+39, d=k-d1 3 d = no of tracks 
b k=dh2, i=0, a10 
d al=d19-960 al= group no for image 
a a=d, <d35, a=1 > = a =no of blocks Wo

e 
wo

 
we
 

  

  

  

<d39, 3 if aux only then 
d i=d2 gos 
~ hs 1 3 begin 

hv a6 3 ' 

tmove 3 3 move, b load place, move < 

gq 50, 3 
aqf 4.23+d1.39+a1.29-a1.33 3 
timove 5 3 

gar, 3 

a6: hs 1 3 
hv a7 3 
tsetsum; 3 setsum, move < 

tmove 3 
qat, porn 

dad de=i 3 end else 
al: hsf 2 ; 
x 3 
d i=dh8 3 
~ dq d35.2+11.7+d36.5+d.23+d1.39, 3 load to primitive catalog; 

qq, 3 
tmove 3 > 

a dh8=i 3 

~ gat 3 
> 3 
ad di=d+di 3 
e 3 
e 3 end of outermost block 
(STOP, SUMJo imove 

ey
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sd <=d554+1, i version 

s 
? 

[STOP, CLEAR] 

b k=d1, izhoath, b67 
d b33=d14 

b a39 | 
[40a14} pp =) , vk 960 3 procedure get param track; 

vk dij , lk O 3 begin read param track to cell 0; 
vk O , arn p2 3 if first param=exit then goto HELP; 
sy 58 , sy 64 ; IC; CR; 
hv «9 . IC 3; 
pa b16 , hr 582 3 end get param track; 

b53: 3 ENTRY PRINT: 
<d35-2, us (-31) t-96 > 3 rewind PRINT 

é bO: ga 0 . hs 40d1k 3 next print list: get param track 
b60: sy 59 , sy Oo $} entry from PAIR: 

aO: pp pi , arn pl 3 get first param: 
hv «9 Lc 3; if exit then goto HELP 
hv a8 LB 3 if number then alarm({<param}); 
hv a5 LA 3; if single then goto single; 
pa al t e6 3 text:={<under}; 
pmn c69 DX IZA 3 
gp 4oaih , hs c2 3 store p; search; 
pa at te7 NT 3 if RCO then text:={<catalog}; 
hs c2h NZ 3 if REO then alarn( <text} ); 

a1; qq 0 , arn pt 3 
tl -6 , ca = 3 
pe pl . bh at: 3 count p to end of name 
it 1 3 
aq (40a14), hs c23 3 writetext(name); 

a2: arn 2c gr bhO 3 set: set actual area; 
tl -7 , ga vb8 3 set kind; 
ca O i hv at5 3 goto kind 0; 

6 <d41, ca 1 /hv at6 3 goto kind 13 
- ca 2 hv at9 $3 goto kind 2; 

ca 3 / hv aif 3 goto kind 3; 
> aq e8 vhs c2h 3 alarm({<kind}); 

a5: ne 50 . bv ab 3 single: if - B then goto test image; 
pp pl . arn pi 3 
hh a2 IB 3; if base then goto set; 
arn a39—i‘«ysgr:«CéDHKOsi‘=;——its ACh. areat=buffer descrip 
pa v8 - 3 kind:=0; 

at: arn b4O =, sr a39 3 test image and buffer: 
hv a6 . NZ 3 
qq a32 , hs ¢c23 3 writetext({<buffer}); 
arn a38 , sre 3 
er buh it 1 3 blocklength:=4096; 

a6: pa b22 , pp pel 3 boobuf:=act.areasbufferword; 
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4b . 

arn b39—s«yg. sr bhO 3 
it 1 IZ 3 booimage:=act.area=image area; 
pa bd , arn bO ; 
ar b22 : £& b3Z 3 boobufVimag :=boobufVbooimage; 

af: pp pl , arn pl 3 next param: 
ca O , hv af 3 if O then alarm({<peram}); 
ca 36 , hv a28 3 if m then then goto set group trim; 
ca 35 » hv a25 3; if it then goto char per line; 
ca 22 ,hv a2ko3 ifw then goto words per line; 
pa bi1 , ca 32 ; extra:=talse; ct 
pa bl , hv aq 3 if = - then ad addr print:=false; 
ca 39 3 
psn b27 Ize 3; if p then 

; Bein ZA:=Z2B:=true; form:=program end; 
ca 44 » psn bid 3 if r then form:sreal; 
ca 54 ,psnbi2 $3 if f then form:=fractional; 
ca 57 , psn bi0 $3 if i then form:=integer; | 
ca 55 ,psn bith 5 if g then form:=group; 

é ca 19 , psnbi6 3 if t then form:stext; 
ca 51 , hv bi7 $3 ifc then goto PRINT CONTROL REGISTERS 
gs b9 Vv IZ 3 set form; 

: aq e5 /hs c24 3 if wrong param then alarm( {<param} ); 3 
a9: pp pi , arn pl ; after single: — 

hv aiO Ie 3 if endlabel: then’ gcc empty intervals 
hv att IB 3 if number then’ g goto number; 
hv ald NA 3 
ca 49; hv 018 «3 Af a then goto PRINT ARITH REGISTERS 
ca 37 ,hv a2g9 3; ifn then goto no relative; 
ca 23 , hv a30 3 if x then goto extra precission; 

aiO:grn b45. ss grn DUG =—sos_ empty interval: 
gern b47 ss pp pel 3 at=bis=bj:=0; pr=p-13 
can(b3) , hv rh 3; if boobulvinage then 
bs (bO) ; pm a37 3 =if booimage then 1023 
bs (b22) ; pm 038 ; else 4095; 

a3: gm b48 , hv aiZ 3 else “Re. =bLocksxblocklength-1 3 
pm blo 326, tl 7 ; 
tin -23 , arne 3 Length:=R3 

& m. blk - hv a3 3 
altsarn pi , gr b49 = gs number: 

bs (b22) , hv ath 3 if boobuf then goto set buffer interval; 
ca 0 , hv ai2 3 if a=0 then goto no change; 

| |   
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& 
ck 20 , ne O 3 ' 

hv ai2 © 3 Af cfO then goto no change; 
ck -10 , m a37 ; 
eck 10 ,ac blo ; Ci=a3 

al2:arn bug 3 no change: 
ck -30 ,. mb 437° 3 
xr , min b4h 
em b’5 , arn bho 3s at=(axblocklength+b) sblocklength; 
ck -20 ; mb 237 3 
gr bu7 , ar bis ; pd iekaxblocklengthtp )mod blocklength; 
xr , Qin b’k 3) birs 
gr b45 ; em bu6é 3 
arn bD49. oy ck «6-105 
mb a37 , sr bl5 3 
gl r3 xX 3 
min b4u4k x IZA 3 
ar 512 OD NZA 3 
pi oO xX 3 
arn Big => gm bg | 
mp ast , sr b’u6 3 length:=(c-a8)xblocklength+d-bj; 

big. gr bus; 
at3:ar arn b45 , ar buO 3 end test interval: 

gr b50 3 mod area: actual areatas 
arn p2 . gp 40aik 3 store p; 
hv be I 3 if ~, bmarked then goto INTERVAL 
hv b2 NB 3 
aq (4oa14)° + 1 3 else bi:=param; 
er blu7 ; hv b2 3 goto INTERVAL} 

atk:tk -20 ; gr bkl7 3 set buffer interval: 
er bh6 3, ar buO 3) bire=bjr= 
gr b50 , arn bi9 3; mod area:=areatb; 
tk 20 , ck =20 © 3 
sr b46 | gr bhS 3° ~ length:=d-b; 
gern b45.  , hv 20813 3) atsO3 

al5:pmn b4O Os tl 23 3 kind O: 
tin -23 , dln ct 3 

sé gm b4’g  , ar celts 3 
qa b43 = hs b30 «3 ~— print group number}; 
am b’9 , hs b36 3 ~=©print track number; 
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pm adh | gm pbk 3  blocklength:=40; 
, hv ad ; oto get first param; 

<a41,  124/4/12b ; een wens 
al6:pa a2 tai6-2 3 kind 1: set layout; 

pmn d53 DX 3 
cl 10 » hh a20 $3 Dbilocklength:=dise block length; 

al7:pa a21 ~- t a18 3 kind 3: set layout; 
ai8:pm a35 , hh a20 3 blocklength:=400; 

124/4/5/7» - 3 
al9:pm a36 , it a23 3 kind 2: set layout; 
a2cOipa a21 ,; gm bah 3 blocklength:=512; 

it (b14) ; pa a22 3 store group trim; 
a2izit 0 (pa bi4 3 layout group trim 

b1: arn BIO. sj hs bik «63 ~— print various 
a22:it 0 , pa bik $3 reset group trim; 
a23:sy 59 , hv ad ; 

12te/'+/2/6b 3 
b 3 

os xb1:> 3. 
a2h:pa a27 +t dT 3 words per line: 

pt b5 , hv a26 3 boochar:=false; addr:=words per line; 
a25spt a27 + b6 3 char per line: 

pt b5 % 1 3 boochar:=true; addr:=char per line; 
a26:arn p2 , tk 30 3 oo 

hv a8 NB; if -,number then alarm({<param}); 
a2figa O 3 addr:=number} 

pp pi . hv aq 3 goto next param; 
a28:it pi , pa bik 3 set group trim: 

pp pi , arn pi 3 set addr first param-1 
hv re . IB 3 skip b-marked 

pp p-1 , hv al 3 goto next params 

a29:arn b27) =D IZB 3; no relative: ZB:=false; 
ne s ,hs a8 3 if formtprogram then alarm({<param}); 
hv a9 3 goto after single; 

a303arn s D 3 
ca b12 , hv 4x3 3 extra precission:: co 

@ ca b13) , hv v2 3 ~~ Af formbr/formbfAformki then 
ne b10  , hv af 3 alarm({<paramp); 
ga bi , hv ad 3 extra:=true; goto after single; 

a32:tbuffer; 3 
a3h fo 3 
a35:400 3 
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a36:512 

a37:1023 

a38 34095 
a39:qq b33.9 + 1.19 buffer descrip 

3 
3 

3 
3 
5 

b ath 3 INTERVAL: 
b2: arn b46 sg «tk «20 3 set addr first cell 

gt b26 , pm b50 3; ms 
can(b8) ; hs b21. ; if kind=0 then get track; 

<du1,  can(b8) , hv a2 3 ™ “ee 
b62: pp c-1  ; vk 960 3. set core base; 

vk c63 ; 1k O 3 
vk 1c63 =, lk 4O $ read init. med. to core; 
vk O ‘ern c81-c283; clear label check; 
gern b49.s pa 3 F 

¥ b61: xr o , pme80-1¢c28; set buffer base; 
gme80- 1028. hs init. medium; 
pm 029-028, pp (b62) 
hsn b37.—,_ sr buG 
hv a2 IZ skip first bj words 
hs -26 ~- 
srn e , ar bg 
gr bug, bh rol 

> a2: pa b23 1 first:=true; 
b63: [hv b65 PAIR first run instr ] 

{hv b66 PAIR second run instr ] 
ad: pa ag ; pa atl words left:=char left:=0; 

a6: pp 14 , arn b9 each:=1h3 
ca b16 |; pp O if t then each:=0; 
bs (b11) ; pp 21 if x then each: 215 
ca b27 , pp 26 if pn t then each: =26; 
ep atk | ca b27 
pa ail t 38 LZB if p then each: =383, 

new’ Ww block:   9 b3: bs 0 , hv a7 if boobufVimage then goto same block; 
pa ad , pa alt words left:=char left: =O03 
sy 64 , arn bl5 CR; 

bh: bs 1 hs b36 if addr print then write({adda}, a); 
srn é , ac bls as=at13 

b5: af: arn att ; bs O same block: 

arn a9 , sr ath if boocharA\char left>each 
hv aid . LT “Veiboo char per LineAwords left0 
ca O , hv ato then 

we 

No
e 

o
m
 

W
e
 

So
e 

We
e 

ta
e 

W
e
 

s
e
 

We
e 

W
e
 

W
e
 

w
e
 

W
e
 

L
e
 

we
 

e
e
 

W
e
 

W
e
 

W
e
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e 

G
e
 

ee
 

We
 

We
 

W
e
 

w
e
 

w
e
 

w
e
 

nt (b28) , pa ri 
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@ 

aq 0 , hs b20 ; begin space(sp); goto same line end; 
a9: aq 0 , hv ai2. 3 = 

b6: alO:it O , pa ad 3 char left:=char per line; 
bi: it 7j , pa att ; words left:=words per line; 

alliaq 0 , sy 64 3 CR; 
can (b4) ; hv a12 3 if -,addr print then goto same line; 
arn bu7 =, hs b36 3 write({dddd> ,bi)j~ 
bs (b3) , hv a12 3 if boobufVimage then goto same line; 
arn b46 hs b3600«3—s write({ddda},bj)37 

al2int (atk) | pa b28 3 same line: printed:=-each; 
v8: can O »hs b22 3 if kind=0 then get word kind 0 

bs (b8) , hs -26 3 else get word; 
b9: hs O X 3 write(form, word)s 

can (p23) . hv atk 3 if firstAg then 
arn b9 3 begin 
ne bik , hv ath 3 “eacht=printed+16; (i.e.printed+2); 
it (p28) , pa ath ; spi=23 
qq (ath) t16 3 

@ pa b28 t=2 3 ends 
atkint 0 , aq (a9) 3 char left:=char left-each; 

aq (all) ~~ te 3 words left:=words left-1; 
srn e rac biG $3 bg:sbjt1s bi:=bi+1; 
ac buy , sc b4S $3 length:+length-1; 
pa b23 , arn bs; first:=false; 
hv »bO - IT 3; if length<O then goto next print list; 
arn bu6—, sr buh 83 =f bj=blocklength then bj:=0; 
hv a7 NZ 3 if bj+O° then goto same block 
ern bh6 i, hv. b3 3 else goto new block; 

e 3 
o 

b a26 ” 3 FORM, NUMBER and TEXT 
b10: bs (b11) , it a5 3 integer: 

pa az t al 3 set layout; 
gr bg IRC 3 save marks 
gs a26 , anmnbl9 3; save s 
tl -39 , dl a6 3 Rs=abs(nutber):1000000; 

@ hv at . Ia 3 if R=O then goto small number; 
b11: bs O ,hvia 3 . mo 

aq (a3) t 1 3 if -,extra then layoutadr:=layoutadr+1; 
hv al 3 goto small number; | 

a: mt blO , gm big ; number :=abs (number )mod 1000000; : 
| sy 0 NI 3 if pos then space; 

aq (b28) ti NT;   
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6 aq (b28) t1 3. count printed; 
qq a5 , hs b30. write(taaa adat , R)3 
pa b15 © Gt 25 3 set leading zeros in print routine; 
sy 0O ; hv a2 3 goto second part; 

al: can(b11) ,; hv a2 3 small number: 
aq 8 rhs b20 3 if extra then space(8); 
it 8 , aa (b28) 3 printed:=printed+8; 

a2: arn b4g 3 second part: 
a3: aq 0 , hs b30 3 write(layout, number); 

pa 515 t 26 3 reset print routine 
hv a26 3 goto write mark; 

a: aq 6.346.741.2941. 144+6.233 f-saaea 
Qq 4B 74191 1h 1.1744. 233 -ddddy 

a5: qq 6.3+6.7+1.144-3.23+3.273 {ddd aaa} 
a6: 1000000 ; 

3 

b12: bs (b11) , it a9 3 fractional: 
pa a7 t aS 3 set layouts 
gs a26 IRC 3 store s, save marks 

X a7: aq O _ hs b31 3 = write(layout, number); 
hv a26 3 

aBt qq 4.341.741 .943.61341 0145017416 1945.23; {-d.dddy-dda} 
BD GQ 1065416741090 134 16 T4430 1741 1945 2343. 27430313 

3 {-d.ddd ddd dddy-dda} 
b13: bs (b11) , it a9 3 real: 

pa ato t a8 3 set layout; 
er big - IRC 3 save marks; RF:=R; 
arnfoug9 , gs a26 3. save gs; 

aiO:qqg 0 , hs b32 3 write(layout, number); 
hv a26 ; 

3 

bik: it a21 . pa al5 3 group: set mask addr 
gs a2 © IRC 3; store s3 
er bho ; hvn a15 3 store R3 goto take masks 

al3:pa ai7 , arn a21 3 skip:=03 
aik:tk 10 , ck O 3 next pos: mask:=mask shift 10; 
al5:arn O t1 IZ 3 take mask: R:=mask3 

@ ga al6 V LB 3; set group length 
~ pa 2817 , hv a26 3 exit 2 2 2 tts 

al6:bs 0 - t 99 3 if grouplength>99 then’ begin 
ga al? ,; hv ath 3  skip:=grouplength;' goto next pos end; 
ca O , hv ath 3 if grouplength=O then goto next pos 
gr a21 xX ; else store mask 
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0 

mkn a18 =, mb «a20—$ 
tk 2 , ar al9 3 construct layout 
er b52 , pm bug; 

bs (a17) X 3; if skip>O then 
al7:tk Oo ~ % =100 3 “skip:=skip-1003 

cl (216) , gr bg $3  munber: =numbershift(grouplengthtskip) 
hs b30 X 3 

qq b52 =, hv al3) 3 ~— write(layout, numberpart); 
ai8:qq 154 3 
a19:qq 1563426741. 144+-15.233 
a20:qaq 15 3 
a21:0b ; 

10/10/10/10b 3 | 
3 

b16: bs 0 , sy 60 3 text: if lastcase=UC' then UC 
hv aah LZ 3 again: “if R=O then goto “out 
el 44 ~ ek al 3 digit to RA 

~ ne 10 , ca 45 3 if RA*7TOVRA=15 ‘ 
= adh:sy 58 , hrs st ; cut: then begin IC; go back end; 

ca 63 , ar a25 3 if RASO3 then RA: fh, 
ca 60 , ga bi6 3 if =60 then lastease :-UC 
ca 58 , pa bi6— 3 Tf RA=58 then lastcase:=-,UC; 

a2dsiga ri », 27n ; writechar(RA)} Swap$ 
sy 0 , hv 1b16 3 goto agains | 

3 
a26ips 0 , arnr 3 writemark: 

ca b19 , hr si 3 if REGISTER PRINTAM then go backs 
can s-bi , hr si 3 if blockhead then go pack; 
sy 27 Vv NRC 3 

sy 49 V NRB 3 4write abc or comma 
sy 51 Vv LRC 3 

sy 50 IRB 3 
hr st 3 BQ back 

€ ; 
3 

b ab 3 PRINT CONTROL REGISTERS: 
@ b17: pmn b39—is«y ~hs «=2b21)— 3s get’ first image track 
~ sy 53 . arn 9b33 3 fritetext (teh); 

sy 56 IB 3; if b marked then writetext({<h}); 
aq a6 rhs b28° 3 write({p},cell 9); 
sy 0 , sy O 3 space(2); 
pm b38 ,; hs b21 3 get last image track 
sy 39 ; arn 36b33 3 writetext({<p}); | 
gp 4hoaiu =| hs a5 3. «store ps3 out(p); ‘ 
sy 18 , arn 31b33 3 writetext({<sb); 
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~ 
hs a5 3 out(s)s 
sy 55 , arn 25b33 3 writetext({<g}); q 
hs a5 - 3 out(group); 
sy 19 y sy 34 ; writetext({<tkb); | 
arn 26b33 , tk 10 3; ' 
hs a5 - 3 out(tk)s; 
arn 26033 ;, ga al ; 
sy 50 , sy 2h 3. writetext({<by}); 
hs aj - 3 out and bit(by); 
sy 0O , sy O 3 
sy 57  ; sy 37 3 writetext({< inp); 
arn 27633 , ga alt 3 1 
hs at 3 out and bit(in); 
hv bO NKC ; if -,kaA\-,kb then goto next print list 
sy 34 3 weitetext({<kP)} a 
sy 49 Vv NKB ; if -,kb then’ Bet fer | 
sy 51 V LKC ; if keAkb “then writetext({< 

~ sy 50 LKB; if =,kaAkb then writetertt {of 5 
= hv bO $ "* Boto’ next print list; 

al: hs a5 3 procedure out and pit(no)s integer no; 
pa az t9 3 begin out (no); 

a2: arn al , tk 1 3 
sy 1 V IT ; if bit then writetext({<1}) 
sy 16 3 else writétext({<o}); 

ad: bt 0 ta 3 
al: qq 6 hh a2 3 end out and bit; 

sy 0 , hr si ; 
a5: hs b28- $ procedure out(no) 

qa a6 . sy O 3 begin write({p},no); space(2); 
sy 0 . hr si 3 end; 

a6: aq 4.341.741.6941. 1145 233 Tp} 
3 

b18: gp 4oa1h 3 PRINT ARITHMETIC REGISTERS; 
pm b38 ; hs b21 3 get last image track; 
sy 60 , sy 41 3 writetext({<Rp); 
arn 356353 , pm 32b33 ; | 

w~ sy 38 LB 3 if overflow then writetext({<a}); 
tl 39 , pm 30b33 me 
sy 14 LO ; if IO then writetext({<t ); 
sy 2 , IO 3 
sy 58 , hs (b9) weite( layout, R)3 
aq a8 » hs ¢c23 3 writetext({< wb) 
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p19: 

ay: 
ag: 

b203 

bat: 

arn 30b33 

arn b9 

ca b13 

ne 1613 

aq a7 
arn 32b33 
erf b39 
arn b39 

RF; 
t M; 

it (s) 
bt 0 
sy O 

hr si 

tl 23 
din c11 

tk 30 
cl =-10 

vk (b24) 
lk »b33 
hr s1 

b a2 

b22:_ 
b23: 

pak: 
b253 

b26: 
ai: 

aes 

bs O 

bs 0 

arn b46 
hv at 
pa ail 
vk 0 
vk O 

is (b25) 
bs s=4hg 
pa b25 

vk (b24) 
pmn 0 
hr 31 

arn b50 

srn e 

pmn b33 
‘ e 

d 419=419-960 
AQ 119.29-d19. 53441663925 2359; 
QQ 26.23+d19.29-d19.35+d16.39, 

b38: 
b393: 

bho: 

. hs (b9) 

“hv re 

- hv bod 

hs 24 

pm 30b33 
ps bom 

hv b13 

pa ri 
te 

hv re1 

tin -23 
ar et 

- ga beh 
- ga be5 

vk (b25) 
vk O 

hv a2 

, hv ia 

pt b26 

NZ 

t b33 

1k b33 
t1 

- £510 

4 

, it 1 

it 0 
+1 

‘ail oO 
- ac b50 

hv r-3 
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write(layout,M); 

if -,r then goto \ print list 
writetext ({< RF 

procedure space(i); integer 13 

“For Lisi step ~1 until’ do 
writespecet 1) 

procedure get track; 

procedure get kind'O word; 

begin if boobuf then goto bufferword; 
“if first then goto set; 

if bj+O then goto same track; 
set: set start addr 

select group 

read track to core 

tk:=tk+1 
if tk=960 ° ‘ 

then begin tk:=0; group:=groupt1 end; 

same track: get kind O word 

go back 

bufferword: 

get buffer word 
go back 

end; 
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modify from buffer addr. 

loop: set bufferbase and corebase 

get kind O word 1 

qa (40b17) th 17-b33 
> a2: pm 48b17 , pp cH#1 

a3: can 0 , hs ati 

bs (a3) 
hs al8 , hs c71 
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wo 
a 496960415 ; 
bua: q 44. 74+1.7444.03 
pbuh: io 3 

3 
3 

b a2i 3 
p64: 3 ENTRY PAIR 
<d35-2, pm r2 , ud b55 3 ~~ rewind; 

ah: gm b63 ; hs 40a14 3 set PAIR instr; get param track; 
x pm r2 , gm b63 3 set PAIR instr in PRINT 

a: hs 40a14 3 next pair list: get param track 
> hv b65 3 PAIR instr 

pa b63 tbv65 3 set return to PAIR instr in PRINT 
<dit1, pt »b61 tc80-1c28; bufferbase:=1543; 

pa b62 te~t 3. corebase:=c-1; ’ 
> sy 1 , hs vb60_ $3 writetext({<1$); goto PRINT 4 
b65: pm b50 , gm hOb17 «3; return after first run:mod areal:=mod area i 

w pm c29-c28, gm 48b17 3 set addr for init med i 
pm b’5 , em ktb17 3) atisa 
pm bh7 ; em 44bi7 «3 ~~) biti=bi | 
arm b46—, ar HOb17 «3 zbjt:=bj 
tk 20 , gt al5 3 start addr get kind 0 word 1 | 

* arn b8 , ga ad 3. kind1:=kind ' 
<d41, ca 2 , it a19 3  bufferbase:=if' kind=2 then 3086 

pt »b61 t a20 3 else 21903 
pa b62 - t 53b17 3 corebase:=53b173 

> it (b22) ; pa all 3  boocbuft:=bocbuf; 
| arn b2h =, ga aid 3  groupt:=group 

arn b25. , ga ath 3 ~~ trackt:=track 
pm buh =| gm 435017 «3 blocklength1:=blocklength 
pa atl2 1 3 first :=true; 

pa b63 tb66 3 set PAIR instr in PRINT 
hs Loaih 3 get param track; 

at: qq 7.2+7.27 3 masks 

sy 2 hs b60 $3 writetext({<2b)s goto PRINT; 
b66:° pm 029-c28. gm 49b17 3 return after second run: ‘ 

ww <di1, it (b8) , bs 2 3 set addr for init med 4 
hv x5 : 3 if kind<2 then goto loop; 
arn b50 =; pm at 3 if kind=kindTAunit=unit1 then ' 
em hOb17 , hv r3 3 alarm(unit); 
qq ri ,hs c2k 3 
tunit; 3 

3 
; 
3 
3 
3 initialize get word, get word; 
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ww i 
pa al2 IRC 3; firsti:=false; 

gm bg MRC 3; store word 1 
pm 49b17 , pp 53b17 3 set bufferbase and corebase; 
can(b8) , hs b22 3 if kind=O then get word kind 0 
bs (b8) 3 — 
hs al18 , hs c71 3 £initialize get word, get word; 

all: pa b23 TRC 3; first:=false 
em 47b17 xX MRC 3 store word 

sr b49 IPC 5) 
hv aS NZ 3; if wordbword1 then cut pairs 

aq (a5) t 1  LRB; 
aq (a5) + 2 LRA ; 
aq (a5) t-1 LPB ; 
qa (a5) ~ t-2 PA; 

a5: nen QO , hs af 3 if markbmark1 then out pairs 

a6: arn bu8 =, ar e :  Tength: =length=1 
hv a IT 3; if length<O then goto next pair list 

w er bug, sme 3 bjr=bg+13 bj1:=bj14+13 
“ ac bh6 , ac 42b17 3 

ac bu7  ,; ac 4lbi7 3 9 birsbitls bit:=bil+1; 
arn bu6—sig sr bul 3 : 
hv a7 NZ $3 if bj=blocklength then’ 

grn bD46—, srne 3 “begin bji=O3; arsat4 ends 
ac bu5 - ; ~ ° : 

a7: arn 42b17 , sr 43b17 3 if’ bji=blocklength1 then q 
hv a2 NZ 3 “begin bg1:=03 at:sal+T3 ends F 
ern 42b17 ; srne 3 j 
ac 4tb17 ; hv a2 3 goto loop; 

a8: arn b45) ss sr =45b17 3 procedure out pairs; 
ar 4tbi7 , sr 46bi7 3 if a Tiastprinted a | 
hv a9 LZ 3 Vatplastprinted a1 then i 
sy 64 , arn 41b17 3 begin CR; ‘ 
gr 46b17 , hs b36 3 last printed ai:=a1; write({ddadd}, al)s ' 
aq 41 , hs b20 $3 space(41); j 
arm bl5 , gr boni7 3 last printed a:=a; | 
hs b36 3 ‘write({ddda} a); H 

wo a9: sy 64 ; end; 
arn 4lib17 , hs alO0 3 CR} “yrite(tadad} bit); 

- i 
f 

~ - , 
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WZ . 
arn 42b17 , hs alO 3 write({dadddb,bj1); 
arn b9 , ne b27 3 

pa b28 VO te3h 3 
pa »b28 t=35 F spisit p then -35 else -3h; 
pan b67 X th4b17 3 set bi addr in program print 
arn b4i9 sy hs (b9) 3 write(word); 
nt (b28) ; pa rt 3 sp:=-(sptprinted); 
aq O , hs p20 3 Space (ees 
arn buys; hs «a0 «3s write fasaap bs) 5 
arn b46.— gy hs ai0) =) write({dddd} bj); 
pan b67 X  tbh7 3 set addr bi in program print 
arn 47617 , hs (b9) 3 write(word); 
pa ad , hv aé 3 go back 

b36:a10zhs 30 5 ends ) qa b4S sy 59 3 
sy O , br si 3 

3 procedure get kind O'word' 1; 
wl ailibs 3 » hv al? 3 begin if booburt then goto bufferword; 

al2sbs » hv 45 3 if first then goto set; : 
arn 2617 , pt als 3 
hy a6 NZ 3 if bjtO then goto same block; 
pa até t b17 3 set: set start addr 

al3:ivk O : 3 select group! q 
alkivk 0 , Ik b17 3 read track to core 4 

is (a14) t1 3 tkis=tki+43 
bs slg 510 3 if tk1=960 then 
pa ath |; it 1 3 “begin tk1:=03 group1:=group1+1 ends | alS:vk (a13) . it Oo ; | 

al6:pmn 0 t 7 3 same track: get kind O word 1 i 
hr 31 3 go back ; 

ai7:arn 40b17 ; il Oo 3 bufferword: 
srn e , ac }Ob17 3 get bufferword 
pm b17 , hv reZ 3° go back 4 

3 ends; 
b37:a18:ep c68 |; gp c73 3 initialize get word; 

it p-1 , pa c66 3 4 it pe2 | pa c67 | 
em c65 ,hh s 3 : a19:3086 ; 

< 3 q 

> a31 3 PROGRAM PRINT 
b27: bs (b29) 3 

sy (b29) t 510 3 «LCs 
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SY 
sr blg MOC 3 store word, set leftword and abs addr 

ai gs a22 IRC 3; store s, halfword and f marks 
pp (b28) t 6 3 pr=printed:=printed+6; 
pp po : LOB ; if abs addr then pi=pr6; 
it p5 , pa ad ; char per halfword 

al: aq 27 , pp a2g9 ; p:=table start 
tk 20 , ck 2 3 
ga az , eck «18 3 

a2: gt a2 , pm 3 
a3: pin 0 X  t~253 3 PAtsns PB:=()3 QAr=rs3 QB:=s3 QC:=p; 
al: tk 20 ITA 3 

tk 10 | LTB ; 
el 5 tk =15° 3 

a5: gt a5 , ps O 3 s:=letter no 4 
bs s-18 ,; ps S49 3 write instruction: 
bs Se9 , ps sH25 3 
sy sh8 | cln ~20) ; 

i’ hv a5 NZ 3 | 
| sy 54 LRB 3. wrttotenet ett )s i 

sy 37 V LPA 3; writetext({< | 
a6: sy O , aq Oo 3 if -,n then space(1); 4 

sy 0 NRB ; if ~,f then’ space(1)3; ° i 
sy 0 V NPB 3; if -,() then space(1) else 1 
arn a7 ,hs alt} writesynbol((); | 
pm bug, arn ak = g_—s RAr=203 
hv af X NQC 3; 7 | 
ar <2 D LQ@B 3; if sVp then RA: 7=RA~25 d 
ar 21 D LQA 3; if rvp then RA:=RAt213 4 

a7: qq 520 , hs al1 3 writetext(r , s or p); 1 
aq (b28) t1 3. -printed:=printed+1; | 
hs b29 NoB 3; if r then write({add}, addrmod102h); | 
qq a28 V NOB 3; if r then skip next; ‘ 

a8: hs a3Z0 3 write (fdadd}, addrpart); ' 
sy 0 4 NPB ; if-,() then space(1) else 
arn a20., hs alls 3 “Writesymbol()); 
hv aiO LQB 3 if sVp then goto no abs addr; 
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0 

b67: arn buT =, tk «30 3 
ga re ; 
arn big IQ@B 3; QB:=abs addr me 
ar 0 DVX Loe 3 if -,rV-,abs addr then goto no abs addr; 

aS: aq 0 » hv aiO 3 
arn 423 , hs att 3 writesymbol([); 
hs a30 - 3 write({ddd}, addrpart+bi); 
arn a25.  , hs ail 3 writesymbol(]); 
qq (b28) +2 IPB 3  printed:=printed+2; 

alO:pm al7 , arn b49 ~~ 3 no abs addr: nes 
hv a2 NA 3 if right halfword then goto out; 
em a6 “ NRA 3 
hs a2h - pm at 3 
tk 10 , ps a 3 
er big x MOB 3 store right halfword; 
hh ath xX NRA 3 ° if fullword then goto full; 

alliga 015 , bs (b29) 3 procedure write symbol; 
fh mt az20 , it 510 3 begin 

al2:sy (b29) t-510 LT 3 write case 
ald:sy 0 Xx 3 write symbol 
ail:hr s1 , tk 21 3 ends 

pp (b28) — t7 M 3 full: p:=printed:=printed+7; 
ap a9 /hs al5 3 write X 
qq 23 , hs ai5 3 write V 
qq 21 , ps at6 3 j 

ai5Ssud a2 NPB $ d 
pp (p28) Vt-1 MI 3 procedure write X V Ds 

| sy (st) IPB 3 begin 
at6:tk 1 . hh s4 3 end; 1 

qa 52, pp poh 3 pr=palts : ' 
hh a9 IZ 3 if indicator part#0 then 1 
hs a2kh , tl -39 3 begin | 
sy (b29) t-510 NPB ; space(missing space); | 
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x . 

tk 30 ,ga al8 3 case 
tin 3 , ud 1a15 3 

a17:0/=1/0/—=1 - 3 
tk 20 , gt at8 3 write indicator state 
tl 32 , g ald 3 
ps a26 , is a27 3 

a18:ud sO , ud sO 3 end; 
ai9:ud sO , arn blig ; ~— 

a20:qqf 521 ; gp b28 3 3 ~~ printed:=p3 °° 
ca 0 , hv a22 3 if word=0 then goto outs 
pm 19 DX 3 space(missing space); 
hs a2h , hs ait 3 writesymbol(t); 
hs a30 3 -write({dad}, increment); 

a2i:qq (b28) +1 3 out: space; 
a22ips 0 > hr si 3‘ restore s 3 go back; 
a23:qq 518 , it 14 3 procedure missing spacess 
agkh:it (p28) ; bs (a9) 3 ~ 

3d sy 0O , bh a23 $3 

a25:qaf 519 ; hh s 3 
a26:pp p-1 > Pp pel 3 indicator letters | 

sy 50 , sy 34 3 boy k i 
sy 49 , sy 25 $3 oa, 2 
sy 51 | sy 3 cy 0 
sy 37 , sy 19 3 n, t 4 

sy 35 , sy 39 3 lyp 4 
a2Tisy 57 , sy 40 3 iva ’ 

sy 36 sy 41 3 mr | 
a28:qq 4.3+h. 23 3 taaa} 

3 instruction letters: table start; 
a29:qq 17.4417.9+176 126. 19418.24+ 1.294+18.344+19.39 

aq Tek 1.9414. 104+19.19+ Z.2h+ 1.294 3.344+19.39 | 
qq 204+ 13.9+ 2614+ 1.19+20.24413.294+11. BH 15.39 1 
aq 12.4413.9+11. 14+ 4.19412.24+ 4.2911. 3H 14.39 ' 
qq 12.4+14.94+18.14+ 8.19412 .24+20.20+11.34+ 3.39 ( 
qq 12.4+ 3.94+18.14+ 7.19 1.244 7.294+20.34+ 7.39 
QQ 17.4+20.9+ 1.744 3.1913.24+ 7.2913. 34416.39 

0 aq 18.44+24.9+ 9. 1b 7.19419. 24+16.294+16.34416.39 
. aq 1044 16.9+20.14416.194+11.244+ 8.294 9. 344+16.39 

aq 194+ 9.9+-20. 14+ 9.18-13.244+ 3.294+20.3l4+ 2.39 
aq 19.4414.94+20. 14414.19+16.244+ 7629+ 3. 344+14.39 
QQ 1204+ 9.9+19.14421.19 7.2h+ 7.29 3.344 7.39 
Gq Bebe 16.9419. 14+ 2.19419. 24+ 8.29425. 24422239 
Ga 110412694110 14419019411. 24+ 7.29411 344+ 22.39 
Gg 224+ 8.9410. 144-26 ..19+25 .24419.294+25 . 3412.39 
qq 8.44 8.94+19.144+ 7. 19412. 2h+26.29+ 4, Jh+21. 39 

  
aZzO:sr 983 D 3 

it b29 NT; if number>983 then 
pa a3 t p28 irtte( fad , numbermod 1024 ) 
ar 983 D 3 else write({ddd}, number); 

a3izhs O , ; | 

' qq a28 , hr si 3 

a £       
Get. b29=1b28, 30=1029, b31=1b30, b32=1b31,  p15eh5b28 . ' d b2 

0 db pu5=123i, b’6=1b45, b47=1b46, puS=1b47, b4g=ib48, b50=Tb49, b52=1b50 
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o 
[NUMBER PRINT ROUTINE 

page 1] 

b ad 3 

3 

alo: aq 0 ,¢ck Oo 3 entry address part 0<x<1024 
a50: aq 570 , tl ~30 3 entry address part 5126x6511 

pm 28 DV 3 entry integer 
pm -11 OD 3 entry fractional 
pa raiiX t485 3 entry real; numberpart: ~true; 
gs rai2 , gp rai3 3 Save pj save s3 
ga rath - em ra23 3 store exp23; store numberpart; 
pm (s) , arn s 3 
pm (si) NA 3; get layout address 

ail: psn Oo xX 3 St=exp23; 
ps sit , cl 20 3 S:=exp2+113 
tk 14 | ga rat? $ unpack layout: b 
tk 10 , pa rai6é 3 expl0:=0; 

aho: it 0 , pa ra 3 expprinting: 
& pp 256 . ck -6 3 DE:=256; 

ga rai8 ; tk 10 3 oh 
ck -8 | ga ralQ 3 £4 
tk 10 , ck -6 3 
ga yra20 ; tk 11 ; @ 
tk -20 , gt ra?1 -n 
tk 20 , ck #4 
@& rae22 , tk 6 bE+f£2 
ca 1 , pp 10 if bE=1 then minexp:=10; 
ca 2 : pp 100 if bE=2 then minexp:=1003 
tin 34; ar rah3 
er ra snn ra23 
pa rah V te 15 LZ 

ahd: nk ral6 XV 
er ra26 ; hv ra3t 
bs s=11. , hv rah7 

group picture 
R:=-abs(numberpart ); 
if numberpart=0° then Heme15 

reconversion: else “"xesnumberparty2h\exp2s 
goto if numberpart=0 then L3 
else if s>0 then conversion 
else conversion; 

round ¥2: R: =rounded x3 
if -| overflow then b:=11 
“Else goto reconversion; 
if” i>O then begin R:=03 
“hish-H_ end else hs =han; 
pe=fl3 alsiner:=R; 
if pk then goto count h oo 
exppart:: an " numberpart; numberpart: =false; 
if exppart then write i 
if b1>OAx<O— then 

a3h: hv rali8 | sr ra6 
é al7: pa © XVD +11 NO 

mt ra7 , hv ralg 
bs (rat) , ntn (ral) 

a21: aq (ra18) - 
al9: pp 0 , gt rat3 

bs p509 , hv raz6 
ati: arn 485 D t-485 

hs ra5 - IT 
bs (ra2h), arn ra23 
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{NUMBER PRINT ROUTINE 
page 2] 

arn -480 DV NT Rite 
arn 32 DV élse R:=+ 

if RXKOAp<2 then R=small 
write sign 

bs p510 ; ck 10 

hs ra37 . pp 3   
3 
3 
3 
3 

a6: 3 
ai8: bt 0 t-1 3 count h: 

hsn ra2 ; hv ra36 3 write space before digits 
bs p509 ,; hv rail 3 

aid: pp 0 , nen O 3 restore p3 
hsn rat , aq 3 
bt (ral) t-1 3 count H 
hsn ra / hv rel 3 write digits before point 
arn ra38; bs (ra20) ; if a0 then 
hs ra5> , it -1 3 write point; 

a20: bt 0 , bh raZQ $3 count d, write decimals 
@ ai23 ps QO , xrn restore s3'M:=03 

bs (ra2k) » pm rai6 
can (ra22); hr s1 
gm ra23 ,srn rag 
pm (ra22) Dx 

' if b2>0 then M:=exp10; 
EXIT 

3 
3 
3 
3 
> 

ps 9 , bh ratO 3 goto expprinting;: 
a3T: ca p , hh s 3 if p=OARaddr=0 then go back 

er ra26 ;arnraQ 3; sign not counted in group 
ac raS , arn ra263  ° " 

aj: bs (ra) , hv ral 3 if b1>O then write digit 
mb rah ~ ga ra6 ; mots te 

a9: hyn rel0 , arn ra} 3 else if digithO then'write digit 
al: it 0 - t1 3 count H:: else write 0 

bs 0 1 hvn raS 3 if H<O then write 0 
a: bt 0 ted 3 Count b1 

min ra3, tk «30 3 next digit in R 
al: ar 16 D IZ 3 zero instead of space: 
a2: ga ra6 , bs (ra50) ; if actual case=upper then 

@ mt ray , it 510 $ 2=-R; 
s sy (ra50) +-510 LI; write cases 

aiO: qq (rahe) - t1 3 count printed; 
a5i: arn ra8 , Sr rag 3 actual group:=actual group-1; 

gr ra8 , ne -273 ; if -igroup full then write out 
a6: sy O , hhn s 3 else if out>58 then begin 

tk & , it 58 3 actual group:=next group; 
3 

bs (ra6) , hv ria51 write out end 

  
     



  

[21.9.1967 (10) PRINT, PAIR page 19] 

@ [NUMBER PRINT ROUTINE page 3] 

else begin writespace; count printed; ali: sy «256 , ud rato 
. actual 2: groupi=snext group-1; write out end; 

ali: hh ra51 , it 1 conversion:’ 
a28: qq (ral) - t-1 begin comment (count H) 
a25: ps s=3 ; nk ri “by multiplication by 2N3/10 or 10/2/4 

ps sO (er ra26 x is converted to form 
pm ra26 , bs (rak6) X=X2x 10H where 2>x2>.1 

a ak7: mkn ra27 , bh ral conversion 7: 
al6: tk s , er ra26 
al8: ps s7 , ar ra29 conversion 23 

pm «| BV LT 

mkn ra3Z0 ; hv ra28 
ps (rat) ; can (ra22) 
bs 8=15 ; it 64 

end conversion; ' ‘ 
S:=H; if bE=OAf2=0 then vegin 
if s>157 then’ bE=1' end; 
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a2h: bs O , ga ra 
it (rai7) ; bs (ragh) 
arn rai7 , hh ras 
arm 256 D NT 

a35: ps (ra2h); pm rae 
bs s511 , bh raj 

if b2>0 then'b1:=b23 
if b<H=-d™ then 
“b2:=b3; goto Lh; 
if b2>0 then R:=.53 

rounding :° Si=b23 ' 

if s<O then goto round x23 

Pa 
a22: ca O , hv ra3t 3; if bEAL2=0— then goto "L33 

@ arn ral7 ; sr ra20 3 R: =b=d3 
ga raze , sr rai8 3 . a32t=beds Raddr:= =deh=13 

ay: mb -1 DX IT; M:sif b-d-h-1<0 then bed-h-1 else -1; 
a38: xr 315 |; it (rak) 53 Lit RI=M; 
aj2: bs 0 , hs ra33 3 if b-dH then change exp10 

mt ra7 , it (rai8) 3; Loy R:=-R3' 
bs (rah) ~ hs ra33 3 if bd then change exp10 

a3i: arn ra20 , ga ra 3 L3: bi: =d3 
ak5: ar rah; ga ragk 3 Liebe: =H+ds' 

3 
3 
3 
3 

al6: xr po , min ra29 RisRx. 13” 
ps s-1 . bh ra35 Si=s-1; goto rounding; : 

change exp10: 
a33: ac raié , bs (rai6) exp10:=exp10+R; ‘if: exp10>minexp 4 then o sc rab |. hh se1 ‘begin H:=H-R; goto LIVL2 end; 

sec rai6é , hv ra3 else exp10:=exp10-R3 goto 033 

ad: 10 

ag: qq 1 
a27: can shO9 ; em (r-410) 0.8 
a29: vy p51 , min (204) 0.1 
a30: aq 320 10/16 
a3: qq 917 54+17 2251.39 

@ a8=i, a26= 11, a23=2i 
€ 
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[21.9.1967 

{1=391, d=k-di 
b k=dh2, i=O, a10 
a1=d19-960 
az=h0ath 
ad=b53, a7=b64 
a=d, <d35, a=2> 

<d39, 
t=d2 

hs 1 

hv al 
<d36, 

tres; 

qaf a.39 
x<d39, 

tset; 

qaf 435.39 
aqaf a.39 ~ 

[STOP, SUM] i base print, 
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s 

[TSTOP, CLEAR] 
><d39, 

aa 39, 
aq 57. 
qq 52, 
agf 
tprint; 

qqgf d.9+a3.19+a2.29 
tpair; 
gaf d.9+a7.19+a2.29 

qaf, 
hs 1 

hv a5 

tmove; 

aq 50, 
qaf d.23+d1.39+-a1.29=a1. 
tprint; 

qat, 
hs 1 
hv a6 
tsetsum; 
tprint; 

qaf, 
d2=1 
a6: hsf 2 
xi=ahs8 

als 
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aq 035 .2+11.74+d36.5+d.23+d1. 
qq, 
tprints 

aq d.9+8a3.19+a2.29 

tpair; 
qq d.9+a7.19+-a2.29 

ah8=i 
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(10) PRINT, PAIR page 20] 

al=image group 
ag=first cell in core 
aj=entry print, av=entry pair 
a=number of blocks 
if‘ aux only then 

be 

if aux reserved then 

res, no of blocks 

set, 

aux kind, 
no of blocks, 

typein 

goncat pid 0, 

print, spec< 

pair, spec< 

move, b loadplace, print< 

end’ 
else load to primitive catalog 

39,3 

end image load 
end print, pair 

   



  

    

   

run, page 1] [6.7.1967 

{[Call: run, <name> < 

<name> ::= <name of drum area>|<empty> 

This aux program will execute a translated ALGOL program 
described by <name>. If no parameter is present the AIGOL 
program will be taken from the work area] 

[Here follows STOPCODE, CLEARCODE ] 

bk = dl, i = 238, a10, b6 

       

ad b6=d19-960, b5=25416 group no for image; last track image; 

s 

a a=15 3 
Dl: pa t 1 3 ENTRY: set no init of cells[0:9]; 
al: pp di3-1 , hs c52 ; p: := start parameterlist - 1; GET PARAM; 
fi] qa e » hs ch 3 if parameter + name then, alarm (f<paran ); 
alh: hh a3 » mM a5 3 if parameter = end list then goto NO P 3 

ne O » hh tal 3 NAME; oe 
@ tl -16 , er 261a 3 if kind + 0 then alarm({<param}); 

tin 16 » er 64a ‘3 tracks occupied in top of free t= bits (8,23,areaw 
ar aS , gr 263a ; first track program := bits (24,39,areaword); 
arn 264a , ar 2618 3 execution end track := first track program + 13 
sr a& » sr b3 ; if first track program < last track image 
aq V IT 3 “A last track program > first track image 
arn bo , sr 264a 3 then set half inhibit 
grn -1 Vv IT 3; else set no inhibit; 
acn «1 MA 3 
vy a3 » arn 2c 3 select help alarm output unit; 
tl =k » ne 7 3; TEST BITS: if reserved bit of areaword=0..-. 
ne 5 » gm 26la ; “"V special bit of areaword = 0 then 
pm 264e , hsn c3 3 tracks occupied in top of free := 03 
1k 265a , vk (ch) 3 to core(first track program,265el.); wait drum; 
arn a6 » sr 2678 3 if instruction[2] of program 
pa lal +t a7 3; tlk p , hh rae 
hh al NZ 3 then alarm(t{<not present}); 
hh al NA 3 
hh 1a} LB 3 goto instruction[0] of program 

@ avh: hv 265a , hsn e2 3 NO PARAM: get free; 
Yk dik, vk (ch) 3 ~~ to core(first catalog track,di4); wait drum; 
arn 3a14 , gr 2c 3 R s= areaword := work; goto NAMB; 
hh al 3; 

’ 

aj: aq -1.39-31.7 3 mask; 
ab: 1k p » bh r-2 3 
ay: ‘tnot present; 3 
a8: qq 1 239 3 1 

+ 

D3: qq 416.39+b6.29-b6.33; first track image; 
bh: aq b5.39+b6.29-b6.33; last track image; 

aq [fill] 5 
d b=259a 3 
B: ; a 
[259e4 ] aq [lower limit in buffer. 39 ] EXECUTION PARAMETERS: 
(260e4] qq [initial last used in buffer] 4096.39 
[261e4] qq [tracks occupied in top of free .39 ] 
(262e4] qq [abs track look up] céli-1 

& [263e4] [execution end track.39] 
[264eh] [first track program.39 ] 
<j,i load error, run 

not loaded; 

not loaded; w
o
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[6.7.1967 run, page 2] 

i=i+39, d=k-d1 
b k=dh2,i=0,a10 
'21=d19~-960 
a=d,<d35 ,a=1> 

al=group no for image 

a=no of blocks Ne
e 

w
e
 

e
e
 

Ww
e 

if: aux only then 

  

  

<d39 5 if 
i=d2,hs1 3 begin hs 

hv a5 3 (if aux reserved then 
<d36, tres; ; 

qaf a.39 $3 -res,no of blocks, 
x<d39 3 else 

tset; 3 Set,aux kind,no of blocks, 5 
qaf 435.39 3 type in) 
qqaf a.39 3 

lafter i follows STOP,SUM and a sum character] 
ia basé,run 
s 

@ TSTOP, CLEAR] 
><d39 bocce 

aq 39, 3 concat pid 0, 
aq 57; 3 
aq 5e, > 

qaf 5 
trun; 3 run,spec< 
Qaf 4.9+b1.19+b1.29 ; 
aqf, 3 

a5: hs 1 3 

hv a6 3 
tmove3 3 move,b loadplace, run< 
qq 50, 3 
qaf 4.23+d1.39+a1.29-a1.33 3 
trun; 3 

qaf, 3 

a6: hs 1 3 
@ hv a7 3 

tsetsum; 3 

trun; 3 
qaf, Sobor ore 

de=i 3 end else 
a7: hsf 2 : 7 
x 3 
i=dh8 ; 

aq 435 .2+11.7+d36.54+d.23+d1.39,3; load to primitive catalog; 
qq, } 
trun; 3 
Gqd.9+b1.19+b1 29 ; 

aue=i,qaf 3 
> 3 
di=d+d1 3 

e 3 end image load 

e '  $ end run 
[after i follows STOP,SUM and a sumcharacter] 
ia run” 

F & s     a ig Le a ot



  

[27.11.67 (3) Slip, page 1] [STOP, CLEAR] 
<-d55+1, i version 
Ss 

6 > 

[ Navne globale til SLIP 
f¢r SLIP efter SLIP 

c plads for search 1 HJALP 
ce indhop i search 
ch. vk kanal i search, indhop 

til pak op og velg 
05) vk gruppe i search 
cy lk-ordre til les katalog 
c18 bruges ved indhop i search 
e30 fgrste kanal 1 SLIP 
31 . e antal kanaler i SLIP 
e32 cence 
e335 . : chee 
ck c5=c 
35 ° . eT=c 

@ 036 2c18 
C37 e . 2c 
038 indhop i SLIP 
e439 ° ° antal kanaler som hentes med HELP 
c63 init medium kanal 
e770 baandfejl1 
e71 get word from buffer 
eTT return if sum 

di fgrste fri kanal fgrste fri kanal efter SLIP 
de fgrste fri celle for init samme efter slip 
ag fgrste kanal 1 HJELP 
aio ferritlagerbillede-320 
aii parameterkanal 
di2 plads i HJALP til kanal 

med adressetrykprogram 
ay kanalplads for inputstreng 

i HJELP 
adi5 lengde af texttrykprogram 

@ aly by-vaerdi for 1 
aig den gruppe SLIP laser til 
a20 plads for SLIP i FL 
d21 fgrste katalogkanal 
422 antal kanaler/320 
deh i adressetrykprogram 
d25 - 
a26 - 
d27 - 
d28 - 
a29g - 

d30 - 

31 - 
d32 work in free 
a35 medium kind 

a36 reserved 
dav texttryk kanal-d9 

d37-1 er search kanal 
) d39 input mode 

aio adressetrykprogram 1 HJALP 
a7 return to init help 
aus init katalog 
a50 image gruppe under indlesning af slip]        



  

[30 

m 

25507 Slip, page 2] 

<d35, ¢30=d1, X c30=6di> 3 ggr plads til 6 kenaler hvis tromle 
cZe=c2nc, c33=ch-c, c34=c5ac, c35=c7-c, 036-2c18, ¢37=2c 

b k=c30, 1=d20, a2h, b21, c18, aT, e123 
e64=d9, e88=d14, ©103=d17, e98=d19 
d=-27, di=d-2, d3=di-7, e38=d3-40, e8h=e38-d15, ©123=40a12-aho 
e95=e84e123, €39=e95-HO, e50=e39-11 

ba 

a=do-e95, eB1=d2h-a, e80=d25-a, e77=226-a, e79=d27-a, 

[navne 1 adressetrykprogram] 

e33-d30-a, e83=d31-a 
e 

alu=3d, e66=a1h, al5=lath, 
eh8 

a6: 

a7: 

3 
aq 
qq 
aq 
aq 
qq 

aq 
ag. 
ga 
aq 
qq 
qt 
aq. 
qq 
qq 
qq. 
aq 
aq 
aq. 
ag 
aq 
ga 
qd 
qq 
ag 
qq 
qq 
qa 
qa 
qa 
aq 
aq 
aq 
aq 
qq 
aq 
aq. 
aq 

[navne paa variable] 

=1al7, a23=1el8 

qo 63.25 
QQ 1414+3.16+7.24+5, 52 
GQ 1.26+1023.39 

e8=d7-1 
Differens tabel 

512.9 
512.9 +55 9434.15 

57 627-35 033 = 4, 39457 694-19. 15-37 021 

~57 27-18. 33-36. 39+56 .9+56. 15-6021 
- 56627-1412 33~17 6 394+56.9434, 15-3421 
~56 627921 33-56. 39+56.9+18. 15-5021 
55 O15 To D3- 2D 639455 .9455. 15-46, 21 

55 02TH 51 33247. 39455949. 15-22.21 
M55 2TH 9 33 =21 6 39455.9439.15-42,21 

55.9+34.15 
51209 +39 ..9+57.15 
D5 2119 635-25 294+55.9+18.15-61.21 
5 2627-35 633-14, 39452.94 34, 15-1321 
51 27 H49 33-25. 39451 .9+36. 15-38, 21 
951 2735 35-20 39451 .94+34.15-19 621 
750 27-19. 35 —39 23945029418, 15-49 21 

~49 .27-51.33- 6 .39+49 .9+50.15- 9621 

49.27 Hl .33— 2.39449 .94+37.15— 4,21 
39.9+57 615 

512.9 4+35.9434.15 

= 29 627-51 233-48, 39439 9449 ,15-32.21 

= 29 027-39 633 =31 239439 .94+36..15-27 021 

= 39 27 ~19 633-33. 39439 9418. 15~30021 
= 37 627-51 33-43, 39437 .9+35.15-16.21 
37 027-34. 33-15. 39437 9419.6 1541 21 
~37 027-18. 33-40 .39+36.9+50.15- 8,21 
~36 «27 =35.33=12,39+36 .945,15-11521 

35.9+34,15 
512.9 
35 627 ~ 24. 33-59 .394+25.9+H0.15- 1.21 
M25 027-35 035-62. 39+25..9+33.15-57 021 2327-41 33-28 39421 .9+34. 15-55-21 
#21 627-24, 33-51. 39+20.9+52,15-63.21 
20 27-18, 23-45, 39419 .9+-35.15-13.21 
-19 627 ~34., 332k, 39+18.9+-51..15- Teel 
-18,27-41, 33~ 30 294+18.94+37 415 502] 

- 1827-34, 33-53..394+18,9+-2l:.15-58.21 

[OP-code table] 

e78=d28-a, e32=d29-a 

elb7=1a15, ebs=teh7, a5-1els5, al7=8d5, e30=al7 

leSym 2.sym verdi 1.sym 2,sym verdi 

57 27435 o 35+ 39 
+57 27418, 33+36, 39 

+56 27441 33417639 
+56 27421 .33+56 39 
455 eOT+57 a 33+29 39 

455 27451 6 334H7. 29 
+55 27+] £33421, 39 
+55 6 27+36,33+26 39 

+55 c2T+19 . 35+23 39 
452627435 .335+14.,39 

+51 .27+H9 .33+25, 39 
+51 27435 0 33+20. 39 
150 27419 9 BB+39 9 39 
+9 .27+51.32+ 6,39 
+49 ,27+H1 .33+ 2.39 
+40.27+h0.334+ 0.39 

+39 -2T+51 .33+48, 39 
+39 27429 233431239 
+39 o2T+19 4 353+33,,39 
+37 27451 33445, 39 
+37 27434, 33+15, 39 
+37 .27+18.,53+H0, 39 
+36 .274+35,.353+12, 39 
+36 .,27+19 .33+10. 39 

+35 27-21, 53+59 29 
425 627435, 33+62. 39 
+723. 27411 .33+28, 39 
+21 .27+2, 33451 39 
+20 27-718, 33+L5, 39 
+19 2743433 -24,39 
+18,27+1 35+ 3.39 
+18, 27434, 351+53,.39 

=55 9-34.15 
5709-19 615437621 
~56..9-56.15+60.21 
-56..9-34.,.15+34.,21 
-56.9-18.15+50.21 
55 9-55. 154H6 21 

55 9=49.15+22.21 
5509939. 154+42,21 
55 934. 1545421 
= 39 9-57.15 
~55.9~18.,15461.21 
= 52.9-34.154+13.21 
~51.9-36.15+38.21 
= 519-34, 15419221 
-50.9-18.15+49 21 
~49.9-50.15+ 9,21 
49 .9-37.15+ 4,21 
39 957 0 15435221 

= 35 9-34.15 
39 9-49 ..154+32,21 
-39 .9~36.15+27.21 
-39 9-18. 15+30.21 

~37 9=35.15+16.21 

37 09-1961 5441 21 
~36 .9-50.15+ 8,21 
~36.9=34-.15+11.21 
= 35 9-34,154+52,21 

#25 o9-HO,15+ 1.21 
25 933415457 .21 
=21 9 -34.15+55.21 
20 .9~52.154+63,21 
-19..9=35-.15+18,21 
+ 16,9-51.15+ 7.21 
=18..9=37 615+ 5,21 
-18.9-24,.15+58,21 
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[30.5.67 

e19: ar D 

e62: d2:3 pa D +3 
[1e62] 4o 
[2e62] 153 
[342] aq 1.3-1.15 
[442] aq e39-1 
[5d2] aq 
[642] qq 1.39 

{ordrelesning] 
b al2, bo 
eu: gk vD 
[iekJ]pa eh 

ps 6eh , pi 
pi (ek) Ik t-20 
grn d XM 

pi » ern e27 
[6e4]hh e20 , 
e29: gr 143 , hv ptal’ 
e7talshv e288 , hv e9 

hv a2 > hv e9 
hv e28 , hv 9 
hv e28 , hv cl 
hv a3 , hv bi 
hv al » hv be 
hv ab » hv b3 
hv al » hv el 

a2: it (4a3) , pa e5 
hs e20 
bsp +511 , bh all 
bs p-6 , hvn al2 

e933 hv a5 >» sy 64 
pa e083 , hv eb 

a3: ca 64 » bv el 
bl: ca 64 | hv 26 

hv cl LTB 
bS s-2 , hv cl 
pi 32 t 33 
hs e20 , qqi 
er! d3 » ca 64 

ab: ps ela] , HV ek3 
alts hs e20 
a5: ck 6 » ac 103 

hs e36 
am 1d3 , pm e19 
pa al Vt e& 
it 9 NO 

af: ar t 1 
hv af-1 NT 

em e27 , pm 3d2 
em 542 , hh af 
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slip, page 3] 

I
B
I
S
 

nyt ord med mulighed for adr tryk. 
nyt ord uden mulighed for adr tryk. 

forbered ny linie 
fgrste symbol 
gem 1 op hopordbog 

0-9 tal, adr 
a~elk, op ell lab, adr 
+- tal, adr 

« » tal, fejl 
, /CR terminator1, 2 
AXS)...0p, mod 
mprst(op, start adr, 
=sh op fejl 
poss= y 

test g = 0, label m index 
test g = 7 label 

op, skriv vr efter s 
klar til kanalnr. udskrift 

blank CR 

linie slut 

test om hhao tilladt 
test om for mange adr 
sat hhao 
les 1 op 
test for linte slut 
gem 1 op, helord lagres 

les resten af op 
op karakterer til 1d3 
hent op-tabel 
R:= op karakterer, M:= relativmerke 
Op-opslag 

set relativmerke, maske 1 M 
hop hvis ikke venstre tabel
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[30.5.67 

aQs 

alos 

eck 4 
eck -10 

ab da 

gr da 

hsn e20Q 

hhp +al 

em] d4 
hv a9 

pm 1d6 
bs 4b 
ca 54 

pi 80 
t1n(443) 
hv b5 

hv al 

rib 286 

ca 19 
dS S=] 

ca 8 
arm 4a@3 
hv al 

ga e27 
hs e20 

pt e27 
bsp +505 

hv v8 
b6h: e68shve9 

bs s+510 , ps s+2 
[navnJaith:hve10,hs e2h 

» mb d6 
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e
 we
 

‘e
o 

‘w
e 

Nw
 

LPA 

5 

Xx 

ck 18 
hv al 

it (443) 
hvn bi 
itn -17 

LZ t-65 
Vv 

3 

7 

3 

3 

s 

3 

t 
t 

? 

NPA 
LZ 

hv aid 

hh v6 
hv cl 

hv b7 

ca 4 

HV e10 

k 

510 

grn e27 

ales bs p505 , hv al 
er ad » it (e5) 
bs 3 » hv e53 
pa elQ t+ 1 
am 443, ca 47 
pa e4Q , hs e20 
arm 4a3  , ga e52 
ca 48 » hhr +1 
hv e12  , arn a5 
ck 30 » hs e51 
hv tel 

e 

b a20 [adresselesning] 
€17: arn d3 » ca 64 

hh s 

e10: hsn e20 xX 
e9: pa e25 , gm 1a! 

gm al , it s+509 
all: pt al 

hsn e282 xX 
bsp +509 , hvp +a2 

al2: bss +509 , hvn a3 
bss +507 , hv cl 
am idl, it 512 
bsp +508 , hv cl 

ei5:al8zhrs+1 , qq 1 
a2: pp (295) » hv a5 

pp (e5)  , hv a6 
e25: [fortegn] , hv cl 

No
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o 

w
e
 

Ww
e 

w
e
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we
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Slip, page 4] 

operation paa plads 
evt hhao 

til helord 

les 1 adrcif 
hopordbog 
forbudt operation 

operation OK 

» 7, SnfF) 
fF 
Fmerke, forbyd hhao ell blind 
skift 
hop til OK hvis -, hhao 
fejl hvis 0 
accumuler bit 

t 

fej1(telledel) 

» Seat rel merke 
fejl hvis ( eller t 
ies adr m. e20 

Sat ( 

g=6 
las adr, slet rel marke 
» Set telledellesn 
les heltal, ciffer ixgst 
a t7 

i eller k 

yn 

fortegn, adr:= 0 
terms = 0 
def, cifferteller 
les et led 
pPpFOViVe 
8 =0QV 1 V 2 udhop ordre 
8 =3V 4 for mange adresser wo

u 
oy 

fejl hvis terminator # , v / Vv CR 
bruges som konstant 
» heltal 
» navn 
» feji(++)  



  

pi 2 LB -3 
ck 20 » hr s+ 

[30.5.67 slip, page 5] 
@ abt bS pe2 , hv a7 3, 8-e 

hv cl NZ 3 cifre efter 1 eller k 
am prad5 , hv a 3 hent i eller k 

a7? hs e16 3 opslag 
hv aQ NRA 3 udefnavn 
tl -30 , pp (e27) 3, rel msk 
cap -2 » sr a5 By ot 

a8: ar dl » pp (243) 3 + tern, 
al4: bsp +508 + 510 3 

bs (443) , hh alO 3, . 
aldSh:tk 30 » mt e25 : adr paa plads, fortegn 

ac 1d1 » it 510 3 adresse 
al3: bsnpt510 , hv al 3 fejl hvis navn fglger term 

er di » hv all 3 term = heltal e1l 0 
tk 30 » mt e25 3 term var heltal 
ac 1d} » hv ale 3 »« udhop 

a5: bsp +509 , hvp +al3 $ for heltal: switch paa termin,. 
& alOhthv al4 , er al 3, efter 
~ hsn e286 X 3 les rent heltal 

tk 20 » gb ri 3 
arm di » ns 3 

cls +39 » oh al5 3 skift term, akkumler 

[udef navn] 
a9: pp (243) , nt (e25) ; 

bs » it (eb7) 3 
ath: bs (e5) , it 3 

bs 1 » hv c2 3 forbudt udef. navn 
bsp +508 , hv c2 3 
bss » ck 10 3 

ga 1d » tl -30 3; 
arn 45 » tl 30 si 
bss » ck -10) 3 
ck 20 LRB 3 
GR (e5)  , hyn al2) ; sat i ordbog, udhop ordre] 

arrelfiarn D > relativmerke ind 
& ek 20 » ab idl 3, 3, adresse 
~ bss » cl -10 3, hhao 

pss +2 >» pt a 3 tel s, telledel = 0 
ab d » er a 5 helord, helord 
gr e27 » pm dB 3 Yelativmerke, symbol 
hhn pre7 X 3 hopordbog b 

[opslag] 
e163 tk 30 » ck -] 3 

ar al8 , ga al6 3 
gt alf , it d5 3 

e5s arn » ga 7 3 
ca 512 4, hv 3 3 ikke erkleret 
gt r » it 0 3 

el8hial6: bs, hv e5 3 hop index > langde 
er e30 , it (a16) ; 

al7h:arn(e5) , bs ; 
ck 20 Vv IRA 3 
pi 5 V IQA -264 ; 

oo pi 8 V IQB -266 ; 
3 
3   
 



  

[30.5.67 Slip, page 6] 

eo [h = def adr eller = def adr] 
e13: hsn e20 xX 3 les ciffer 
ellt pa e52 , arn 4d3 3 redef. lovlig 

ea ho » hv e10 3 laws defineret adresse 
hv cl 3 

e 

b a2o0 
€22: arn ha3 =, _ pp (243) 3; les et adresselea 

bsp -2 . br s+] 3 P > 3 udhop 
al8: gp 343 , ga 543 5 

bs p » hv al6 sp#o 
hs eek 3 Pp =O les heltal 
pp (343) , hr s+] 3 

alé: bs pel , hv al] 3p#2 fortegn 
it (443) , pa e5 3 p= 1 navn 
hs e26 3 

@ pp (305) , hr stl. ; 

al7: it (e23) , pa e25 3; 
hs e20 3 
bs pl » hr s+ 3 

hv a8 3 

elk: arn 4d3 gy ch «2-30 
mL e95+e123—2 3 

e26: hs e20 3 
bsp +511 , hv eQk  ; 
him s+1 Xx 3 

[Den centrale lesesekvens] 
[les et symbol] 

elk: arm d3 » ca 64 3 som e20 men udhop for CR 
e96: aq [checksum], hhs ; 
e203 pp » dyn d3 3 comment situation 
[1e20]ga a3 » tk -~1 3 lige-ulige 

& ga a2 ; 
~ bs (a2) NT +t 32 3 

hh a3 3 
et al ,it el 3 

alsa2: arn » it 3 
bs » ek 10 3 skift for ulige 

e23: ck -10lcase], tk -7 3; case tilfgjes 
ga edd , sr 243 $e 

ck 7 » ga 4dd sy 
ne 124 , hh a20  $ hop ikke sum code el. clear code 

a20: hyn ell =, is (35) 3 
it si » aa (e96) 3 summer €96:= 696 + char - 63 

e2: bs > hv ab 3 evt fejludskrift 
ne poe ,hv al2 3; 
pa e32 +t 511 3 
sy 29 , ean(e83) ; 
amid5 ,hs e81_ ; 
arn a5 » hs e081 3 
ps beh » sy 62 3 

6 al5: qqn 64 X 3 bruges 1 input fra tromle 
alé: ca 126 , hh e20_ ¢ blind ogsaa i strenge 

bsp -19 » hv ad 3,» comment eller streng 

 



[30.567 slip, page 7] 
e all: pp (243) , it 100 3; 

bs (443) , hv a5 3 internt symbol 
al0: arm d3 » hr s+] 3 Symbol, udhop 
ad: ca 125 , hh a6 3 caseshift 

bs p-250 , hv pa8 3 streng eller comment 
ca 123 , hv aQ 3 

e91: ca 122 , pp 300 3 3 skip til VR 
ca 121 , pp 301 3([ skip til ] 
ca pl02 , ppn 302 3; X skip til X eller > 
ea p-148 , hv s1 3 skip til VR efter fejl 

al9: a8=al9-300, e82=a10-a8 
ca p-200 , hv all $3 comment slut VR eller skip til s/t 
ea 120 » hv a5 3 fejl 
ca pe200 , hv e20 3; comment slut ] eller > 

a3hi hh e20 , ck 2 3 blind, > 64 eller paritetsfejl 
ca 254 , hh e203; blind hvis alle huller 

a6: hv c5 y nt (e23) 3 , caseshift 
pa e23 y bh e20 ; 

& a9: can see29+1, hv e6. 3  indhop fra e4 
can s-d6 , hv e6 3 indhop efter b 
ca se97 , hv alO0 37 

alth: hv e20 , ca 100 ; blind, skriv copy efter i el. fejl 
al3: ne 100 , it -1 3 tel ikke tomme linier - 

aq (€2) » 2 ald 3 
sy (43) , hv al2 3; 

b a2 [input fra disc eller tromle] 
elt7:bt (-3) t 1 ; tel karakter 

em 643 , hv a neste ord 
arm — » ck -6 neste karakter 

ath: gr -4 > tk ~& 
: ca 63 » am al5 CR 
‘ ah: hv 1620 , arn -5 

pa -3 t 4 
ne 39e50 , hv al 
am 642 , ac -2 

el0lsis [kanal]t 1 
r) ps s-4lg t 510 

pa e101 , it 1 
e100:vk [gruppe], vk(e101) 

ik e50 M 

vk fetor) » it -39 

hop hvis sanme kanal 
tel kanaler 

naste gruppe 

les neste kanal   
Ne
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‘w
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We
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Ww
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Ww
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e 

We
 

W
e
 

we
 

w
e
 

No
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e
 

Ww
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W
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we
 

w
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& 

al: pm(-5) VLA ti hent neste ord hvis tromle 
hs 20e50 ellers hop 
hv e121 NZ hop hvis baandfejl 
cl 46 » em a 

pm 643 , hh a2 
e 

e 
” [i = definition] 
b a3 

2533 hv el NZ index efter i 
k definition udenfor blokhoved 
les def, adr, 

sat i1 

nen(e5) , hv cl 
hs ell ,aqq eh 
cl -30 , hv eho 

we
e 

Ww
e 

W
e
 

w
e
 

 



  

  

  

  

[30.5.67 

[navn = def, adr.] 
e123 it (e5)  , pt a2 

pa e52 , hs etd 
ach: pa e5 

ps eb » hv e5] 

[erklering] 
e853 it tg) > pa e5 

bsn(e5) xX t2 
can p-1 , hv e26 
hv ch 

e 
” [set 1] 
el23: gr al5 
[+1] srn eh? , tk -20 

ar al5 IPC 

tl -10 , tin -29 
din 1e62 , ar eh] 
mb e90 , gr all 

[endring] 
eh6: vke98[ gruppe }, vk(e44) 

sk e379 , arn all 
pa el5 
hv e37 LPB 

eels gr 145 y Pm al5 

em @5 , ck -10 
ga eb , srn eht7 
tk -20 , ar 45 
tl -10 , tin -29 
din 1e62 X 
vk (e46) , vk (eth) 

al0: pa e45 LZ ti 
er 2d5 » ck ~-10 
ar 4ad2 , ga e57 
arn ett = ca (b11) 
sk e038 ,ud a3 

al6: 1k e39 , vk 960 
e76: hr si > pp 

arn eli1 , bh el 

[geming] 
e433 am da 
e57: gr [celleJMPC t1 

am 6d2 , ac 45 
ar 245 , pa els 
er 245 , sr 1e62 
hr si] LT 
vk (e46) , vk (ebh) 
sk e39 , arn 642 

eli: vk[kanal] t 1 
ac 105 , hvn aiod 
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slip, page 8] 

gem bogstav 

redef. lovlig, les def. adr. 

hop til sporing 

al5:= i ny 
ibt 
iny-1bt 

R:= ent((iny-ibt) /40)+ko 

velg gruppe, velg kl 
skriv kl, R= kny 
frisk:= false 
indhop 

kl:= kny, Ms= iny 
il:= iny, Radr:= kl 
elb:= k1 

g& velg gammelt medium 

di:= i1 + 1 
ivi= iv+1, «, frisk 

udhop hvis kanal ikke fuld 
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[30.5.67 
slip, page 9] 

[understregning og betingelser] 
e6: bs (243) 

hs e20 

ca 50 

ca 52 

ca 53 
ca 54 

ca 55 
ea 56 
ca 57 
ca 3h 
ca 36 

ca 37 
ca 39 
ca 44 
ca 19 

ca 20 

ca 22 

ae: ca s-6elh 
[1a2Jarn s 

pm ~-2 
ps se] 

aq 
gm 4Oe50 
pm e65 
gm -2 

ca 35 
sy 58 
pa -2 

altse75spae2 
pm el0T 

e9ehi:hv 1e93 

pa e2 
sy 58 

e56: pa e19 
e107:pp 
e903 1023 

b a2 [velg 
a2: er (e31) 
289: qq c16 

pa e119 
al: pa a 

e97=-i, hs e20 

bs (e23) 
ne 17 

elllzarn c14 

e55:as pp 
e 

hv 

qq 
psn 

hv 

psn 

udn 

hh 

hv 

hh 

psn 

pan 

pan 

psn 

udn 

psn 

hv 

psn 

hv 

a
 

i 

hv 

<
t
v
 

- 

hh 

sy 
1 

ud 

gm 
it 

sy 
hhn < 

e 
w
e
 

ew 
c
o
t
e
 
o
w
 

ct
 

2 

» lyn 

e9h 
6e4 
e354 

tek 
e35 
e62 
e76 
e58 
e92 

e104 
e62 
e19 
e89 
e56 
e105 

e73 
eT2 

teh 
LZ’ 

IPC 

e 
NPC 

MPC 

al 
64 

-2 

e20 

1 
64 
e931 

a3 

discinput] 
» hv 
» it 
» it 
» ud 

» PS 
» hv 
» hv 
D 

» bh 

e51 
a2 

(e31) 
d6 

al 

r= 

e122 

el} 

So
o 

Ww
e 

e 
3 
. 
? 

. 
3 

. 
3 
° 
3 
e 
3% 
° 
I 
e 
3 
° 
$ 
e 
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. 
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e 
3 
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° 
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e 
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. 
> 
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a 
° 
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. 
3 
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ed 

° 
3 

° 
’ 
° 
? 

° 
3 

e 
Pd 

° 
4 
e 
> 

° 
’ 
° 
> 

Se
e 

Ww
e 

w
e
 

No
e 

e
e
 

to
o 

Wo
e 

We
e 

We
 

We
e 

ts
e 

to
e 

hop hvis betingelse 
les 

b begin 
a blind 
e end 

£ flydende 
g gammelt medium 
h hjelp 

i informer operatg¢r 

k karakter input 

m maskintal 

n normal ordre input 

P parametre 

r relativ ordre input 
t text input 
u udhops adresse 

Ww sat work 

kanal beskrivelse 1 R 
eller ganmelt medium i M 
hent kanal og hop 
skip hvis gammelt medium er ydre 
ellers gem gammelt medium 

1 strimmel input 

8 skrivemaskine input 

sat r 

e20 verdi ved lesning fra ydre enhed 

gem et textord 1 stack 
modificer udhopsadresse 
og gemmeadresse i textleseprogram 

les char 

skip chars in upper case 
fortsat hvis ikke < 

hent resten af velg dise og hop



  

[30.5.67 slip, page 10] 

  

    

        

3 Slip karakterlayout. 

3¥ g 2a3 
3443] 0 1 2 3 \ 5 6 7 Las 
3 0 0 ol eat oe e eS eO MM e 0 
3 014 ok . ee . BB .s : 1 
3 2| 2 oJ ° ° e oA er e 2 
3 3 3 of e e e eK ep e 3 

3 4 4 eb ° e e 2 ot e 4 

3 5 5 oc . e s ot ° s 5 

3 6 6 ed e e e oM ° e 6 

3 TIT oe ® e ° oN ° e T 
; 8 8 ° ° e e oD e e 8 

3 919 . . ° e eV . . 9 
3 10 e e e e ok e e 10 

3 16 e . e e of e e 16 

3 18 . ° . . 20 . . 18 
3 19 e * ° ° 22 s e 19 

P 3 21 ° ° e ° eL ° e 21 
O 3 26 e ° e e oR . e 26 

; 3h e ° « e oP ° e 3h 
3 Wy e . e e el ° e kh 

3 45 . . . . ons . . ks 
3 46 : . . . f)F . 46 
3 47 . . . . ° . oh 47 
; 48 e e ° oy/ e e ee L8 

3 ho e e e e e e = ho 

3100 ° e ° ocr CR e e 6 100 

3101] J . . . . . . . 101 
3102 x - ° e e e e e 102 

3109 ml ML ° e e e ° ° ° 109 
3118] | . . . . . . . 118 
3119 119.0 e ° e ° e e e 119 

3120 T2060 e ° e e ® ° ® 120 
3121] [ . . . . ° . . 121 
3lee 3 e ° e ° e e e 122 

3123 . os e a e e e 123 ~o 3124| Sum eclear . . . . . ° 124 
3125; wp LOW. ° . . ° . . 125 3126] 126.0. . ° . . ° . 126 
3 

  

3 119.0 O blinde: stop end rgd tab off on blaa 
5 STOP END R@D TAB OFF CN BLAA 
3120.0 forbudte: 1 le: 10 15 26 42 45 46 47 65 
; Luc: 10 15 26 42 45 46 47 65 
  

3 

3126.0 blinde ogsaa i text: tf low TF UP 
3 O.5 resten: aa uvwxyzloqgeg\ AA VUWYJ@EEGH   
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[30.5.67 slip, page 11] 

[karaktertabel] 
els3 lige ulige nr lige 
3 lower case upper case lower upper iow up 

Ad 0052+109.394+ 0.12+109.19+ 0.24 1.9+ 5.224 0.29: 0 ml ML dq 0.52+ 2.394 0.12+102,19+ 0.2+ 3,9+ 422+ 48,29; 2 2 x Gd 0632+ 4.304 7.12+ 49.19+ 0.24 5,94 0,22+122.293 4 = Aq 0.52+ 6.39+ 0.12+121.19+ 042+ 7.94 0.22+101.293 6 6 [ 
qq 0052+ 8,39+ 6.12+ 4119+ 0.2+ 9.9+ 5,224 46,29; 8 B ( Gd 0652+120.39+ 0412+120.19+ 0.2+119.9+ 0,22+119.29310 
GQ 0.524199 .39+ 0.12+199.19+ 5.2+ 0.94 5,224 0.29312 end END GG 0652+123.39+ 0.12+118.19+ 0.2+120.9+ 0,22+120.29 514 | 
Gd 0052+ 0.394 5412+ 0.6194 2,2+123.9+ 1,.22+102.29316 0 A 
qa 6.32+ 1.39+ 5.12+ 45,194 6,2+ bege 5622+ 5,29318 s s 
WG 5032+ 0039+ 5412+ 0619+ 52+ 0.94 5.22+ 9.29320 u U 
Ad 5052+ 0.39+ 5612+ 0.194 5.2 0.9+ 5,22+ 10,29;22 w W 
AG 5eD2t 0639+ 512+ 0619+ 522+ 0.94 5,22+ 4. 29;2h y YX 
Ad 0452+120.59+ 0,12+120,19+ 4.24 48,9+ 3,22+ 0.29326 
AG 1652+124.39+ 1.12+124.19+ 0.2+119.9+ 0,22+119, 29328 clear CLEAR 
Ad 0652+119.39+ 0.12+119.19+ 0.2+119.9+ 0.22+119.29330 tab TAB 
dd 2.52+ 0.39+ 2.12+ O.19+ 1.2+ 2,94 5,22+ 0,29;32 . + 
GQ 1652+ 1.39+ 5.12+ 3,19+ 5.2+ 0.94 5,224 21,29 334 k K aq 6.32+ 0.394 5.12+ 6.194 5.24 45,94 522+ 7.29336 m M 
QQ 5652+ 0.594 5.12+ 18.19+ 6.24 3,9+ 5,224 34.29338 o 0 Ad Felt 0659+ 5o12+ 19.19+ 6,24 2,94 5,224 26,2930 gq Q AG 0432+120.39+ 0,12+120.19+ 5.2+ 0.9+ 5.22+ 0.20;h0 Ad 0652+119.39+ 0.12+119.19+ 0.2+120.9+ 0.22+120.29 344 on aN AG 0652+120.39+ 0.12+120.19+ 0,2+120.9+ 0,224+120.20 sh6 
QQ 5032+ 0639+ 512+ 0.194 1.24 3.9+ 5,22+ 2,20518 w Ez 
Gd 1632+ 4,30+ 5.12+ 1.194 1.24 5.94 5.224 16.29350 b B 
G4 1632+ 6,394 5,12+ 8,19+ 1.2+ 7.94 5,224 0.29352 a D 
qq 532+ 46.39+ 5.12+ 46.194 5.2+ 0.94 522+ 0.200;54 £ F 
dq 7032+ 47.30+ 5.12+ 0.19+ 1.24 0.94 5222+ 4h .29356 h H 
GQ 0.324126, 30+ 0.12+125.194+ 3.2+ 1.9+ 7.224 48,29358 low Low WG 0652+125.39+ 0.12+126.19+ 0.2+124,9+ 0,224+12h, 29360 up UP 
GA 0052+119.59+ 0.12+119.19+ 0,2+126.9+ 0.224126 -29;62 blaa BLAA 
qq 4.32+100.39+ 4.12+100.19+ 0, 2+120.9+ 0.22+120.29 364 er CR 

[begin] 
e34: qq cll , hv d6 3 

arn al7 3 
er(e5) , it (a18) ; 

b6: pt(e5) ,hs e31 ; 
gmn(e31) M 3 

al8:e63: am D tel 3 
hh b6 NZ 3; 
hs e31 ; 
hv bi 3 

{sporing] 
e51: ga e » amd 3 eh8:= 11, R:= index 

hs e16 IOB 3 hent, OB:= 0 
hv e52 LRA 3; defineret 
pa al7 , pt al7 3 

b2: gr fe9) » it (e48) 5 definer bit 1-10 
pa (e5) , hh 11 3 

  

ulige 

low up 
1 V 

3 / 
5 3 
7 ] 
9 ) 
stop SToP 
aa AA 

< > 

t T 
Vv Vv 

x x 

Zz Z 

? Pt] 

rgd RD 
off OFF 

j J 
1 L 
n N 
p P 
r R 

gp g 

a A 
e Cc 
e E 

g& G 
1 I 

sum SUM 
tf Tr



[30.5.67 
slip, page 12] 

bl: arn a21, ga a20 neste til R 
ca » hv b3 fardig hvis 0 
ek y» tl -30 id til pos 39 
ar al7 xX TOA $ k:= ent((Ref + id) /40) din 1e62 , ck -10 ks til Radr 
ca (ebk) | hyn b10 ks = kl 

bil: calkanalj960, hv ai9 
vk (eh6) , vk (b11) 

[2b11Jit(bi1) + 512 
bs 448, sk 238 
ga bil, vk (b11) 

ks = gammel ks 

velg gammel ks 

skriv gammel ks hvis < 960 

Ne
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W
e
 

W
e
 

Ww
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te
e 

oo
 

We
 

W
o
 

e
s
 

tu
s 

‘e
e 

1k e38 , vk 960 les ks 
bi0Oh:al9:arn a7, ar a6 

ga aQ » Clin -10 
ac ad » arn(a9) 
ck -10 V NOB ; if r V p then OA:= 1 
ck -2 V NA 37 — | eck -2 IOA 
eck 12 » G2 221 
er {29} » it (e48) 

neste adr gemmes 
c[id] endres 

No
e 

We
e 

O
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Ww
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Ww
e 

we
 

we
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W
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pa (a9), ck 29 
pi LO +511 if p then OA:= 0 
tk 31 ~— 

eh9: bs » bhn b8 ikke h 
a2h: qq V NOB 3 p, telledel 

hhn b8 NA 
ck =k » pm 6402 
ca 56 » tl 28 HV -> HH 
ca 32 «6, tl «226 PA «> PT 

b8: +t1 27 » ar (a9) 
a20: sr D LOA 3 -r 

ck -10 LOB 3 10 - 19 | ag: er >» hv bl paa plads 
b3: arn(e5) , ck 10 3 ordbog 

pi 256 V NOB -257 30-9 eller 10 - 19 
ay: qq e38-e39V 3 
a2l: qq » hv be 3 
als eck 20 NRB ; ordbog paa plads 

er (e5) Vv MQC 3 
e74: ne (e48) , hv 06 3 

hr s+ 3 

[redefinition] 
e52: bs » hv e74 3 kontroldefinition 

er (e5) , it (el8) | pa (e5) , it (el8) ; 
| pt (e5) , arn(e5) ; 

ck 20 » hv al 3 

[tel op i stak] 
e313 it e71 t 1 
e116:bs 639-1 » hr si 
e58h:hv 9 » pa e110 

i 4 
stakoverlgb, h udhop til help pi » hv ehé ” Ne

o 
W
e
 

o
o
 

Ww
e    



    

[30.5.67 

e73: ps el » 9 
€35:e109:aq 12, pm (2d) 

{udhopsadresse og end] 
a6 

Slip, page 13] 

u, ved e hoppes retur til e355, d6 til s © endkenalnr, RHO, 4i:= refho, ky 

s 

3 hsn e20 xX IPC 3 Indicer ref 1 P, les char ca 64 » hv s 3 hop hvis CR 
hs e9 3 les def adr 
ck 10 3 enhed 1 pos 39 
er e770 MB 3 set udhopsadr i exitparam hv s IPB 3 indicer udhop i PB og hop 

e61: gr ath » tin 10 3 resten af end er ald ,hv el6 ; 

e3: [bufferord eller kanalvalg] 
<035,aq €38+40,194+201.39 ; 4O ord ti] e38 aq d6+40,19+201.39 3 40 ord til 46 
x ga 3e3 3 [1e3]vk Vv NT $ velg gruppe 
[2e3]vk  -1 , it -64  ; 
[3e3]vk » hr st 3 velg kanal 
> 

[hent kanal til 6] 
e36: am c18 Dp 3 OP-kanal 
e: ca ci8 , hr 31 3 udhop hvis samme kanal <d35,ga e » tk -31 3 

ar les , il 3 les fra buffer 
hr sj 3 

x hs e3 3 velg kanal 
ga e » ik 4 3 
vk (3e3) , hr 31 3 

> 

[beting] 
e94: hs e10 » aa 6eh_ ; 

bs (141) , hv eb} ; 
pp 302 , hh e200 ; 

e72t qq clO , hv e&8 3 Set work 
e65: vy e103 4% -8 3 €55 verdi ved lesning med 1 el0h:qq c16 , hv a6 3 karakterinput ~ e105:qq cl6 , bh edh 3 textinput 

e357: vk (b11) , ud 2b1] 3 afslut slip 
sk e 3 Skriv sporingskanal hvis ngdvendigt vk 960 , vk dll; 
sk e110 , ar -2 3 
aq (-5) LA tdtheeso ; 
hv «9 3 skriv paramkanal, og hop til help, 

e110:qq 2 3 udhopsparametre til help ‘texits 3 
e70: Gat 3 her sattes evt. udhopsadresse 

3 
qaf 
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slip, page 14] 

1. syntax les til ,/: el CR og hop e4 
2. ford. udef, samme reaktion 
3. ikke erklmwret - - 
4, gal erkl, les ,/: el CR og hop 1b1 
5 ubenyttet symb. fortsetter 
6. kontrol def, - 
7. talfejl syntax - 
8, - stgrrelse ~- 
9. Stak overlgb leser fra skrivem, 

10. medium eksisterer ikke - 

fejl 

] 

velg evt. sporingskanal, test om i brug 

dan bufferord 

les fra buffer 
velg kanal 
les kanal og vent 

set ikke decimaler, og fgrcifre 

set fortegn 

udhop hvis ikke cifre 

tal:= tal xX 10 + ciffer 
korriger for flere cifre 
end der kan vere i M 
ingen faktor korrektion 

-8 eller 10/16 

korriger exp2 
kun effektiv under ypotens omr, 

udhop efter potens omregn, 
her starter lesning af »potens 
    

if pos exp then p:= 1 
else p:= =] 
ewe-wome 

feji exp for stor 

sat exp 103 hop til potens omr, 
Gruppe lesning 
own: 2, eT 

[30.567 

ba [tallesning og fejlreaktioner] 
e28: arn e60 , hs e 
cths hv d6 » hs a 
e2: hs a » hv el 
ce}: hs a 
ch: hs a 
e): hs a 
ce6: hs a » aq en] 
e7: hs a 
c8: hs a 
eo: hs a » a ae 
el2etths a 7 aq 22 

as ar ci3)6=— oD 

[hent kanal til e3 
e41: ar e108 , vk (el6) 

vk (b11) 5 ud 2b11 
e60: qq cl5 , sk e38 
a3:[1e60] pa b11 t 960 
€120:<d35,tk -31 , ar e3 

vk 960 , il 
x hs e3 

lk e38  , vk (363) 
>e108:qq c10 , hv. e38 
& 

b al [tallesning] 
a6=695+e1 23-2 

al7s: hsn e20 X 
adi pa al IZB 

ca 32 > it (e23) 
pa al » ca 32 

a8: hs e20 IZB 
bs p » hr st] 
ARS 4€3 =, CK 10 

af: PP » ML af 
PP pl NZ 
dl 26 X NZ 
CA Sp » HV af 
GM d » PM dl 

ai5: MKS pa> , NK ath 
BS p , iv 4 

al4; IT +-3 
ae: XR y IT -1 
al: BT y HV al5 

GM dl » PM a 
CAS see , HV ai6 

a9: HV aB , GM a 
HS ai7 

PP (ak) x 9 
BS p » PP 1 
PM dl » SR 2d2 
HS 8 NT 
AR 242 , CK -10 
GA al » HH ae 

al9: PA al8 + ho LZB 
ARS 4 » TK 10 
GR a » HS al7 
XR » ME ah 
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Slip, page 15] 

ny/ 
Talslut, 

Set mrk. 
sliplagring 

fejl terminator 

CR, udhop 
les evt, blinde terminatorer 

dan bufferord 

get word 

baandfejl 

rewind 

sumfejl 

gem op tabel i buffer 

beregn abs kanal af sidste kanal i slip 

e71 = staktop ved indhop, 
set gruppenr 

[30.5.67 

al8: TK +t-10 
NS (218) , CK gs 
AC a X 
CA 3 » HV al9 

al3: PP (243) , ARS a5 
BS pe1 » HV a 
IT (443) , CK (4a3) 
GA a20 , IT -k9 

a20: PI » PP & 
az HS el} 

BS pt508 , HS c7 
PM d3 X 

aeis CA 64 » HV ek 
HS e20 , QQ e 
HV 146 

<d55, b a9, bl [initialicer slip] 
2 dq 11+2,19+1546,39 

ajsceZ8:arn c37-5, ar c37-4 
e7isaBstk 20 , ck -20 
az ae oe} » ac 1e3 

ac al » ema 
a5: arn c37-4 , ar 642 

bh a9 NZ 
arn a6 » il 
arn 28 » ac al 
ac ¢cS7-5 , arn a6 

agh: us » hs c7l 
xr v LZ 
hv e¢7O 
ar 2 D LA 
ar | D LB 
ac a » it -1 
bt e67 , hv ad 

<d35-2,us(-31) + -96> 
<d35,arn a 

hv cT7 HZ 
am al » us 

Xb al, bi 
a: vk V 
c38: arn c37 —, ar al 
e71: tl -16 , tin -23 

di b » ar Dd 
ck -10 , ga 1e3 
ga a Xx 
sr al » Pm a 
em le3 V NT 
it (a), qq (23) 
ck -10 , ac e72 
ac elll , ac e108 
ac e34 , ac ©109 
ac e376 , ac e889 
ac e104 , ae e105 
ac e60 , ac e 

>  



  

[27.11.67 slip, page 16] 

grn e71-2 X MC 3 set slut merke 1 fgrste celle af stak ad: gm d3-1 M ti 3 nulstil arbejdsceller bt 2 t+ «3 3 
vk 960 , hv a3 3 
vk dli , lk e38~  $ les parameterkanal 
vk d37+d9, arn 1e38 3; hent parameter 
ar 960 OD NT $3 adder 960 til gruppe nr hvis mindre ena 512 am a2 Vv LA 3 hvis parameter + helpnumber hent image arm a2 NB 3; beskrivelse 
em e71-1 , ga e46 3; set gruppe nr 1 e46 
ga bil , it (b11) ; 
pt 1e60 3 
tk 10 » St eb7 = 3 ibt.19 til eb7 
gt ed » cl 10 3 Og ed 
em e66 , gt a 3 kb.39 til e66, 1.19 til a 
sr ada » ck 10 3 ibt.39 ren til R 
er 1e066 , mt bh © , ibt.39 til 1266 
ml 1e62 , gm e30 4O kb-ibt til e30 
am e66 , pm b2 
em 40e50 M set ingen ganmel streng 

3 
3 
3 
? 

ac eh7 , Ik eSh 3; 1bt.19+(4Okb-ibt).39 til ech7, les text kan. vk 209 = ,1ke39+e123 53 Iles taltryk kanal 
hs e21 > ps 512 3 Start tromleblok, 512 til s es 305 , gs 4d5 5 512 til 345, has, coo, 745 
gs 545 , gs 645 ; 
gs 745 , amd 3 
pa ed IPC te 71-2 ; 
pa e47 IQC te 71-1 ; 

blz ck #20 , hs ello 3 
hv bl 3 

2d:= e71 = 2.9 + tbt,39 el7:= e71 - 1.9 + idt.19 + kb 39 
Sat il 

pa e92 Vtel121 ; 
a2: aq €98+294410.19+10.393 

als b3=hO1-j, c=1k   
<435, d=-480, e40=80, ¢39=10-c40 
xd=6c-c30, elo=1 
> 

  
 



  

  

  

[30.567 slip, page 17] 

b k=c i038) af [mediumvalg] 
Shah, dh=ditelho, e69=k 

arm «2 IPC ; 
qq Vv NPC 
er 4oe50 MPC $; gem gammelt medium hvis internt 

= gammelt medium 
indicer a6 tom 
fyld sidste ord i navn op 

bs pl » hvia 
it (e111) , pa e 

e87: ps r-1 , arm [e59] 
hv [e122] NOA 
hs [e122] 
vk 960 , it e50 
bs (e31) , hv c9 

gp e531 , pp pel 
vk d37+d9-1, 1k a6 
pm ¢c36 DX IZA 
vk 960 , it e50 
pa ¢35+d6, hs ¢32+d63 search for mediumeme 

ikke plads i lager 
afstak navn 

igs searchkanal 
No
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am 1.2 VD LZ 

hv ele} name is not in katalog 
ar 206 , vk 960 
hv e121 LT fejl hvis outputmedium 
am 246 , vk 63 
aq e50 , ik 46 les init medium 
vk 960 , hs 46 init medium 
hv e121 NZ baandfejl 

abt pm -2 IQB 
hv a2 NC hop hvis ydre medium 
pa e116 tie 50 
din rat , ar ral 
ek -=10 , ga e100 
vk (e100) , el -10 
aa (-5) NQC te5o-a14 

a3: ga e101 , vk (e101) 
af: lk e50 , vy 16 

pm ra5 , vk 960 
am e20 , hv 1693 

gem gruppenr 
velg gruppe 

kanalplads til 650 
gem og velg kanal 
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as pm 4oe50 IQc 

gm -2 MQC 
hh a6 

ae=eT5 
ak: 960 3 
a53:c=1k, pp » hv ell] 3 

<i-40e38,:>3 lengde af velg medium 
beal-e38+b3, b1=ab-e38+b3 

fo
lo

a 

[her kan indskydes flere kanaler] 
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[30.5.67 
slip, page 18] 

<d35, X dl=0, c39=c-c30, e=¢30-6> 

b ksc, i=d6, b7 [tallesning] 
Tidadh, aladhreo 

ARS d3 ss, : HH ob 
BS pt511 , HV bi test for blinde, 
BS pt510 t ~-511 terminatorer 

bs hv. a2} » PA al Set expl0 
bis PM 256 Dx IZB 3; set cifre ikke lest 

GR di » PA ae Set 10-potens faktor og expe 
HSS 33 x les evt. fortegn og cifre 
BS p509 -512 IPC 3; set NPC, test for , O » 
XR » HH be rent heltal lest 
BS (e23) , HV »b3 
pa a7 | 

» uden e 

set efter , 
e
e
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HS a8 les decimaler 
HS ec] -NZB 3 fejl . uden cifre b3: PM 642 NZB. -39), » uden cifre al: XR » MD ab 
PM e253 X 
CA pt7T , HH a9 

al6: MLS a1 » NL v7 
XR 

heltal X » potens faktor 
HV b4 LZ 3 tal = 0; 

b7: IT » PP (a2) 
BS (e62) , HV b5 flydende 
Tm 4 ITA 
TK «1 » GR a 
AN nd NTA 
BS pt39 , HS 8 fejl, maskintal for stort, TK ptho — 
SR 642 LO korriger +1, 

bh: GR a Vv 
b5: NKF ptho , GRF a 

maskintal lagres 
flydende tal lagres 
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HS 8 LO fejl, maskintal for stort b6: hs e7 NZB ; endelig lagring 
be: hv ald , ME ab 3 fejl, uden cifre 

GR 4d x 3 hel%a1 
CA 3 » HV al9 3 test for gruppe 
BS tes) » HV al6 $ test for f, i = 370 BS (a2) , HS 8 3 fejl, helTal for stort 
HV v6 3 hop til test for cifre og lagring can sho9 , cm (r-410); 

Q5: aq 1.10+7.15 3 
e=1k, qq 320 3 
<i-l0d6, :>3; lengde af les tal 

f
o
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[30.5.67 slip, page 19] 

[begin] 
b ksce, i=d6, a5 
e11=d4, dh=ditelo 

hs e20 

ca 64 » hv eb 
les tegn, understregning inform 
» ny linie (ordre) 

b12: ca 3h » pi 32 »«k 
arn 145 

er alt , tk 10 Kny:= Kl 
ar ed » ar a5 
gr (e31) MPC $ pak[ref, ib, kl, 11] 

5 
3 

5 
3 
3 

3 
5 

arn d3 » ca 34 3,k 
ps ad > hv ab 3 

ai:[9d6] ca 57 , hh a 3 
b17: arm d5 y Dh ad 3 Iny:= I1 
b9:al: can(el5), am 642 3 if -, frisk then Kl:= Kl +1 
bi8sa3zac 105, hv e13 3; Tas = def. adre” 

cl -30 , gr alk = 3 kny:= lest 
hs el4 , hv bI7* 3 if CR 

a: ohv.s al »9 hs e135 3 
bi9h:adhicl -30, gr al5 3 i1:= Iny 

tk 20 » er eda 3 
it (e31) , pa 24 3 ref:=n 
hs e31 ,aq a2 3 tel n 
hv ie42 NPA 3 ikke tromle 
arn eh7 =, er (e31) $3 gem tromleref 
amalt , ar 24 3 
er el7 , it (e31) 3; 
pa el7 , hs e31 3 paklreft, int, kb] 

a2: hs eli6 IPC 3 andring 
arn el:7 » tL -30 3 
tln 10 =, tk 19 3 
tl -19 , mt r 3 
ml ie62 , em al7 3 Ref:= kb x 4O ~ ibt 

b1: can pe} 3 test 
hs ett , hv 1693 3 
hs e85 3 max index i R 
pm f23) X +td5 3 R:= stak[i], eSas= 1 
er (e31) , sr 2a 3 stak[n]:= stak[1] 
hv cl NT 3 if startli] > ref d.v.s. dobbelt erklering 
nen pek =, hv cl ; 
it (e31) , pa al? 3 
clin -11 ar e15 3 

é w
t
 

e=lk,ga e63 hv 1634 
<i-0d6,:>3 lengde af begin 
e



  

[30.5.67 slip, page 20] 

b kee, i=d6, b7 [ena] 
Ti2=al, dh=adht+eho 

ek eb > PS be 
vy » arn eh7 

bis vy 32 LKA t-33 
vy 16 LKB t-17 

3 

3 

3 

3 
sy 64 » ud e79 3 

bes hh s y hs e95 3 
am 2d » hs e8 ; 
arn d5 » hs e081 3 
arn 1d5 , hs e811 ; 

[330]pt e18 +t v5 3 
pp 2 , it (2a); 

b6: pa e31 , arn pld5 ; 
ga aah , pp pl 3 
gan b » it (aah) ; 
bs (e31) , hv bb. ; 

b3: gp .e5 » hs el6- 35 

er a a VY 
hv rl LRA 
tl -20 

[340lvy 16 NZ 
hv b LZ 

hs bl » sy pié 
am b » hs 633 
arn d » hs e777 
hv b LRA 
arn d » hs e80 

bs arn DD +i 
ck =30 , hv b3 

b5: arn(a2h) , er pd5 
b4:[350]bs p505, hh 06   pt e18 +t e5 

hs 01 , arn(el7) 
er eT] LPA 

arm d5 » Br ald 
am 145 , er ath 
arm(e31) , tl -20 
tk 20 > er 2a 
ps e953 , vy (e4) 
hv eh6 NPA 
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c=1k,tln 10 » hv e61 
<1-40d6,:>3 lengde af end 
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[30.5267 slip, page 21] 

b k=c, 1=d6, al6 [text] 
Ti6=dh, al=dlirelo 

alé: pm 32 D k karakterinput 
pt ab t a 

at hs e20  , arn d3 les eller hent symbol 
ca 19 » hv al hop hvis t eller T 
ea 59 y hv ald hop hvis + 
bs (243) , hv a hop hvis # 0-9 
em d » it 9 

bs (443) , hv a 
hsn e2ah xX les karakter nr 
tk 30 
pm a » hs ad 

e54: hh a » ud al6 » % textinput 
pt a6 Vt all 

als bs (e23) , it 1 
a9: pa af » pp e&2 

ps i » bh e20 * 
bs (e23) , hv a6 

a8: bsloutput case],hh 14 
hh aq » pa 2a 
arn 58 D 

ail: hh alO , ud if-1 
bs (a8), hs a5 

ai5: ps rel » am al3 
hv a5 NOA 
hs a5 > aq eben 
hhn e91 

output-case:= lower, text verdi i p 
les et symbol 
hvis input-case = upper, hop 
hvis output-case = upper, hop 
» Output-case:= lower 

» afslutning 

hvis output-case = upper, output lower 
fyld sidste ord op 
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abs hvis 3 , hop hh all 

hh hvis out-case = upper, hop ay 

hs a5 

ps a9 
ca 64 

ca 5 

bs (a8) 
arn 60 

al0s ga 28 ’ 
af: arn d3 : 
abdselee2iar ale , 

ar -1 D 
cl 36 V 
eck 10 » cl +6 

e119s:hs eb7 LOA 
cln 7 LOA 
hr sj IOA 

ala: 64//15 ; 
a133e59: 

c=1k, qq 59.39+10 
<i-l0d6,:>3 lengde af text 
e 

b k=e69, i=e38 
T=e87, ps r-1 , arn e59 

hv e122 NOA 
hs e122 
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[27.11.67 slip, page 22] 

b ksa, i=e38, a8 [fej1] 
t17adh, alaalireho 

  
can se] »y bv ad 3 Ssumfejl 

alsa2igi a »> ek xr 3 
pi » Sy 58 
pi (a1) IK +t.8 3; 
nen p-»1 » it 3 3 

pa e2 » 8Y 2 3 
am sece+eD IK 3 
ga ae » gs ad 3 
sy » hs e779 3 tryk fejltype 
arm 45 » hs e813; tryk adresse 

as pi » 8y 3 
can(e2) , hv al 3 hop skrivemaskine-input 

[610]bs (e23) , sy 60 ; 
sy (03) , sy 62  -3 tryk sidst laste symbol 

adi ps > pm ia xv 
pa e92 tie 93 3 
bs sec8 , am ial 3 
bs s-c5} , hr e15 3 udhop for type 6, 7, 8 of 9 
bs sech , hr 6el 3 udhop for type 5 
bs sec} , it b1 3 Set udhop for type 4 
ps tek .1 $ Set udhop for type 1, 2 og 3 
pp 2h8 , hh e20 3 skip til »/% el VR 

ah: pa e23 +t -10 3 set lower case hvis 
hh a3e1 3 skrivemaskineinput 

[sumfej1] 
a5: hs e6h 3 output text sum 

qq a6 » arn 243 _hent den korrekte sum til R 
ck 3 » sy 3 tryk bitmgnster 
pa a7 t 6 3 

a8s sy 1 Vv Lo ; 
sy 16 3 

we avs bt 6 t 1 3 
ck 1 » hv af 3 
pa e2 t 1 3 
sy 62 > Pm id 3 
ps (443) , hh e20 ; 

ab: c=ik, k 64, 29, 58 tsum;. 
<i-40e38,:53 lengde af Fejl 
e   
 



[30.5.67 Slip, page 23] 

  

b k=c, i=e38, a8 [sum-check] 
el o=alt, ah=dhteho 

bs (243) , hv a 3 hop hvis clear 
gm 1d » arn e96 $ gem M, hent sum 
tk «5 », ar e9 3; 
mb a8 , ar ab ; 
ga 203 , pm ie20 35; sum rest til 2d3 
am al » er 1e20 3 ret ord i 1620 

az pa e96 , hh e20 3; sum=0, les 
ai: hh al » @m 1e20 3; tilbage fra 1e20, retabler 1¢20 

ca 64 > ar a2 3 
ne (243) , hv al 3 hop hvis sumfejl 
pm id » bh e20 : 

al: gs 4a , ps 1 3 
hv e121 3 hent sumfejlkanal og hop 

re a8: qa 31 3 
aa: aq 1 > 3 
aj=i-e38 3 

b k=c, i=d6, al [set work] 
T=a7+a6 

e86: vk pen} » vk (b11) 5 
it (b11) + 512 3 
bs 448 , sk e38 3 skriv sporingsksnal 
vk 960 , vk 421 ; 
lk e38 , hs e10 3 les katalogkanal, les antal 
gaa » hs e10 3 les beg kanalnr 
ck -16 ,ar a 3 pak work ord 
eck -14 , vk 960 ;3 
vk d21 , sr 3e38 3; beregn andring af work 
ac 3e38 , sc 39e38 3 set work og sum 
pa bli +t 960 3 indicer e38 tom 
sk e38 , hv eb 3 skriv katalogkanal 

J a1=e98-960 3 
at c=1k, qq 4432.31+a1.15-a1.19 

<i-39d6,:>3 langde af sumcheck og set work 
[sumeelie] 
e 
e 
@138e17-c10, ¢c18=dh 
<d35, ¢31=c=c30, c=c31-c39, c=cetctetete, c=ctctete, e67=c+c-1 

aq d6+40.19+402c18.40 
X ¢31=6039 

ag 031.39-1.359 
i=c30, ct3 galt antal kanaler 
> 
e [slip] 
€30=¢30-d1 

 



    

[30.5267 slip, page 2k] 

b k#dh2, 1=0, a6 [load slip] 
Y=a2 

<d35 [buffermode ] 
vk d50 , vk d1+c393 dan checksum af lgse kanaler 

a: lk a9, pp 
vk dit+te39t 31 
it (a1) , pa ae 

als nt alg ,ikalg+hoalig 
aaz ar p » Pp pl 

ar 2 D LA 
ar 1 D LB 
bs pl72 , hv a2 
bt 031-1039 t ~1 
hh a 

PP pel, se (a2) 
vk di+c31-1, pp 
sk (a2) , vk 960 

fo
e 

W
e
 

W
e
 

W
e
 

w
e
 

w
e
 

W
e
 

W
e
 

w
e
 

w
e
 

w
e
 

W
e
 

w
s
 

<d39, <d35-1, <-d35+33 beregn antal karuselblokke 
pm ¢31.7+¢c314+63 D 
di 64 D 

X <d39, <d35; beregn antal disc eller baand blokke 
pm 9c31 D 
dil 10 D 

> <a, <d35, gr a3> 
<d39, hs 1 

hv al 
<a36, 
tres 3 

aqf 31 P,) 

x<a39, 
tset; 3 set slip in cat 

ads qaf 031.39 
[SToP, SUMJa i base of slip 
8 [STOP, CLEAR] > <a39 

aq 39, 

aq 57; 

aq 52, 
aqf 
tslips 

Gq ¢39+¢e38, 19+d20.294+¢30.39 
qat, 

al: hs 1 
hv a5 

tmove 3 
d=d19-960 

aq 50, 
qaf c31.23+d1.39+d. 29-0. 33 
tslips 
qaf, 

a5s hs 1 

hv a6 
tsetsum; 
Eslip; 
qaf, 

d2=1, a6: hsf 2 

 



  

[30.5067 slip, page 25] 

x d2=t, hv dh7 
ids 
d=450=960, aq 635.2+036.5+11 074031 23-01 39+d. 29-0, 33, 

aq, 
telip; 3 
Qqf ¢39+038.19+d20.29+¢c30.39 

au8=i, qaf 
> di=di+e31 
e 

  

  (stop, SUMJa i slip 
8 

  
 



  

  

[STOP, CLEAR] 
[23.6.67 (2) start, page 1] 

b k=d1, i=40d13, a5, b5 begin start to
o 

p=80413 
<d35=2, us(-31) t - 96> 

vk d19 | vk d16 
lk b , vk a6 
pa 8b , sk b 
vk 25416 , 1k b 
vk 25416 , grn 23d 

ENTRY START: if aux kind = tape then rewind tape; 
read image track 0; 
core init:= full init; 
write image track 0; . 
read image track 25; | 
clear core inhibit; 

No
e 

We
 

Ww
e 

W
e
 

e
e
 

te
e 

We
e 

We
 

W
o
 

W
e
 

W
o
 

te
e 

sk b write image track 25; _ | 
ps 4o , pm b3 for i:= 40 step -1 until 1 do 

a: gm s39b MB j 
ps s-1 . bs s buf[i]:= hsf 2; 
hv a 

a2h: pp di3-1 , hs c52 NEXT PARAM: get param; 
hv at , hv 058 " Jf number then goto set date; if single then alarm; 
hv -2 , tl -7 if end list then return to help; 
ne O hv 058 if kind + drum then param alarm; 

if work then 

Ris work-as-output; 

tl 5 , ca 4, 5+032.7 

arn d1l+ah5, t1 -2 
tl -30 , tin 16 
ger b2 , tin -23 blocks:= bits 8:23; 
hs 3 select track (bits 24:39); 

a3: sk HOb  , arn b2 rep: write to drum(buf) 
sr b1 , er be blocks := blocks = 13 marks:= 11; 
hh a2 LZ if blocks = 0 then goto next param; 

Ww
e 

W
e
 

W
e
 

We
 

w
e
 

we
 

w
e
 

w
e
 

W
e
 

w
e
 

Y
e
 

we
 

we
 

ps ad-1 , hv cl6 Select next track; goto rep; 

ai: arn 2c18 D IZA 
hs c2 

ern d14+1d51, arn p1 
ga d14+1d51, sr (r) 
er dth+d51, it 4.2 
pa ai4+d51, hs 8 
sk a14 | hh a2 

SET DATE: ZA:= O3 

get first track of catalog; 
run:= bits 0:9 of param; 

date:= qq 4.2 + bits 10:39 of param; 
correct sum; 

write track back on drun; goto next param; Ww
e 

we
 

w
e
 

we
 

w
e
 

w
e
 

w
e
 

bi: m ie 

b2: qq [no of tracks] 
b3: hsf 2 

count 

| 
ql   

w
o
 

W
e
 

w
e
 

  
 



  

  

    

  

[23.6.67 start, page 2] 

i=i+39, d=k-d1 
b k=dl2, i=0, 810 
a1=d19-960 
aad, <d35, a=1> 

ad = no of tracks 

al = group no for image 
a= no of blocks wo

o 
‘e
e 

W
o
 

W
e
 

<d39 3 if aux cnly then 
i=d2, hs1 3 begin 

hv al 3 if aux reserved then 
<a36, 

tres; 3 
qaf 4.39 3 res, no of blocks, 

x <d39 5 else 
tset; 3 set, aux kind, no of blocks, 
qaf 435.39 3 type in) 
qaf a.39 3 

[after i follows STOP, SUM and a sum character] 
ia base, start 
8 
[stTop, CLEAR] 
>< 439 3 ce 

qq 39, § concat pid 0, 
aq 57, 3 
qq (52, 3 
aqf 3 
tstarts 3 start, spec < 
qaf, 3 

al: hs 1 ; 
hv ad 3 
tmove; - 3 move, bleadplace, start < 
qaqa 50, 3 . 
qqtf 4.23+d1.59+a1.29-a1.33 3 
tstart; 3 

gat, 3 

a5: hs 1 ; 
hv a6 3 
tsetsum; 3 

tstart; 3 

qaf, 3 
d2=1 3 end else 
a6: hsf 2 3 

x 3 
1=ah8 3; ~ 

QQ 435.2+11.7+d36.5+d.23+d1.39, 3 load to primitive catalog; 
qq, 3 
tstart; 3 

ahbei , aqf 3 

> 3 
di=d+d1 ; 
e 3 end image load 
€ 3 end start 
[after i follows STOP, SUM and a sumcharacter] 
ia start 

Ss  



  
  

3slip< 

[3.7.67] 
[STOP, CLEAR] 

b i=10,b50, c20,d10,e10 
~ hv res 
b aco 

dT e0=552,e1sh1e0, e2=h1e1 

ecO:) «pmmnral » em si 
ar ar r0 vt i IQc 
al: gem s3 t -1M 

ar 2 D LA 

bs(ra) » bv ra 
a2: tk 1 > ps (10) 

vy 17 » ek rboi9 

pa 17 44 
hv 17 NZ 

do: vylda18a17], girb19 
du: vk[d21] , 1k e2 

ly rb » Ly rb 

[-1] ly rb » ly rb 
ne 13[aa] , hh r-1 

adsb: lyn[char] D 
ac (rb1) DV wT 
hv ralo 

qq (rb2) +1 
ca 66 » hv rail 
pp 39 » ca ko 
pp -1 Vv 
ne j » hv rato 

al: pm 1.3 DX IZA 
a5: tl -7 ,ilyri 
{1] pi [marks]t 12 LZA 
bi: ac [sumi] DXv NT 

hv raid 
hv rad X LZ 

v2: aq [sum2] Xt 6 
tl 3! » PP pl 

b3: ger ped MRC 
bs pk73—s,_hv ral 
bs pe359 » hv rag 
pm rb6 Vv NQA 
arn rbiO , hv raj 

dinrb7 » ar rb7 

ck -10 » ga rol 
b4: vk [group], ¢ln -20 
b5: get rb5 > vk [track] 

is (rb3) , sk s-39 
a6: arn rb8 =, ac rb6 

nt = > ito 
aq (rb3) , hv ra3 

b6: aq [current track] 
v7: aq 960.39 
b8: qq 1.39 

w
o
 

Ww
e 

we
 

No
e 

We
a 

Wo
e 

eo
 

We
 

we
 

We
 

We
 

We
 

w
o
 

We
e 

e
e
 

We
 

Wo
o 

Ww
e 

W
e
 

We
 

We
 

ee
 

ws
 

W
e
 

We
 

to
o 

We
 

w
o
 

wo
 

We
 

w
e
 

W
e
 

we
 

We
 

we
 

W
e
 

we
 

Ww
e 

Ww
e 

we
 

we
 

We
e 

ee
 

W
e
 

We
 

We
 

We
e 

Ww
e 

ee
 

We
 

[system punch/special binin] 

program start 
special binin block 

lower buf, upper buf, save catalog 

reestablish primitive input; 

R:= checksum3 

prep sum error: restore s3 

select(t,w), save tk; 
prepare SUM message; 
if R40 then goto write SUM; 
Save indicator; 
save date and run no3 
SKIP CHECKSUM: 
for i:= lyn,lyn,lyn,lyn while i}<aa> 03 
TNCHAR: 
Raddr:=lyn3'' ms tee 

af Raddr<O then + goto error else 
™ suml:= ‘unt FRaddr 3 
sum2:= sume+1$' 
if Raddr=66 then goto FINISH TAPE; 
if Raddr=40 then: p:=-1 else: - 

if Raddr=T th then p: =39 else 
goto error; 

ee ern 

  

  

INWORD: RM:=0; LZA:=true3' °°: °' 
for i:=1:step 1 until 6 do begin: : 
“RM: =RM: T2OV1lyn3 if LZA then begin 

RC:=bits 8 and: 93°LZA:=false end; 
if Raddr<O then goto error else 
“sum :=sumitRaddr end; 
sum2:=sum2+63 p:=ptl; 

cell[buf+p ]MRC: =RM6 ; 

  

Lf p<39 then goto INWORD; 
if p=40 then goto AREAWORD; 
NEXT TRACK?" ~~ 
if dise then goto outtrack}3 
vK( track?960+960) 

eee 

vk(track mod 960) ; 
write track from(buf) ; 
track: =track+ 5 

buf:= if buf=Lower then upper else lower 3 
goto INCHAR; 

  

[page 1] 

 



  

[3.7.67] [system punch/special binin] [page 2] 

a1:b9: qq [d53.9]+0.39 3 parameterwords for 
[ip9] aq [d53.94+53.39] =; us [uit] 

b10: qq e0.9+40.19-40.39 5 parameterwords for | 
[1b10] qq ¢0.9+40.19-40,39 3 us 0 

bil: qq 40,39 
[1b11] qq 1.21 

outtrack: 

param: =paramt+o ; us(0, buf, param) ; 
count: =count-1 $3 
if count>0 then goto INCHAR3 

afs ar rbil » us 
d2ibte: 

bt [count] + -1 
er robiO, hv ra3 

  

@ 
So

e 
We

e 
We

e 
‘o

s 
oe
 

W
e
 

We
 

Wo
 

d3:b14; outblock: 
pp [d53:40~1], grrb10 3 count:=block:40-13 

b13: can 41°" hs ra8 3; if -,first then sense; 
b17: nt 169-1 armrb9+1b9 3 exchange buffers 3 

3 

2 

ar rbo"" , us (rb18) ; us(unit, track, buffer) ; 
nt 1b10-i , pmrb10+1b10; 

gm Tbi0.—,_~pa rb13 3 param:=new buffer base-o; 
armrib11 , ac rb6 3 track:=track+13 
gp rbi2, 3 goto INCHAR; 

bid: aq 3 status word 

[1b15] qq b15.9+1.19+4095.39; get status 
De eee pte 

hv rad 

  

3 procedure sense; 
a8: parbi6 3, amribi5 ; ~ begin rep:=03 
618: il [unit] , il L: “if Status word(unit)< 4 then 

arnrb15 =, pm rbd 

  
begin 

a 

? 

hv si NT 3 Yep:=reptl3'' 
| b16: bt [rep] Xt -150 3 if-rep>3 then 

hv rai0 3 “goto error; 
pa rq » it (rb17) 3 ustunit, track, buffer) ; 

[1] is ro >» ar si-bi7 3 goto L 
I us (¥b18) , hh ra8 3; end” 

3 end;~ 

a9: hs ra8 LQA 3AREAWORD: if dise then sense; 
pm (rb3) X TQc 3 Risset marks(cellTbuftp]) 3: disc:=LA; 

3» pa rb3- VteO— LQA 
gr rb6 > hv raz 
garb1i8 , tk 18 
it (rb18) + 16 
pa rb13), gr rb6 
vk 960 > hv rad 

cat:=LB; if-:+;dise then begin 

tracks:=R; goto INCHAR end; 
unit:= parti (R) +16; track:=Rpos21 3 

first: =true} 
wait for track; goto INCHAR 3 No

e 
Ww

e 
We
 

we
 

wo
 

we
 

    

 



  
  

  

  

‘s
 

  

[3.7.67] 

alo: 

b19: pi [in] , vk [tk] 
amr » hv rae 

aii: lynrb » tk -7 
ly rb » tk -7 
ly rb > kh 
ne (rb2) , hv rail0 
ck 10 » vk 960 
ne (rb1) , hv rai0 

vk (rdk) , ps (10) 
hv rai3 NQB 
1k e0 » vk (ral) 
Ppp 5 » pm ped 

PP pl LB 
pm pea » @m ped 
pm plee » gem pled 

pm ic: DX 

ale: ar e0-1 t 1 

ar 2 D LA 
ar |] D LB 

sc 39e0 V LC 

hv rale 

sk e0 » vk 960 

a13: arn 35 » ca 37 
a5: ps [cl5-ch1], hh -9 

vk 1 » 1k 4o 
pi (rbi9) , ud rbi9 
a (17) 1 

amrb19 » tk 10 

46: ca (rdk) , hv [c53] 
hv 39 

ei: aqgf 

lo
 

Ne
e 

We
 

We
e 

Ge
 

ee
 

We
 

We
 

We
 

te
e 

No
e 

We
e 

Wo
e 

We
 

We
e 

[system punch/special binin] [page 3] 

serrort restore indicator; restore tk; 
3 Re=not zero; goto prep sum errors; 

ee TAPES*§ tees 

R:=((lynshift-7Vlyn) shift-7 
--Viyn) shift 4s 
if parti (Ry Zsumov: 
““part2(R)+¢sum1 then 

goto error; select group(0); Ww
e 

eo
 

We
 

Ww
e 

Ww
e 

restore'ss' s::! 

if cat then begin 
fetch first catalog track; 

p:=rel address of date; 
date:=saved date; 

run no:=saved run no3 

form new checksum; 

write track ends 

if:no'summation then 
“goto SEL TYPEWRITER ; 
fetch track 13 
restore indicator; restore track; 
prepare track 1 call of SUM; 
if catalog track was selected then 
“goto read and check Help; 

goto é end of track 0$ 

  

Ww
e 

Ww
e 

W
e
 

Ww
e 

we
e 

ee
 

We
 

We
 

checksum words . 
a 

3 end special binin;



  

  

  

[5.7.67] [system punch/binout] [page 4] 

b 220 
d e7=552 3 binout buf 

a0: pp e7 » Pm p 3 OUTPUT: phe as 
ar 1.1 D LA 3 for'is=words step 1 until 1 d 
ar 1.2 D LB “begin _ 

b20: aq [sume] Xt 6 Sumo: =sum2+6 $ 

  

3 

al: cl 32 > ga ri 3 R:soutbuf[p]: 
[1] sy «1 ,» it -100 3 M:=marks(outbuf[p]);: 
bet: bt O » hv ral 3 for j:=1 step 1 until 6 do 

cl =7 » bh ra2 3 writechar(char(j) of: (RM)) ; 
alz payrbel  , pp pl 3 prsptis 
b22: can{words] t -1 3 ends 

hr s1 3 return; 
a3: hh rad 3 

[Bootstrap program, 6 7-bit characters /word, Bits of: Curr instr, prec.] 
be3: aq  2.6+ 0.13+ 0.20+ 0.27+ 0.34 0.39 3 hv s 25-39, length = | 

(bits 29-34, 36-38 is length] 
aq 2,6+ 4,15+ 0.20+ 0.27+ 0.344 7.39 $ em sT t-1 M 25-39, O-2h 
qaf 28.6+ 2,13+ 0,20+127.27+63.34+11.39 3 hv s IKC 19-39, 0-24 

@ qq 32.6+ 6,13+56,20+ 6427+ 0.34+ 0.39 5 er xx t 1 MPC 25-39, 0-18 
[4b23] qq 0.6+ 0.13+ 0,20+ + 0.27464, 34+10.39,3 pi O +t -kO 31-39, O-2h 

[bits 15-20, 22-24 is 510-length] 
aq 28.6+ 0.13+ 7.20+103.27+H9 34+ 8.39 3 hv xx MR 19-39, 0-30 

[6b23] qq 0.6+32.13+96.20+ 0.27+ 0.34+ 0.39 3 t1 12 V IK 25-39, 0-18 
[bits 22-27, 29-31 is 513-length] 

gaf 24.6+44,13+ 1,20+ 32,27+64.34+ 2.39 3 bs (r4) TO 19-39, O-2h ? 

aq 0.6+ 0.13+32.20+ 6427+ 0.34+ 0.39 3 fill , 0-18 
qq 64,20+ O.27+ 0.344 0.39 ; fill 

beh: = qq 45.39 3 length of track 0 
[1b24] qq ¢1.39-c0.3941.39 5 length of special binin | 

c2: vy 32 >» sy 14 sbinout track'O form: 
a5: sy 17 > pt -1 3 writetext(+¢<$) ; sumi:=03 

pp <1 » Pp pl 3 ~ 
pa ri » it rb25 3 fetch boot; 

[1] pm po IPC ; 
* em pe7 MPC 

Ss bs p503: , bh r-4 3 
b25: pm rbekh , tl 36 3 

tk 5, ae e7 3 pack(length) into:(boot[0]) ; 
tin 4 » ac e7 3 
pa ra6: +t 507 3 : 

a6: arn 507 Dt 3 ; 
ck 10. =, sr (rb25) ; 
tl -3 , tk 19 3 pack(510-length, boot[4]) ; 
ac he7 » tin 18 3; 
ac 4e7 » ud rab ; 
ck 10 , sr(rb25) ; 
tl -3 , tk 12 ; 
ac 6e7 » tin 11 3 pack(513-length, boot[6]) ; 
ac 6e7 3 
pa rb22 st: *'10 3 words :=103 { 
pa rb20.—st 1 3 sum2:=1;(prepare final 64 mark) 
hs rad 3 OUTPUT; 
pm(rb25)  , gm vbi7 =; current length:=length; 

| 
i 
q 

 



[6.7.67] [system punch/binout] [page 5] 

  

  

      

  

  

  

a7:b26: med 3OUT BINO: 
pm rei2 ti 3 iword:=lword+13 

@ ar 1.1 OD LA 3 
= ar 1.2 D LB 3 RM:=(set: marks (cel1fiwora]) pos 39+ 

aq(rb20) +7 3. marks pos 78) shift Bhs 
ck 3 X 3 sum2:=sum-t73° 0 
el 34 » pp -6 3 for pi=-6 step 1 until 0 do 

aS: ck -4 > ga re 3 begin 
bs pl > it 64 ; eItSchar( (it p=0 then 64 else 5 0)+ 

[2] sy -] > PP pl 3 Raddr shift -4); ~~ 
bs p511 3 RM:=RM shift -6 
eln -6 » hv rao 3 ends 

arm rbi7 , sr rb8 3 current length:= current length-1 
sy 64 Vv LZ 3 if-current length+0 then 
er rbu7, hv raT 3 goto OUT BINO; 

c17: it(rb20) , pa -1 ;WRAPUP: R:=sum2x102l+sum1 3 
arm -1 » ck 10 3 

ga xl , ck -7 3 writechar(bits(3)throu:(9) of:(R)); 
sy <1 > garni 3 writechar(bits(36,2,R)); 
sy =T » cK «7 3 writechar(bits(29, 35,R)) 3 

] gaY-1 =, sy(r-1) . 3 
~ vy 17 , hr si 4 select(t,w)3; return; 

b30: aq 1639 3 heading word (initially help) 
[1630] qqld37] 3 length 
[2630] aq 1.39 3 abs base - - 

e3: ms 3 procedure binout; begin 
be7T? can -1 » hv ralO 3; if no “heading yet then 

pa rb26 0 t c0-b26-1 3; ~~ begin binout track 0 form (special binin); 
aqg(rb25) + 1 ; 
hs re2 3 

pa rb20. it ‘1 3. sum2:= 13(prepare final 66 mark) 
vy 32 > sy 13 3 select(p) ; writechar( 13); 
pa rbe7 i, pt -1 3 no heading yet:= false; sumi:= 0 ends 

al0: gs rb28 , vy 32 3 select(p) 3; —— — 
qga(rb20) +1 3 sum2:= sum2 + 13 
pm rb30 IPA 3; disc out:= A mark(heading word); 

é sy 1 » Pp rb30 3 «~writechar(1)3 
Ss pa rbee2 tt 1 3 words:=13 

pa rda7 » hs ra3 3. count:= 03‘ QUTPUT(heading word) ; 
ali: hh raik LPA 3$NEXT TRACK: if -,dise out then 

pm r2b30 , hs rc8 3 begin select track( abs base) $ 
arn rb8-—s,_ ac r2b30 3; abs base:=abs baset1; 
1k e7 > vk 960 3 read track to(track buf); 
arm r1b30 , sr rb8 3. length:= length-1 
gr rib30 IZB SO; LZB:= length=0; 

ai3: pa ro22 + ko 3;OUT TRACK: | 
qa(rb20) +1 3 words:=40; sum2:= sum2+1; 
sy ho » hs rad 3. writechar(40) ; GUTPUT(trackbuf) ; 
hv rail NZB i; if -,LZB then goto NEXT TRACK; | 

p28: ps[s] > vy 17 F Select(t; W)$ 
{hr s1 >] 3 return end; 

| 
4 
| 

| | | @ ! 
|   
 



    

  

[system punch/binout cont, ] [page 6] 

  

[writetext, querry, get] 

» am rbiO ; else begin bufad:=bufad+ho; 
, il 3 Lit0,trackbuf,bufad); LZB:=false; 
t -1 IZB ; count: =count-1; if count>0 then 
» hv rald 3 =©goto OUT TRACK; 
», it sl 3 cour s=block :40 5 

? 

» PMribiO 3; rep:=03 bufad:= -40; 
> ga mb29 srepeat input: unit:= part1(heading word) ; 
» tk a 3 ° 
, ar ral 3 i1(mit,0,blockpart(abs base)) 3 
,amribi5; -: 
» 11 816 3 if-status(umit)<O then 
» am rbi5 3 “begin: rep:= reptl3 
vt -150 LT ; goto'if rep>3 then ERROR 
; bh re 3 “else repeat input 
» bh rev 3 end; 

» 8c r2b30 3; abs base:= abs base +:13 
» er rib30 3; Ilength:= length - 13 if length< then return; 
xX NT 3; goto al5 — — 

> 3 end 

a e3=-86[ search base], e4=40e7[ cat in],e5="0el[cat out], e6=40e5 

[15.7.67] 

alu: hr si 
a5: ar rbo1i 

aj: pt{ count] 
er rbio 
is(rd3) 
pa ray 
pa rb31 

al6; arn rb30 
arn r2b30 
ck -10 

v29:  11Lunit] 
is(rb29) 
i1 

b31: = vtLrep] 
sr rb8 
pp rb33 

[+2] hv raié 
ar r1b30 
bv rais 

hv rb28 
e 
B a20 

as 
chs pm p 
ae: cl ~6 

ga raz 
pp pl 

ais ca 10 

»32: aqaqlpos] 
ad: ag{ char] 

qa(ra3) 
arn =-1 

gr -1 

alts 
e53 pm ~1 

ca 37 
ne 2h 

sy 53 
gm =] 
sy 38 

a5: 0 ag. 

cé: hs 29e3 
hh s 

eT: pp rb34 

zq 

b33: k63,29 
tfaults 
62. 
p34: «63,29 
tcatalog; 
62. | 
B35: k63,29 
+Pully 

62. 

d
e
 

we 
e
e
 

we 
w
e
 

c
h
t
 

-
_
 

we
 

we 
we 

we 
e
f
 

we 
we
 

arn rai 

tk -4 
ca 15 

hv ra 

hv s1 

1 

ca 63 

sy(ra3) 
hv ra2 

lyn ra5 
hv rh 
hv ral 
sy 18 
hv s1 

gm ~1 

hh s 

hs rel 
hv r 

3 procedure writetext(p); integer p; ‘begin 
snext wore: M:= cell{p]; RU37?M):= 3 13 
jnext char: char:= MAG 3 RM:= RM:643— 

if-char=15 then begin p:= ptl} 
“goto next Word end; 
if ch char+10 then begin 
“pos := pos+T} T3 R:= suml3 writechar(if char=63 
then'64 else char); suml:= R3 

‘go to'next char 
end end; 
— EES 

Ww
e 

Ww
e 

W
e
 

w
e
 

w
e
 

Ne
o 

Ww
e 

Boolean procedure querry; begin Ms= sum13 
Li-i:="lyn; if i=<m> then ~ "°°"! 
begin ‘writechar(<o>)3"querry:= false 
end else if i+<y> then goto L else 
begin writechar(<e>);~ writechar( <s>) $ 
querry:= true end; suml:= M ends Yo

o 
W
o
 

W
e
 

Ww
e 

t
o
 

Ww
e 

wo
n 

we
 

3 integer procedure get; 
3 if get word=0 then get:= M else catsum: 
3 “begin writetext(featalog})} stop end; 
;ERROR: writetext(¢fault}) 3 stop; 

 



    

(15.7.67] 

08: din rb7  , ar rb7 
ck -10 » gar 

[1] vk group] , cln -20 
bi8: eter » vk[ track] 

hr s1 
093 

b36: gre5-1 +1 #£¥MPC 

bg: 

it(rbd36) , bs 38e5 
hr si 

gm 39e5 MC 

pm[reltr] DXt 1 
pa rb36 e5-1 t 

pa rl t 

=] t 

ar D- D LA 
ar j D 

sc 39e5 V 

pm rb38 =, hv _raf6 
hs rc8 
sk e5 » vk 960 
am rod8 =, ac rb38 
se rb37 ITB 

hv s1 NTB 
pp rb55 » hh re7 

qalwork length] 
aqlwork base 1] 
qaql work base 2] 
qalfirst free] 
qqfold length] 
qalcurrent length] 

Ne
e 

W
e
 

w
e
 

G
e
 

w
e
 

[system punch/select track, cat out] [page 7] 

procedure select track(M); integer M; 
begin 

VE(M:960 +960) ; 
vk(M 1 mod 960) 
end; 

nee? 

3out: oword:= oword+13-celiloword]:= 

No
e 

Wo
e 

We
 

oe
 

WF
 

we
 

We
 

wo
 

We
 

We
e 

We
e 

Wo
e 

We
 

in
e 

to
e 

to
e 

te
s 

No
e 

W
e
 

W
e
 

W
e
 

G
e
 

we
 

we
 

we
 

we
 

marks[oword]:= PC; if oword<rel 39 then 
return 3 

cell[rel 39]:= 03 marks[rel 39]:=C; 
reltr:= reltr+1; j:= rel 0 -13 
for’sum:= reltr, _Sum+setmarks(celi[ j]) 
mas 

celifrel 39]:= -sun; 

select track(work base 1)3 
write track from(rel 0); wait for track; 
work base 1;= work base 1+13 
work length:= work: length-13 
if work length>O shen returm; 
writetext(<fulT) i Stop; 

the following locations overwrite 
the prozram initialization 

used in out bin 0 

 



    

  

[15.7.67] 

b a30 

C153 

c10: 

phe 

als 

bh 

a5: 

arn e3 

gt rd6 
ga rd5 
ac rdl 

ek 10 

xr 
sr rb8 

ga rd2 
arm 2he3 
ga rah: 
ar ricd 

ar 2 
hv rad 

se rel 

PP rb39 
hs re5 

vk 960 
1k ret} 

aq eb 
vy 32 
bt oO 

vy 17 
sy 0 

pp rblo 
hs re5 

am 1e3 
gr rib30 

arm rble 
hs 5e3 

hv re7 

pm(29e3) 
hv ra2i 

ga roh3 
pilkina] 
hh ra6 
hh ral 
tl -3e 

gr rb37 
gr rb38 
arn(29e3) 
hv ra7 

hs rc6 
gr reb38 
ck 8 
ck -2 
hv ra7 
hs rc6 
hv ra5 

[hh raB 

to
 
c
t
s
 

e
e
 

e
e
 
e
e
 

e
e
 
e
e
 

<
a
G
d
w
e
 

we 
we 
e
e
 

&
 

“
 

we
 

Ww 
fw

 
f
e
 

t 

we 
Ww 

fw 
fe
 

we 
we 

Ww 
we 

te 

[system punch/initializing] [page 8] 

ga 
tk 
tk 

ac 
ac 

rdo 

20 
10 
ridt 

ridi 

din rb11 
ck 

ga 
ck 

-10 

rd 

-10 

vyn 17 
1 

hs 

hv 

vk 

vk 

hs 

pa 

i) 

hv 

hs 

hv 

tl 
hs 

ga 

560 

LA 
NB 
M 

re4 
ral 

0 

960 

ree 

ri 

r-2 

re4 
ra2 

-30 
re 

the3 
IZA 

NZ 

TPC 
LZ 

NTB 
NQA 

tln 16 
tin 16 
gr 

hs 

mb 

arn(29e3) 
tk 

hs 

hs 

qq 

r1b38 

reg 

NQA 
rohh 

16 
reg 

reg 

LPA 

eo
 

Ww
e 

We
 

Ww
e 

Ww
e 

we
 

Ww
e 

We
 

Ww
e 

ee
 

se
 

We
 

We
e 

to
e 

e
e
 

to
e 

Oe
 

We
 

We
e 

W
e
 START PROGRAM: j;comment 

fetch and spread system parameters: 
d18+d17, ¢53, ch5-chi, a53 
ad37‘is fetched at 2al 
d53:40-1 

a213 

select(t, w)3 

form checksum for special binin3; 

TRACK 0: 

writetext(ttrack -O4) ; 
if querry then begin 
“fetch track 0;7~ 
CUT BIN oftzack 0) 
‘-outspace( 100) 

ends 

writetext(thelp}) ; 
if querry then 
“pinout(1) length: (437); 

No
e 

W
e
 

We
 

Ww
e 

we
 

eo
 

We
e 

c
o
 

Ww
e 

oe
 

assign buffer area for search; 
fetch first catalog track; 
if RO then goto catsum; Ne

o 
wo
e 

Ww
e 

sTAKE' LAST ITEM: R:= set PC(store[iword]); 
3 comment:see also Help 3 page 133 

if R=0 then goto MAYBE END; 
in:= kind;— 
if: special: then' begin 
“if free then bi begin 

set work: 
work length:= blocks(R) ; 
work basel:= work base2:= first block(R)3 
out(store[iword]}) ;: 
if -,free then goto name comes} 
First free:= getA2h 0:16 ms: 
R:=: store[iwora]ASm 160 16 mg 
comment booked:= 0; 

out(R)$ goto name comes end free; 
work: out(R)F 

R:= gets 

if-LPA then secondary work: goto set work; 
Zoto next out end special; 

‘e
e 

  

Ww
e 

W
e
 

We
 

Ww
e 

W
e
 

We
 

w
e
 

we
 

w
e
 

We
 

W
e
 

we
 

w
e
 

e
e
 

W
e
 

W
e
 

 



    

[system punch/catalog scan] [page 9] (16.7.67] 

ab: hh ra8 » tl -7 
ne 0 » ca] 
pp e6-1 =, bh raQ 
tl 7 » hs reg 

ab: hs re6 » hs reQ 
al: hs re6 > a4 
{1a7] aqalsee 1a10}) V 12 

hh raf NA 
a9: hv raZ » &p ro6 

tl 7 » ud raid 
hs rc6 > aa 

210% 
bh6: grflistack] t 1 MPC 

hs rc6 » ud ria7 
hv ralO NA 

pp ie6 =, mp 
pp pi LA 
pm -1 >» sy 64 

gm =] » pi(rbk3) 
pa rbd32.—i«, hs rch 

all: bs(rb32) + 7 
sy 0 » hv rate 

qa(rb32) + 1 
sy 0 » hv rail 

ale: hs red » hv ral7 
pm e6 X 
hv rai3 LPB 
tl -32 , tin 16 
er rib30 , tin 4 
tl 12 Vv NTA 
ck 18 , tl 12 
gr rb30 MTA 
mb rbu4 =, gr r2b30 

al6: ps rai9, hv re} 

ai3: pm rep38 , mb rbby 
gm rb30 MTA 
gr r2b30 , tk 18 
hv rail LTA 
tl 23 
arn e6 » ck -16 
t1 16 » hv ral5 

all: ga rb30 
tl 27 » arn e6 
ck -12 | t1 12 

al5: gr e6 > ck 8 
tl -24 » er r1b30 
ac reb38 =, hv rai6 

if kind=drum 

“Vkind=dise then 
goto STACK TTEM; 

out(R); Rs= gets 
gnext out: out(R); 
jname‘ comes: R:= gets; 
3 goto if R}OANA then 
3 next out else TAKE LAST ITEM; 
sOTACK ITEM: 

3 istack:= stack bottom: 

3 for‘R:= R, get, get while NAANA do 
3 begin 
3 

3 

3 
Wo

o 
We
 

we
 

We
e 

  

  

Storel istack] MPC:= R3 
istack:= istack+T 

end 3 

pos:= 03 M:= sumi; writecr;3 
sumi:= M3; in:= bits and kind; 

writetext(address(stack[if Amark( 
stack[1]) then 2:else 1])); 

for pos:= pos+T whi while pos<7 do 
“writechar(0) $ 
writechar(0) 3 

if -,querry then goto NOs 

YES: R:= stacklTJ;~comment the areaword; 
if -,reserved then begin 

3; Tength:= blocks(R); 
; heading word:= first block(R)+ 

(if disc area then wnit(R) else‘0) pos 9+ 
(if dise area then 1 else 0) pos 403 

binouts; ‘goto' OUT STACK 
end else begin 

heading word:= 
if disc area then 

  

first free-unit(first free) 
tunit(stack[1]) pos 9+1 pos ho 
else first free; 

abs base:= stack[1]A2# 0 16 m; 
stack[1]:= stack[1]A2¢ mfirst free; 

length:= blocks(stack[1]); 
first free:= first freetlength; 

; 
; 
es 

3 

* 

3 

3 

3 

; 

3 

3 

3 

3 

a’ 

? 

3 

> 

; 

3 abs base:='first block(R); 
3 

3 

3 

2 

3 

3 

3 

3 
* 

? 

° 

? 

3 
eo 

a 

° 

3 

3 

3 binout; goto OUT STACK end YES; 
  

 



  

  

  

[16.7.67] [system punch/catalog scan] [page 10] 

@ ai7: hv ra3 LPB ;NO: if reserved then goto TAKE LAST ITEM; 
d al9=i-1 3 OUT - STACK: 
ali8:  parbl5 +t e6-1 3 for j:= stack bottom 
bu5: pn] Xt 1 IPC 3; “step 1 mtil istack do 

hs reg 3 out(storelj]); 
pm rbi5 xX 3 
ne(rb46)  , hv rbi5 3 
hv raj 3 goto TAKE LAST ITEM; 

a2i: pare Vt 39 LB ;MAYBE' END: if:'+;LB then 
hs rc6 » hv raZ 3 begin get;”"goto TAKE LAST ITEM end; 

  

3END: SCAN: 
[-1] bt 39 t -1 for j:= 1 step 1 umtil 39 do 

ps r-2 , hyn reg ~out(o);. 
select track(work base2) ; 
read track; 

R:= free areaword; 

pm r1b38 =, hs rc8 
1k eb ; ud rbug 
arn el » ck 2 

No
w 

We
 

Ww
e 

We
 

W
e
 

te
e 

Ww
e 

pm ef X IOB 
e ck 8 » tl -24 old length:= blocks(R) ; 

gr 13b38 3 free areaword:= 
tln -25 XV NOB 
tln 4 ,» bh ra22 
ar 13038, sr r2b38 
tk 16 » ar r2p38 

a2ze: hv ra23 , arn r2b38 

(if free kind=drum then 
(first block(R)+old Length 
-first free)pos23+first free 
else 

(first block(R)+old: length: 
-(first freeA28 0 12 m) )pos23+first free 

Ne
o 

We
 

to
e 

We
 

Ww
e 

W
e
 

Ww
e 

We
 

W
e
 

se r3b38 X +free kind pos?) 
tl -27 » ar r3b38 
tk 16 » ac reb38 +specialt+booked to be set; 

pm elt » tl 23 
arm r2b38 , ck ~16 

Wo
o 

W
e
 

we
 

ti 4 » ck 12 
it 1.2 3 

a23: ar 1,341.6 D ; 
gr el » it] 3 reltrack in search:= 13 
pa i5e3 , hs 15e3 3 sum track; 

» ud rbyg ss; 
& sk eh » vk 960 3 write track; wait for track; 

. pm 2he4 , arn rbuQ 3 heading word:= d21 pos39+1 posh; 
gm rb30 MB 3; abs base:= work base 53 
pm r1b38 =, gm r2b30 3; length:= reltr pos 393; 
t1 -30 5, gr rib30 ; — 
pp rout, hs rel 3 writetext({catalog) ; 
hs re5 » hv re 3 if querry then 
hs red 3 binout; 
vy 32 », sy 66 3 select(p); writechar(66) ; 
hs rely 3 WRAPUP$ 

PREPARE NEXT RUN: 

prepare track 0 output; 

pa rb25 t+ bah-b25 
pa rb2e6 ot e133 
pm ribiO  , gm rb10 
grmrbi5 M 

pm rb8 > pa rblg 
pa rb36—s t: e5-1 prepare out; 
gm rb30 M prepare help output; 
em reb50 , it -1 no'heading yet:= true; 

Ne
e 

Ww
e 

We
 

We
 

we
 

W
e
 

We
e 

w
o
 

W
e
 

& pa rbe7 » hv reld goto TRACK 03   
 



  

[17.7.67] [system punch/tail] 

babs + qq 1.23-1.39 3 mask 24 0 16 m3 
b39: k58, 62,63 ™~ 
t 

track 0 3 

pho: + 
help ~ 
bai: t 
catalog 3 

Ne
e 

d c12=i-1,¢13=c12-b26 

vk 960 
ly r 
ly r 
1k 0 

hv J 

vk O 

ly r 
sk reli 

vk O 

track O heading 

ew 
Ww

’ 
we

 
we

 

No
e 

W
e
 

we
e 

w
e
 

we
 

end program block oO
 

wo
 

c16: hs 1 
hsf 2 
tbinout; 

qq. 16 ’ 
gaf 10,19+¢11.39 

aqf ’ 

binout, 0 10..cl1< 

No
e 

W
a
 

We
 

w
e
 

W
e
 

W
e
 

ESToP,SUM J 
isystem punch 

eci6 

[page 11] 

 



  
  

yslip< 
[29.7.67 (2) Check bin, page 1] 

@ [STOP, CLEAR] 
b al5, b15 

{=10 

au: vy 17 , pa rb2 $3 START: select(t, w)3 sum:= 0; 
pp rb , bs ra6 3  message({<check bin}); 

bi: pafchars] D 3 chars:= 0; 
ly ra . vy 16 3 typechar; select(r, w)3 

as lyn DV 3} search begin: read symbol; 

pp rb3., hv ra5 3; if parity error then alarm({<parity}); 
ca 13 . hv rat 3; if aa then goto binin form; 

a2; ne 14 , hv ra 3 
lyn ra Vv 3 if not < then goto search begin; 

pp rb3 . hv ra5 3 
ne 17 , hv ra2 3 

po 1 . hsn ra? 3 BIN O FORM: 

pp 1 ; 
vs tk 1 , hs rat 3 : 

6 tk 3 , ga rou. 3; words:= read(1), read(1); 
pp 59 , hs ray7 +3  read(59); skips bootstrap’'+ 1 char; 
pp ; for i:= words step -1 until 1 do 

bu: bt[words] t <1 3 
ps r-3  , hv vay 3; read(7); 
hv ra 3 goto check sum; 

al: 

ath: pp 1 , hs ra7 3 BININ FORM: read head symbol; 

ga rol , it 63 3 if symbol ¢ 63 then 
bs(rbh) , hv rad 3; begin 
pp 6 ; for i:= symbol step -1 until 1 do 
bt (rb4) tt «1 3 read(6)3 
ps re} hv ray 3 goto binin form; 

hv rat 3 end; 
a3: ca 66 , hv ra8 3; if symbol = end then goto check sum; 

ne 64 , ca 65 3; if symbol = repeat V symbol = label then 
pp 4 , hh rat 3 begin read(3); goto binin form end; 
pp rbd5 , hv rad 3 alarm({<tape s 3 

& a7: it p , aq (rb1) 3 procedure read(p); begin chars:= chars + p; 

a9: tl -7 . pp p-1 3 for pi= p step -1 until 1 de begin 
ly ra Vv 3 RM:= (RM shift -7) + lyn; 
pp rd3 , hv ra5 3 if parity error then alarm({<parity}); 

b2: ac [sum] D 3 sum:= sum + char; 
bs p , hv rads 3 ends 
hr s1 3 end read; 

a8: it (rb2) , pt rb6 3 CHECK SUM: saved sum:= sum; 
pp 3 .hs ra9 3 read(3)s; 
tk 4 ,ca(rb1) 3 if chars + first part 

b6h: ck 10 . ne <1 ; V saved sum £ second part then 
pp rbd5 ,hv rad ; alarm({<tape sum); 
hv ral 3 goto start; 

o   
 



  

    

[1.7.67 

ad: 

a6: 
ait: 

“ps rae 
sy 58 

sy 29 ' 
sy 64 
pm p X 

aiOh:cl 34 eck xb 

bi: 

b: 

b3: 

ale: 

ga rb7 , ca 15 

pp pi , hv rat 

ca 10 . 

sy 62 , hr s1 
sy <1 , cL 6 
hh rai0 

tcheck bin; 
tparity; 
ttape sum; 

hs 1 
hsf 2 

tbinout; 

aq 16, 
qaf al.19+a12.39 
qaf, . 

[STOP, SUM] k i check bin 

e ale 

No
e 

W
e
 

to
o 

w
e
 

Ww
e 

w
e
 

W
e
 

Ww
e 

w
e
 

v
e
 

‘e
o 

w
o
 

w
e
 

Ne
o 

W
e
 

W
e
 

w
e
 

W
o
 

w
e
 

Check bin, page 2] 

ALARM: writered; prepare return to start; 
MESSAGE: writecr; 

p points to text; 
rep: 

Raddr:= next char; 
if Raddr = 15 then get next word; 
if Raddr = end text then 
begin writeblock; return end; 
write char; 

gote rep; 

ENTRY AFTER SLIP LOADING: 

binout, 0 first ..top< 

 



pslip< 
. [4.7.67 Cattap, page 1] 

@ {STOP, CLEAR] 

b alt 3 
1=483, a6=512 3 check last in cell 512 
ali: vy 17 , sy 64 3 START: 

sy 51 , sy 49 3. writetext({<cattap}); 
sy 19 , sy 19 3 
sy 49 , sy 39 3 
ly a’ . pp (a) 3 pt= station:= typechars 

ar ly -1 »D 3 if typechar + conma then 
ne 27 i hv att 3 goto start; 
arn a ;us 0 3 butfer[1]:= {<cattaph; 
usn p64 ; arn a2 3 rewinds 
us p , iln pi60 3; writelabel; 
arn a3 , il 0 3 ‘ 
arn alt 3 if-error then 
hv a5 : NT 3 begin 

a7: sy 64 , sy 54 3 write error: 
S sy 49 , sy 20 3 writetext({<fault}); 

sy 35 . sy 19 7, goto start 
hv att 3 = ends 

a5: arn a6 ,us O 3 buffer[{i]:= EOF; 
arn a2 -us piu 3; write EOF even parity; 
iln p160 , arn a3 3 
il Oo , arn al 3 
hv att NT ; if'error then goto write error} 
hv a7 3 goto start; 

a8: teattap; 3 
at: qq a8.9+1.19+1.39 3 
a9: Gq 15.54+15-11415017415023 3 
a2: qq 1.19+1.39 3 

al: qq 3 
a3: qq ab.9+1.19+0.39 3 
a6: qq a9.9+1.19+1.39 3 

alO: hs 1 3 ENTRY AFTER SLIP LOADING: 
oo hsf 2 3 ° 

tbinouts 3 binout, O first..last< 

aq 16, 3 
qaf at1.19+a86.39 3 

aaf, 3 

{[STOP, SUM] a i cattap 
e a0 

    
 



  

  

330.6.67. Punch head bind 

bi=10,a5 

arm a3 
tk 3 
bt 3 

vy 32 
a2: pr a 

ar 256 
ar 128 
xr 

ar 128 
ah: aq 4ho 

tl «7 
gt i 
hv (al) 
bs (a2) 
hv a2 
vt (al) 
sy 6 
ly a5 
ne 1h 

a5: sy 
ne 11 
sy 11 
bt 100 

sy 
hsf 2 

al: ly 
ne 11 

qqn 
tl -6 
ly rk 
gm s3 

tl 3 

tel 

er (11) 
ted 

hv 1a 

IRC toi 

D LRA 

D LRB 

tl =10 

D 

tel 

X IZA 

Sy 

XVD NZA t-1 

tal 

sy 49 
a2 

bh i-2 

vhv int 
wy i 
shv a5 

te 
Av oYr=1 

D 
nv ret 

,ca 0 

ns rel 

M t=1 

er Yreat+2 MRC te1 

hv 34 
ho MRC t-1 gr 

a3: 272/351/ 68/ 3a 
as e€10 

PM. 

kift de fgrste 4 ord som indleses med kanal 0 
skift til venstre, 

w
e
 

w
e
 

w
e
 

w
e
 

Li
 

a 

30g velg strimmeloutput 
get ord til M 
3p Amerke 
308 Bmerke i R 

3 

gset ord slut merke 
jtel karakterer 

gneste karakter i teledel 
simul mese karakter 
shop med karaktertelling hvis flere karakterer i dette ord 
shvis flere ord 
shop til a2 

3fyld op med mellemslag til ca 435 karakterer 
3 

giles en karakter 
38kip indtil understregning 
3kopier 
sindtil stopcode 
zhul stopeode 

a 

ghul ca 100 mellemslag 
shop ud til help 

3det fglgende leses med gammel kanal 0 
38kip indtil stopcode 

3 
sprimitivt leseprogram 

te
n 

w
e
 

3
 ct
 

w
e
 

w
e
 

W
e
 

w
e
 

w
e
 

w
e
 

det fglgende kopieres til strimmel 
She “2m 
1=10 -vyn16 
t1-6,ca 
lyr4 hsr-1 
gms 3te1M 
e10 

 



  

  

  

sSlip< 
[Punch head kompud, PM 26,9.67 version 2 SET TAB | Telear oode Jj 

b b16,d,2e88 
a=1 

Alredefine 
38um code 
&3clear code ] 

3 d=dtd+d+d+a, ded+d+d+d, ded+d+d+d, d=d+d+d+d, 038=4-320 3} d=antal kanaler 

‘e
o 

We
 

baz ; 
1=10, vy 32 pp spunch boot sy 1h sy 17 3S a2: pmb yx tel sneaste ord bs (a2) tb16 ; 

el 1 ; 
al: cl36  ,tk -4 sneste char 1 RO«9 bs pol tb2 3 

at Vv ; 
bs po3 tbh 3 
ar 64 p 3Sat ordmerke gaa yel +6. 3 

as sy »ds pb5 * shul char 
Pp pb6 ,hh al 3tel char bs (a2) tn8 ; 
Pp pb10 ,hv a2 steal ord 

as: qa 6 ypt -1 3punch kompindg at: pm b&8 IRC t-4 sneste ord ar 256 D IRA 3A-meerke ar 128 D IRB 3B-merke 
xr ytl -10 3 
ar 128 p ; 
tl -7 xX IZA 3 
gtr a SY 3 
hv r-2 X NZA 3 
bs (ak) tb11 ; 
hv (a3) vb t6 ; 
it (a3) ,pa -1 ; 
am =-1 ,gt a5 schecksam og antal ads tk -7 2 SY 3 a6: gt a6 >sy ; 
tk 3 982 al 3 

al: sy 
3 

bt 100 +-1 smellemslag 
sy ghv ral 3 
wil7T ,ly x3 svent ne 51 yhsf 2 3 
w 32 ly rv sstcp ,kcpier 
sy shh r-1 3 

& 
shutfesekvens slut 

b a23, c6 skorpind som 8 bil: lyn rag y tk -7 sles checksum og antal for kompindg ly ra9_ tk -7 3 
ly raQ_ tk 4 ; gs ra21 ,ca fab15) ; 
tk 10 yne (sb12) 3 
hv ra21 ssumfejl i kompind ly ra9 sskip til < ne 17 ,hv ra] 3 

et pa a25 +51 ; 
ly rag 3 ne 62 hv ra20 shvis ikke 62 hop til lesning  



  

    

mite 

head kompud 

  

b a3 
[-2] am ra IRC t1 

ar 33 MRA +1 
hv re2 NRB 
am ral gpl 2 
gr 28 MA 
arm raz ver 9 
pm raz 

a: hh 35 x 
[34] pm 1,3 XD IZA 
[35] tl -7 ply rl 
ads 
[36] pt LZA +508 
[37] xr X IZB 
[38] hv 35 LZB 
[39] ert 44 MRC t-1 
al: arm 999 ghv 995 
a2: gq 62,16+17 23414 3741 38 
e 

e38=200,€39=240, ahe280_ 

a20: pa ral9 gpa ral3 
ad: pi yhs ra 
a8: pm ra5 ,ge raz 

ga rc6 »tk 10 
ga ra2 ytk 10 
er al X MRA 
hv ra6 LRB 

a23: bt 51 V NQB t~1 
cb: pp plac] yhv ral8 

ly rag yhv re2 
elt; nt 38 ,aq (ra2) 
al8h: pp (ra3) ,it -2 

pi j yds p39 
pp p-4o vit J 
can (ra2) yhv ralO 
tt (rekh) yvk (ra2) 

ch; 1k 238 yarn ra2 
hs rel yhv ral2 

Cc: gs ric »ps (rehk) 
[ic] bs s-851e88 +-832e88 

vk s1 yik (re3) 
pt ric t5lt 

[4c] ps shh s 

ads hsf 2 
at: hs ra NB 
alk: gr se39 MRC 

hk re yPP pl 
bs p72 ghv re2 
hs re » PP 

ahs hs rel git -1 
a2; otf [ak] yit 4o 
ce2h: = qa. (ra3) »P8 p 
a3: bt [ac] IRCt~1 
al2h: hv ra7 yee relk 
alQ: hv ra2Q NQB 

arm alt TRA 
hh read NZ 
hv ra NRA 

[2] 

ellers dan gammel kanal 0 laseprogram 

resten af blokken er konstanter 

de tre allerede laste karakterer 

sdefiner kanal buffere 

3sum og antal=0 

jles etikette 

shop ikke overspringelse 
shvis startetikette tal melleslag 
sellers tal i p og hop 

shop hvis samm kanal 

jlee et ord 
3gem et ord 

shop hvis ikke ny kanal 

3tel kanaler 

jtel celler 

 



  

    

| head kompud [3] 

lyn ral6 ytk -7 jles sum og antal 
ly ral6 , tk-7 
ly ral6 > tkh 
ne (ral9) jhv ra21 
tk 10 yca (rai3) 
hs rel ghv ral7 

a2: ps yyy 17 3fejlreaktion 
sy 29 ysy 64 
sy 1€[s] sy 20[u] 
sy 36[m] yarn 13 
gr sb13 oly r 

vy 32 yhvn sbi3 
gm s3 M t-1 

cl; pt ric IRB t-832e88 start skrivning paa kanal 
it (re3) spa rail 

cs: nt 38 30a e38+e39 
vk fren ,it 1 
is (rek) git +511 
bs 842288 28k (rc3) 

& hh s 

as pon 1,3 XD IZA sles et ord 
tl -7 yly ral6 

al6: pi IZAt-516 
al3; ac Dx 

hv ria X1IZ 
al9: xr t6 

tl 4 ghr sl 

al7Ts 

& 

bal2 jles udhopsadresse mm 

as D 3 

ne 14 yhv ra sskip til _ 
lyn ra yca 35 3A, 
vy 16 yhv ra ; 
ca 17 yhve 3s 
ca 20 ghv ra8B su 
ca 53 yghv raQ Se 

vy 17 »sy 64 gg 
sy 58 yhv ra 3 

a8: hen ralO X 3, les adresse 
hv ra 3 

alO: it raé ypt rab = sadresselesning 
als lyn ra2 yaa ra2 3 

ca yhv ral smellemslag 

ca 32 sc ral2 3- 
ca 16 yhvn ra7 jsnul 

al: ca 64 snv sr 
a2: bs t9 3 

hv ral gikke ciffer 
ay; it rad ppt ral = sciffer 

mt ral2 ygml rad 3 

t1 39 X NZ 3 
hv ral 3 

@ as: xr ,ga rall j;gem adresse 
aé: hv sl 3 

ads 10 3 
al2: qq ;        



  

head kompud [4] 

a9: hsn ralO X 3@ les adresse 
b14: vk 960 yvk 319e88 shent ferritlagerbillede 
at 1k 1000. ,it 1 

vk 293e88 ,it 4o 
1k -lo git -1 

No
e 

Wo
 

W
e
 

we
 

bt 23 hh ra 
al: am r a2 t1 IRC 3seat celle 6 til 9 

er 5 t1 MRC 3 
bt 3 t~1 3 
hv ral 3 

3 a2; vk 318e88 ,hv 6 

  

gr 960b8-bi4MRC +t-1 
bt b8-1b11t~1 
hv ra 

b16: hs 960b11-b14 

1k 960 2VvkK ; 
qa 3 
vy 17 3 

all: aq ghv (r) 3 
& 3 
& 3 
Bae 3 

b8: pa ra t1.3 F 
a: pm. 4143) XD “IZA ; 
az: tl -7 3 

ly rai 3 
al: pt LZA t-516 ; 

ac XD 3 
hv ra2 X IZ 3 
xr t6 ; 
tl 3 3 

3 

3 
3 
3 

b7: t1 10 3 
gr s5b7-b8M t~1 3 

cS hv s 3 

gm sk M t-1 3 
hv s 3 

bz bl2e2al-b7, b13=3b8-b7, 1 5<4al-b7 
b6sp-b8, b9=b6+y6+b6+b6, b2=511b7=-b, bl=eb2-b9 
b9=b9+b6+06, ble511b8-b7, b5=-512b9, b3=b5-b6, b10=-b9+1 

° 
3’ 
e 
a 

° 
3 
° 
a 

2 
e10 3SUM CODE i   
 



  

[4.7.67 Create new -> old, page 1] 
b a10, b10 
i=10 

  

vk 960 , vk O START: read track 03 
b 

3 
3 
a 

1k , vy 33 3 select(p, t); 
pa b2 t 1 ; chars:= 13 
ly D 3 typechars; 

sy 14 , sy 17 $s punch head; 
pt -1 , vk O 3 sum:= 03 

a2h: pp O , pmn pbiO ; for p:= O step 1 until 9 do 
ar 1.1 D LA 3 begin 
ar 1.2 D IB ; 

b2: qa 1 Xt 6 3 chars:= chars + 63 
ath: cl 32 , ga ri 3 R:= boot{p]; M:= marks.23 

sy -1 , it -100 ; 
bt oO , hv r2 3 punch the 6 characters; 
cl 7 , bh at 3 

pa r-2 , pp pl 5 
nen pe10 ,hh a2 3 end; 

for p:= 0 step 1 until 41 do sie adh: pp oO , pm pbi ; 
eS ar 1.1 D LA 3; begin 

ar 1.2 OD LB ‘$3 
aq (b2) t 7 3 chars:= chars + 63; 
ck 3 X 3 R:= code[{p]3 M:= mark.393 
cl 34 , ps -6 3 

az ck = , ga 7x2 3 
bs s1 , it 64 3 punch the 7 characters, 
sy -1 . ps s1 3 the last with a 64-hole; 
bs s , bv ab 3 
clin -6 _ hv a 3 

ah: pp pt 3 
I nen p42 , hh a3 end; 

  

sy 64 , it (b2) 3 punch tail mark 
pa 1 , arn «1 3 
ck 10 , g rit ; and chars, sum 

! sy -1 .ck -7 5 
ga ri , ck «7 ; 

sy -1 , ga vi 3 

sy -1 , hv 10 3 «© goto start; 

[Bootstrap program, 6 7-bit characters / word. Bits of: Curr instr; prec.] 
b10: qq 206+ 0613+ 0.20+ 0.27+ 5.344 4.39 3 hv s 25-39, length 

[bits 29-34, 36-38 is length] 
qq 266+ 4613+ 0.20+ 0.27+ 0.34+ 7.39 
ag? 28.6+ 2.13+ 0.204127 .274+63.354+11.39 
QQ 32.6+ 6.13+56.20+ 64.27+ 0.344 0.39 

[4b10] qq: 0.6 + 0.134+58.20+ 32.27+64.314+-10.39, 
[bits 15-20, 22-24 is 510 - length] 

qq 28.6+ 0.13+ 7.20+103.27+49.34+ 8.39 3 hv xx MR 19-39, 0+30 
[6610] qq 0.64 32.13+64.,20+ 58.27+56.3544+ 0.39 3 t1 12 V 25-39, 0-18 

[bits 22427, 29-31 is 513 - length] 
qqf 24.6+44.13+ 1.20+ 32.27+64.34+ 2.39 

gm s7 t-1M 25-39, O-2h 
hv s IKC 19-39, OW24 
er xx ti MPC 25-39, 0-18 
pio t -k9 31-39, 0-24 

‘e
o 

eo
 

w
e
 

w
e
 

vs (ri) IO 19-39, Ou2h 3 
aq 0.6 0.13+32.20+ 64.27+ O.34+ 0.39 ; fill , 0-18 

aq 64.20+ 0.27+ 0.344 0.39 3 fill 

b1: vk 960 , vk O code: select and write track 0; 

goto code; 
track O is read to here}; 

@ sk r1 , hv rel 

: bs e 10 Yo
o 

W
o
 

W
e
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